www.iwidin.com P

Machlne To
Holder Syste

i
4’
I

H_*.'H.\_ g




L& oiN’




INESRPNPY

sielolM of elgtt=

o

for

« O
=]

ﬁ

2

16

o

1l

Hu

T J

0%

2|Z(WIDIN : Wide + Intention) 0|2H= AlEt Z40|
Z010] EXZE XtAt] Df2h=

HA
SiA 912 BlS R AIRS HeLiCt.



Greeting

Making customer’s
dreams a reality-

The best mechanical solution

1 gL

f

=t

10884 7

0lJ
ud
ok

&)

OfL{2t SPECIAL TOOLS= &t

HH
o}

0l Z2 L==20i| &YX =L END MILLS, DRILLS, REAMERS, TAPS

(o]
A

1

ot
LS

o] =22 opIx

EN

of

N
[

1A717] 2

=N
- =

e o

AHE HE= LHERE

o)
o
_6.__._._
"
=
0
= .
Ciluy
e
od <D
KT o3
LA
R o
oo
g <t
S o
ol 80
4 RO
& Il
w1
— nu
Ol
uo 4H
0
S %
W i
= 1
w0 T
o
i
= B
L
O E._._,
T
= Ou
) L_L_
- [=
Q w
W =
ol =
ol <
ol
=<

M 1y
=]

Mo
- 10
__O\_ _A_.:
H Ho

7t HALS] kY Rt E7 RO 710

o
T

t

<)

[l

5

President and CEO Dong Hyun Kwo




=
@)
)
B
-

Ho
RO

flarall
[ife)

3|A}

=
=

B AMEE(

198807
1999 07
200104

o
=

HEL)

S

)

K

HHES — (

200107 1SO 9001 QIE &=

110

K

)

(C

S

__O._
<0

H:

3

)

2

240t S 2(H|0277126

Al
=

2002.05

200405 AlZ4:9 S5([0350651)

200411 H|34g| HLUI|=

0|A}
200502 ARSHAFRA JHM(E2AH

ic
ar

200411 cf

tol)

)

2005.04
200505 FEF

)

b AR | K| (K|2005-165

Ml

)

=

(W|2005-28

4

<0

X

4

ol

N

Kio

0F
iU
<+

200507
2005.10

)

R

(INNO-BIZ) &l(E=A7|

o
=]

27

= |

NE

200511 7|&

2006.11

—_

+
wl

T

100

0
&

2006.11

200705 Cf

C
[

{T)

o

=
2

(

IS —

S

)

(=

10

g

__O._
<0

H:

3

2007 .07

-

&
@

T

3002t

_x_.____
<

200811

2

201005 2010 =

—_

&

Wl
Th

500gt

ZE2H 247
201206 =A} 27 0|™

i
&

201111

e

l

o
=]

201201




Machine Tool Holder

TOOLING SYSTEM

SHRINK FIT CHUCK




d&Qoin

MILLING CHUCK TAPPING CHUCK

TAP COLLET FACE MILL ARBOR

MODULAR BORING SYSTEM




Machine Tool Holder

TOOLING SYSTEM

HSK-JHM

Modula AIA% OFEEQt =8
50 O2{7tX| BLE AIRE 4
QgUch

HSK SPINDLE

HSK-BASIC HOLDER

—fe}

‘ | BABY CHUCI }E ﬂ%

ER COLLET

@ =3
JSK COLLET ﬂ

FMA
FMB
FMC

=i

T

EMH




MTA

MTB

NPU

JTA

TC

TSA

SCA

BSB

BCA

MBF

BT

NT

MT

MT

d&Qoin

LARGE SIZE
BASIC HOLDER

KERESS DRILL CHUCK

——

==

CHAMFER
HEAD

EXTENSION

&l ]

REDUCER

el

B ——
B ——

P S——
ER COLLET
Bt

O e~
MT SLEEVE — #Eﬂ"&%

FINISHING HEAD

et

ROUGHING HEAD

MS-RH-BCA
RING HEAD
RH ADAPTER

ADAPTER
LARGE SIZE
ROUGHING HEAD

=]

LARGE SIZE
FINISHING HEAD

—)

q

EHHW
= ]
=N

:
]




Products

INDEX

\ HYDRAULIC CHUCK 18
%, REDUCTION SLEEVE 30
X SHRINK FIT CHUCK 32
ﬁ MILLING CHUCK 45
DOUBLE BEARING .
MILLING CHUCK
MILLING CHUCK -
COLLET
\? " | QUICK CHANGE -
4 ' ARBOR
ol
ER COLLET CHUCK 62

ER COLLET & "

" | ACCESSORIES
\ JSK COLLET CHUCK 74
——Hf | USKCOLLET & 5

|| ACCESSORIES
“ DRILL CHUCK 80
\ JACOBS TAPER ARBOR | 82
_ MORES TAPER "

ADAPTOR

\ END MILL HOLDER 86
SIDECUTTERARBOR | 90

10




QoI

FACE MILL ARBOR 91 DRILL TAPER CHUCK 128

SHELL MILL ARBOR 97 TOOL SETTING STAND 132

TAPPING CHUCK 100 BASE MASTER BOLT 134
vy

TAP COLLET 102 i i :. PULL STUD BOLT 135

T o1

OIL HOLE HOLDER 104 v ANGLE HEAD 136
-

MICRO BORING BAR 107 m\ SPINDLE SPEEDER 138

BORING HEAD 115

BASIC HOLDER 123

ok

Wb i



HYDRAULIC

EXPANSION CHUCK

SYSTEM

7|Ee| UHHo|LF AXE ZANSE 1 TF YA ATHH4E 0[E510]
A GIELE HES S2{A EO= 7|AXQl WO |UX|ZE o] HH2 DHE
£ SXA[ok=dl etA7t A=Hlof 2Hoto] GAtel KUME A LI Qx|
0f Qle RL0| S2IHE WA L FEl0| BAZTE ot Zo=A
CHUCKINGO| +l=2#0tL2t Holt H=E KtefLct

S AR|Sol £2I5t Sz 14 7120| 7FssH (21225, 000RPM)
3~5/1000um2| HES BHsHe 87/%01 gAlRILICH

Existing Milling chuck and spring collet chuck have banausic
clamping method such as clamping by a nut or chuck head, but
there is limit to keep high precision.

However, hydraulic chuck have special clamping method by
removing and expansion the sleeve which were brazed on inside
of chuck. This method completely clamping a cutting tool on all
around inner bore face of chuck and keep high precision and proper

for high speed machining as well.

L
92




HYDRAULIC EXPANSION CHUCK

BASIC PLAN

X371 | Application

A=Y HLNED, 2l & nHYES| 27
Fine finishing, High speed & high accuracy machining, Reaming, Drilling, etc.

10mm [max)

2Ysel 2E

5um. O|LHe| IHEE | T.IR accuracy

RS SHTI} 5mO|L| 0|92 XRIA| JHBAS FOFED 31O 43S A

Below 0.005mm at 2.5xD / This high accuracy extend tool life including improving
machining condition

2.5xD1

CHISH LIZ AfO|=2] D/OD COLLETE At8E 4= RIS,

ID(Inner bore) size can reducible with reduction sleeve Using Reduction Sleeve D12 / D20
/D32 /0D12/0D20/0D32

T-wrench stz g7 375 weket

Easy Clamping and Un clamping by T-Wrench Clamping / Un clamping.

It is able to tool change after assembling the chuck into the spindle of Machine.

AL HEAl | Coolant System

A3 U - 22 HAR AIE0| 7Hs'. DING9871 AD+B type
Center through coolant system(AD) + Flange through coolant system(B)

147120 Zgt | Good for High Speed Machining

28 25,000rpm7ix| HigtAT) &6iX|H, D47RSs610i M 1EE0] AYat

Even under high speed, it works very fast without vibration and makes sure of fine
process and safety with fine balance up to G2.5 at 25,000rpm

13




HYDRAULIC

EXPANSION CHUCK

eExample applications for hydraulic
expansion chuck in standard version

o RYUH ALZ Of|A|

o ZHUES XAUSHE KUChuCkS HYARA Zof HBtetLct,

o Z2U7|A0f M CBN Tools, Solid Carbide Tools, Poly
crystal Tools, Diamond Tools§ 11718 37& a8XC=2
Argott thg =9 Aol MLt

PRECISION

eDue to the absolute precision of 3microns run out accuracy
o JEIL hydraulic expension chucks are excellently suitable

for precision machining with CBN, Solid carbide and

polycrystal-diamond tools.

2~

- RUHO| HABT ChuckingAloll g6~@320] AT M3 £3
A h6 210 SO{RE BABTE AIS

L SN 712, §20, B32% ABAGKS D or OD ColletS 0lE3iof
CIofEt AOI X0 BABTE AIBY 4 US.

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

S @3-6 76.1-10 #10.1 - 14 @14.1-18 ?18.1 - 24 @241 - 30 @30.1 - 40
h6  0-8um  0-9%um  0-1tum  0-11um 0-13um 0-13um 0- 16um

7| EHe YA ARET| BASTERY 7IE3AIYUCH
« The above chart is standard tolerance tool shank for hydraulic chuck application.

Qo



40

2U=9| 7§ | Feature of Hydraulic chuck

71Ee YFAMolLL AZY SUNSE 1 &z YA0| A4S 0/85H04
HGEL HES S2iM &as 7AAel UHo[X|et o] YHe 18x
£ SXlet=dl el A=dlof Bt ZAS] KA A LR 521
0 Q= 70| 2222 WA W MH| HAZTE T0F 224
CHUCKINGO| #2202t FHot H=S RpgfLct, Lot %"ﬂ%@ %
ot FEl= 047+30| 7FsotH(E| 1 25,000RPM) 3~5/1000um] &

£ BEohs &71X01 gAlL

1)

RYHC| QYA RYAIZ BOLTE E7IX
ohA

BAET MMl 8
o
d

VHAIBT AQIAl CHUCK Lzt

Z|1o| T.|.R(SHE) 2%
-2.5 x D1 O|LHOfM Collet AHEAl 5/1000um(max), =H
ChuckingAl 3/1000um(max) =&

~TARIA| TS YR E HIEEY, BAZTO| 2TNET BH20)
HUE, K2 HAA7|D 70| HEiC ABT| 22 Juold
YA 2B S

Q| M2

~SAIS| RS AHUM Y FUAAHLI, BA HelA| Myl= =
AR9t BEB0IN L= S0 0120l H LR FEE TH5 A
2 zlAS50] Ho| A4S AHHOZ TA H 430 ST A4
BIS H23t st

(BOLTE E7IX| MZAl BOLT/t H
7t Z7IR] HZAl] &Eo| TixS
Lz sicio)
o) 2Solshl g 28 Al ol
Coller DJAZAl0= CHUCK LI
%I ORAIALR (8mmOIA T9] AIZA| CHUCKLHé
HART0) Qe
HI7{510) ZAIAI (GUFIA 0|2 22 15101 KIRIA
ag L)

S| AN, 712 Zo|=
ollet2 AMEotA|L
OlM 8mmolA ©
gL

ival

o0

TTES
[PNa=R =}
—|E

r\r
o N
=
~
ru&" i

S01=/0f Q= AIR HOLE BOLTE EX| ORAIR
2297} 2A1El0] AB0| 27155 ELIC)
EA TOOLE AIBSIR] DHIAIR
CHUCKe! BOLT T20lLf R2 51501 slxl 2= & /S 8w
Al QJol2 8 T OIS MRS DI R0 S2tstel F4

A2 (919) £4I8 CHUCKE A/S7} 23181LIT )

Existing Milling chuck and spring collet chuck have banausic clamping
method such as clamping by a nut or chuck head, but there is limit to keep
high precision.

However, hydraulic chuck have special clamping method by removing and
expansion the sleeve which were brazed on inside of chuck. This method
completely clamping a cutting tool on all around inner bore face of chuck and
keep high precision and proper for high speed machining as well.

4) BA71Z0| H/x4E
~ouRlE 22 Kl Gl

5) Collet AFB22 #xld 57t
—XbH 28Y DFHEO| ColletS Hets
Colletg rgao# B SIS
guct,

1) Please fully clamping the clamping screw by T-Wrench (The
clamping screw will be stopped, if it was fully clamped by human
power)

2) Please fully insert a cutting tool into the chuck. At the least, tool
shank edge to be arrived at 8mm from end of inner bore depth.

3) Please eliminate a dust or tiny chip or humidity on the tool shank
and inner bore face of the chuck.

4) Please do not pull out the Clamping Screw and Qil Sealing from the
chuck.

6) Please do not using hydraulic chuck for rough cutting.

7) Please do not disposal it by oneself when come out operating
problem such as broken the chuck or clamping & unclamping
problem etc. (If you have some problem for the hydraulic chuck,

please contact us at first)

15



HYDRAULIC CHUCK

TORQUE No Sleeves
(Hydraulic chucks)

450
400
350
TEST PIN 300
, ,/ T 250
=
_ _ - g 200
g
== 2 150
100
50
6 8 10 12 14 16 18 20 25 32 @
Clamping @ (mm)
% This is torque(Nm) when clamped % This is torque(Nm) of Hydraulic
tools with straight cylindrical shanks chucks with direct clamping @ 6-32mm
32mm dia. Chuck with Sleeves 20mm dia. Chuck with Sleeves
120
350
300 100
250 80
E E
= 200 S
3 3 60
> >
= 150 g
= P40
100
50 20
0 0
6 8 10 12 14 16 18 20 25O 3 4 5 6 8 10 12 14 16 O
Clamping @ (mm) Clamping @ (mm)
% This is torque(Nm) of Hydraulic % This is torque(Nm) of Hydraulic
chucks clamping @ 32mm with HK collet chucks clamping @ 20mm with HK collet

o 16



R-P-M / BALANCE

TEMPERATURE

80C Max

40°C
safety
operating
temperature

20°c

10°C  Min

&

(G2.5/15000rpm
Fine Balanced (G2.5/20000rpm
(G2.5/25000rpm
(G6.3/12000rpm
Standard Balanced 66.3/15000rpm

Operating Temperature

Generally, the normal operating temperature

of hydraulic chuck is between 20°C and 40°C

When operating temperature isn't the normal range,
pls ask technical information.

17



MONHI NOISNVdX3
JMNVHAAH

HYD RAU LI C C H U C K _Short & Heavy Design

»

MAS403 BT-WHM(P type)
CODE NO.

BT30 | WHM20P-85 14 85
BT40  WHM20P725 | 20 T R 7 S e o | Mexio
BT50 | WHM32P-90 2 60 72 %0 65 55 M6 X 1.0

T
Lo
D2

. D3
D4

DING9871 SK-WHMI(P type)

CODE NO.
SK40 | WHM20P-64.5 20 40 49.5 64.5 52.5 42.5 10 M8 X 1.0
SK50 | WHM32P-81 32 60 72 81 65 55 M16 X 1.0

T
D1
D2
D3

BT-WHM -
CODE NO.
WHMG6-70 6 25 28 M5 X 0.8
WHMB8-70 8 27 30 70 375 275 28 M6 X 1.0
WHM10-75 10 29 32 75 425 325 38
} 36
BT30 WHM12-75 12 31 34 45 475 375 10 M6 X 1.0
WHM14-85 14 33 36 85 44
WHM16-90 16 35 38 18
WHM18-30 18 38 41 90 52.5 42.5 M8 X 1.0
WHM?20-90 20 40 43 - -
- FYUE0| HAZT ChuckingAlo] @6~@322] HAZT M3= & « Tolerance of cutting tool shank should be configured within h6
SAHh6 2Hfl E0{2E= HASTE AE. + ID(Inner bore) size can reducible by using reduction sleeve
c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04 D12/D20/D32/0D12/0D20/0D32
CHUSH AO|=O HAISTE A Y & US. + Balancing Grade : BT30, BT40, SK40 - G2.5/20,000rpm

BT50, SK50 - G 2.5/ 15,000rpm

o 18



HYDRAULIC EXPANSION CHUCK

JNMNVHAAH

5 L2 max
G v L2 min
G % \

MINHO NOISNVdX3

MAS403 BT-WHM

CODE NO. [1 |L2max | L2min | V |

WHMG6-65 65 23
WHMG6-90 6 25 28 90 a1 M5 X 0.8
WHM6-140 140
WHMB8-65 65 375 275 23
WHMB8-90 8 27 30 90 39 M6 X 1.0
WHMB8-140 140 44
WHM10-65 65 23
WHM10-90 10 29 32 90 42,5 325 a1
WHM10-140 140
WHM12-65 65 23
WHM12-90 12 31 34 90 a1 M6 X 1.0
WHM12-140 140 .
WHM14-65 50 65 475 37.5 2 Fig1
WHM14-90 14 33 36 90

BT40 WHM14-140 140 10 i
WHM16-65 65 23
WHM16-90 16 35 38 90 48
WHM16-140 140
WHM18-75 75 30
WHM18-90 18 38 41 90 525 | 425 18 M8 X 1.0
WHM18-140 140
WHMZ20-75 75 30
WHM20-90 20 40 43 90 48
WHMZ20-140 140
WHM25-100 100 73
WHM25-135 25 53 5 135 61 1 108 .

- M16 X 1.0 | Fig2
WHM32-105 32 58 63 105 65 55 -
WHM32-135 135 -
Taper: AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B
- FYUE0| HAZT ChuckingAlo] @6~@322] HAZT M3= & « Tolerance of cutting tool shank should be configured within h6
SAHh6 2Hfl E0{2E= HASTE AE. + ID(Inner bore) size can reducible by using reduction sleeve

c RYUE @12, 020, @328 AZAloll= D or OD Colletg 0185104 D12/D20/D32/0D12/0D20/0D32

Cofet Mo|Zo| HANBTE AIBE 4 US.

19  www.iwidin.com



HYDRAULIC EXPANSION CHUCK

Lamax
v Lamin

JMNVHAAH

AINHI NOISNVdX3

Figl Fig2

MAS403 BT-WHM

CODE NO. [2max | L2min

WHMG6-90 90 32
WHMG6-120 6 25 28 120 a1 M5X0.8
WHMG6-140 140
WHM8-90 90 3751 275 32
WHM8-120 8 27 30 120 40 M6 X 1.0
WHMB8-140 140 44
WHM10-90 90 32
WHM10-120 10 29 32 120 425 | 325 a1
WHM10-140 140
WHM12-90 90 32
WHM12-120 12 31 34 120 a1 ME X 1.0
WHM12-140 140 :
WHM14-90 50 90 475 37.5 3 Fig1
WHM14-120 14 33 36 120

BTS0 WHM14-140 140 10 i
WHM16-90 90 32
WHM16-120 16 35 38 120 48
WHM16-140 140
WHM18-90 90 32
WHM18-120 18 38 41 120 525 | 425 18 M8 X 1.0
WHM18-140 140
WHMZ20-90 90 32
WHM20-120 20 40 43 120 48
WHM20-140 140
WHM25-105 105 67
WHM25-150 25 53 5 i 150 o1 o 112 MI6X1.0 | Fig2
WHM32-115 3 59 63 15 65 55 77 ’
WHM32-150 150 112

Taper:AT3 | T.I.LR=5:/25xD | Bal/rpm:G2.5/15000 | Coolant: AD, AD/B
« YA HAST ChuckingAlol @g6~@329 HAEZT 43= & + Tolerance of cutting tool shank should be configured within h6
SAFh6 2l S0i2= HAITE A8 + ID(Inner bore) size can reducible by using reduction sleeve

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04 D12/D20/D32/0D12/0D20/0D32

=
255t A0 R S| HABTE AIRE 4 US.

o

Qo 20



HYDRAULIC EXPANSION CHUCK

m

X=

T o

>3

u C%ZD
2 SE

c 1 >

1 £

c

dj»\l 5 o o
—— =

L2min

L2max

Figl

DING9871 SK-WHM

CODE NO. [2max | L2min

WHM6-65 65 23

WHM6-80.5 6 25 | 28 805 4 MBX08

WHMB-110 110

WHMB8-65 5 | o0 | 270 23

WHM8-80.5 8 27 30 805 | MEX10

WHMB-110 110

WHM10-65 65 23

WHM10-805 | 10 | 29 @ 32 805 | 425 | 325 2

WHM10-110 110

WHM12-65 65 23

WHM12-805 | 12 | 31 | 34 805 | MBX10

WHM12-110 10 .
o WHM14-75 50 75 475 375 0 30 Fig1

WHM14-805 | 14 | 33 36 805 2

WHM14-110 110

WHM16-75 75 30

WHM16805 | 16 | 35 | 38 80.5 48

WHM16-110 10

WHM18-75 75 %0

WHM18805 | 18 | 38 | 41 805 | 525 | 425 M8 X 1.0

WHM18-135 135 48

WHM20-75 75 30

WHM20805 | 20 | 40 | 43 80.5 48

WHM20-110 10

WHM25-805 | 25 | 53 | 57 | 66 610 | 510 26 .

WHM32-805 | 32 | 60 | 63 80 0%  g50 | 580 26 | MI6X1.0 | Fig2

Taper:AT3 | T.I.LR=5:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

NOTE
« YA HAST ChuckingAlol @g6~@329 HAEZT 43= & + Tolerance of cutting tool shank should be configured within h6
SAFh6 2l S0i2= HAITE A8 + ID(Inner bore) size can reducible by using reduction sleeve

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04 D12/D20/D32/0D12/0D20/0D32

=
255t A0 R S| HABTE AIRE 4 US.

o

21



HYDRAULIC EXPANSION CHUCK

L3 max

JMNVHAAH

D2
D3

AINHI NOISNVdX3

V |_L2min L3
& L2 max L1

Fig1 Fig2

[2max | L2min

WHM8-90 90 m
WHMB-140 i 140 o e 4 | MoX08
WHM8-90 s | 2 | 3 90 : : TR
WHM8-140 140 4 .
WHM10-90 90 i
WHMionao | 10 8 32 a0 | 425 325 i
WHM12-90 90 4
WHMi2140 | 2 3T 3 L o MBX10
IVHiM14-90 4 3 3% 50 2 | | “ Fig1
WHM14-140 140 44 g
WHM16-90 90 18

S0 Wm0 | 18 % 38 140 10 g
WHM18-90 90 18

18 | 38 | 41

WHM18-140 140 48

WHM?20-80.5 805 525 | 425 m M8 X 1.0
WHM20-90 90 18

WHMzo-10 | 0 0 4 10 e

WHM20-140 140 18

WHM25-105 105 859

WHVze a0 | 25 83 87 g B0 510 1209 MIBX1.0 o,
WHM32-115 115 959

WhMao1a0 | 32 88 | 63 a0 850 | 550 oog | MIBX10

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm:G2.5/15000 | Coolant: AD, AD/B

NOTE

« YA HAST ChuckingAlol @g6~@329 HAEZT 43= & + Tolerance of cutting tool shank should be configured within h6
SAFh6 2l S0i2= HAITE A8 + ID(Inner bore) size can reducible by using reduction sleeve

- RUX @12, G20, @328 AEAlol= D or OD Colletg 0I&st0d D12/D20/D32/0D12/0D20/0D32

=
255t A0 R S| HABTE AIRE 4 US.

o

Qo 2



HYDRAULIC EXPANSION CHUCK

[2max | LZmin

WHMB-70 6 | 25 | 28

Hskagn | WHMB-70 8 | 27 | 30 701315 275 28 %0 \sxos
WHM10-75 | 10 | 29 | 32 75 | 425 325 34 | 55
WHM12-85 | 12 | 31 | 34 80 | 475 | 375 65 | MBX1.0
WHMB-70 6 | 25 | 28 M5X08 | Figl
WHMET0 R 70 | 375 275 28 | 44
WHM10-80 = 10 |« 29 32 | 40 | 75 | 425 325 34 | 54
WHM12-85 | 12 | 31 @ 34

HSKBOA i o 14 | 33 ap 85 | 475 375 ZRN - T
WHM16-90 | 16 | 35 | 38 | 60 30 Fig2
WHM18-90 | 18 | 38 | 41 90 | 525 425 64 o
WHM20-90 20 | 40 | 42 g
WHMB-70 6 | 25 | 28 M5 X 0.8
WHM8-70 8 | 27 | 30 70| 3751275 245 uex10
WHM10-80 | 10 | 29 @ 32 80 | 425 | 325 35 | 54
WHM12:85 | 12 | 31 | 34 MBX10 |

g WHMIEES 143w 50 | 85 | 475 | 375 10 | 40 | 59 Fig!
WHM16-90 | 16 | 35 | 38 46
WHM18:90 | 18 | 38 | 41 90 | 525 | 425 47 | B4 | MBX10
WHM20-90 20 | 40 | 43 48
WHMZ25-120 | 25 | 53 | 57 | 63 | 120 | 61 | 51 59 | 94 .
WHM32-125 32 | 58 63 | 75 | 125 | 65 | 55 63 | gg  MI6X10 | FigZ
WHM6-75 6 25 28 M5 X 0.8
WHMETE s o 3 54 75 35 275 2% | 46
mmggg 12 g? gi 90 | 425 | 325 2 81 e

95 | 475 | 375 47 | 66

Hskioon | WHM1485 | 14 | 83 36 | o
WHM16-100 | 16 | 35 | 38 100 &3 | 7 g
WHM18-100 | 18 | 38 | 41 525 | 425 M8 X 1.0
WHM20-105 20 | 40 | 43 105 59 | 76
WHM25-110 | 25 | §3 | &7 | 63 | .| 61 | I 6 | g | MBXIO
WHM32-110 | 32 | 58 | 63 | 75 65 | 55 M8 X 1.0

Taper: AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD

« FAO| ZAST ChuckingAlof @6~@329] BAST &=3= =

SAFh6 et 0=

ru =
BEASTE A

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04

o

=
255t AJOIZ 2 HABTE Af

Sk
o=

A
o

=2
=

« Tolerance of cutting tool shank should be configured within h6

« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32
« Balancing Grade : HSK40, 50, 63 - G2.5/20,000rpm

HSK100 - G2.5/15,000rpm

23

MINHO NOISNVdX3
JNMNVHAAH



AONHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

DIN69893 HSK/A-WHM

D4

CODE NO.
WHMB6-150
WHMG6-200
WHMB8-150
WHM8-200
WHM10-150
WHM10-200
WHM12-150
12 31 34
HSKB3A WHM12-200 50
WHM14-150 14 33 36
WHM14-200
WHM16-150
WHM16-200
WHM18-150
WHM18-200
WHMZ20-150
\WHM20-200

10 29 32

16 35 38

18 38 41

20 40 43

| [2max | [2min |

150 103 124 M5 X 0.8
200 103 174
375 | 275

150 104 124 ME X 1.0
200 104 174 ]
150 104 124

200 425 | 325 104 174

150 105 124 M6 X 1.0
200 475 | 375 10 105 174

150 ’ ’ 105 124

200 105 174

150 106 124

200 106 174

150 52.5 e 107 122 M8 X 1.0
200 ’ 107 174

150 108 124

200 52.5 108 172 M8 X 1.0

Taper:AT3 | T.I.R=5:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD

NOTE

« FHO| HAST ChuckingAloll @6~ @322] BAST 3= &
S h6 Qo S0{RE HAIZTE A,

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04

=
255t A0 R S| HABTE AIRE 4 US.

o

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

o 24



HYDRAULIC EXPANSION CHUCK

>

DIN69893 HSK/C-WHM

CODE NO. | 12max | L[2min |

WHMB-60 6 25 28 35 | M5X08
Hskaoc | WHMB-60 8 27 30 60 375 275 B \eyio

WHM10-65 10 29 32 65 425 325 41 '

WHM12-70 12 31 34 70 475 375 47 | MBX1.0

WHMB-60 6 25 28 30 | M5X08

WHM8-60 8 27 30 60 375 275 0 30 | MBX1.0

WHM10-65 10 29 32 65 425 325 35

WHM12-75 12 31 34 44 | MBX1.0
HSKSOC " \hm14-75 14 33 36 & 475 375 46

WHM16-80 16 35 38 51

WHM18-80 18 38 41 80 525 425 51 M8 X 1.0

WHM20-80 20 40 43 52

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm:G2.5/20000 | Coolant: AD

NOTE
« YA HAST ChuckingAlol @g6~@329 HAEZT 43= & + Tolerance of cutting tool shank should be configured within h6
SAFh6 2l S0i2= HAITE A8 + ID(Inner bore) size can reducible by using reduction sleeve

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04 D12/D20/D32/0D12/0D20/0D32

=
255t A0 R S| HABTE AIRE 4 US.

o

25

MINHO NOISNVdX3
JNMNVHAAH



AONHI NOISNVdX3
JMNVHAAH

HYDRAULIC EXPANSION CHUCK

DIN69893 HSK/E-WHM

L1

L4

|
QB L3
30° G

D4

CODE NO. | [2max | [2min |V

WHMB-75 6 25 28 75 55

HSKAOE WHM8-70 8 27 30 3 70 3751275 28 50 M5X0.8
WHM10-75 10 29 32 75 425 | 325 34 55
WHM12-85 12 31 34 85 475 | 375 - 65 M6 X 1.0
WHMGB-70 6 25 28 M5X0.8
WHM8-70 8 27 30 0.0 70 375 | 275 10 28 i M6 X 1.0

HSK50E WHM10-80 10 29 32 ’ 80 425 | 325 34 54
WHM12-85 12 31 34 85 475 | 375 44 59 ME X 1.0
WHM16-90 16 35 38 60 90 525 | 425 30 64 )
WHM?20-30 20 40 42 - ’ ’ -

Taper: AT3 | T.I.LR=5:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD

NOTE

« FHO| HAST ChuckingAloll @6~ @322] BAST 3= &
S h6 Qo S0{RE HAIZTE A,

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04

=
255t A0 R S| HABTE AIRE 4 US.

o

« Tolerance of cutting tool shank should be configured within h6
« ID(Inner bore) size can reducible by using reduction sleeve
D12/D20/D32/0D12/0D20/0D32

o %



Tool Lenght Adjustable

Design by

ST =T

Gear

=~

* Unclamping = AIR2=2 20| 2E= AM&SHA| Setting

+ Using Special Gear to too

| Length Adjusting

« Easy Tool length adjusting by gear after assembling the chuck into the spindle of Machine

T—Wrench &tLtZ &A|

Easy Clamping and
Unclamping by T-Wrench
Clamping/ Un clamping It

is able to tool change after
assembling the chuck into the
spindle of Machine

AT MY =
T-WrenchZ €A &
0| ==0| 7ts¢et. (Max.
10mm)

Easy Tool length adjusting

up to 10mm by gear after
assembling the chuck into the
spindle of Machine

DE7150] At
Good for High Speed
Machining

FUNE 25 25, 000RPM7t
A| HigtAT AEAIH | D47k
Stofl AN T =of Zidat oby Y

= SERLC

Even under high speed, it works
very fast without vibration and
makes sure of fine process and
safety with fine balance up to
(2.5 at 25,000rpm

5um, O|LH D™ /

T.IR accuracy

LU SHE S0l 02
2 XA Jk3Ng E0iRD B
ol 28 Y3

Below 0.005mm at 2.5XD This
high accuracy extend tool life
including improving mechining
codition.

CHfSt LHZ At0|=2| D
COLLETE At8E = US
ID(Inner bore) size can
reducible with reduction
sleeve

Using Reduction sleeve

D12/D20/D32/0D12/0D20/
0D32

HAR A
Coolant System
H3 W 2F2 BAR ARO[ 7+

=

=2

DING9871 AD+B type

Center through coolant
system(AD) + Flange
through coolant system(B)
= AD/B coolant system

<
=7

27

MINHI NOISNVdX3
JIMNVHAAH




AONHI NOISNVdX3
JMNVHAAH

HYD RAU I_I C EXPAN S I O N CH U CK _Tool Length Adjustable Design by Gear

MAS403 BT-WHM(G type)

CODE NO.
BT40 | WHMZ20G-30

20 40 43 50 90

525

425

mm

BT50 | WHMZ20G-30

20 40 43 50 85

52.5

42.5

Taper:AT3 | T.I.R=5:/2.5xD | Bal/rpm:G2.5/20000 | Coolant: AD, AD/B

L1

L3

DING9871 SK-WHMI(G type)

CODE NO.

=1 —=
J e ——

ESEN
A

D

D2
D3
D4

L2 min

L2 max

| [2max | L2min | V

mm

SK40 | WHMZ20G-85

52.5

42.5

10

50

SK50 | WHM20G-85

52.5

425

10

32

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B

« FAO| ZAST ChuckingAlof @6~@329] BAST &=3= =

=2=oT=

S

« Tolerance of cutting tool shank should be configured within h6

SAFh6 2Hll S0 HASHE A + ID(Inner bore) size can reducible by using reduction sleeve

c KU 12, 320, 332 MEAl= D or OD Colletg 0/&5t04

255t A0 R S| HABTE AIRE 4 US.

=

=]
o

o

D12/D20/D32/0D12/0D20/0D32

&yow 28



HYD RAU I_I C EXPAN S I O N CH U CK _Tool Length Adjustable Design by Gear

L3

MINHO NOISNVdX3
JNMNVHAAH

.,

Gy

DIN69893 HSK/A-WHM(G Type)

mm

CODE NO. L1 | [2max | L2min |
Hskeaa | WHM12G-95 12 31 34 95 475 | 375 42 69
WHM20G-100 | 20 40 43 c0g 100 | 525 | 425 50 74
WHM126-105 | 12 31 34 ' 105 | 475 | 375 10 42 76
HSK100A WHM20G-110 | 20 40 43 110 | 525 | 425 50 81
WHM32G-120 | 32 60 63 750 | 120 65 55 61 91

Taper:AT3 | T.I.R=5:/25xD | Bal/rpm:G2.5/20000 | Coolant: AD

NOTE
- FYUF| HAZT ChuckingAlo @6~@322] HAZF M3= & + Tolerance of cutting tool shank should be configured within hé
SAEh6 2Hofl S0{eE= HAZTE AL, « ID(Inner bore) size can reducible by using reduction sleeve
cFYUA @12, @20, 232 AEAlol= D or OD Colletg 01830 D12/D20/D32/0D12/0D20/0D32
CIfet ALO| =9 HAZHE AIEE £ US. + Balancing Grade : HSK40, 50, 63 - G2.5/20,000rpm

HSK100 - G 2.5/15,000rpm

29



JIA3F1S NOILONATY

HYDRAULIC EXPANSION CHUCK COLLET _seducaion Sesve(i oy

0D-Coolant Waterproof Design

0-Ring

[4]o]

L1

0d
?D1

L2

mm

CODE NO.

3 3
4 4

0D12 5 5 12 21 45 2
6 6
8 8
3 3
4 4
5 5
6 6

0D20 3 8 20 29 50.5 2
10 10
12 12
16 16
6 6
8 8
10 10

0D32 12 12 32 39 60.5 3
16 16
20 20
25 25

T.I.R =5:/2.5xD
E x| Peature

+ YA & OD COLLET= WA gof w2t 6520 28
2 20 o EASTO| ShankE 127 Chucking df
FH, 1YL (SH)RXIE 2loted UE gol Js xg
AAZOR H2otn YO HAMR AMEA BAR S8
100% AfES T8lst Qu&LC

« ID(Inner bore) size can reducible by using reduction sleeve

0D12/0D20/0D32

+ 0D type is 100% coolant waterproof

« There is a little bit tighten when insert the reduction sleeve into the
chuck due to high precision tolerance of reduction sleeve and chuck.

« Please insert the reduction sleeve into the chuck after insert a cutting

tool into the reduction sleeve.

@lpm 30



HYDRAULIC EXPANSION CHUCK COLLET -Reduction sieeve

(] 1
o _ ﬂ}%,i,i, - [=) 8
S S S
| B
1
L1 ‘ L2
[

D-Standard Reduction Sleeve

mm
CODE NO.

3 3
4 4

D12 5 5 12 16 44.5 2
6 6
8 8
3 3
4 4
5 5
6 6

D20 8 8 20 24 50.5 2
10 10
12 12
14 14
16 16
6 6
8 8
10 10
12 12

D32 14 14 32 36 60.5 3
16 16
18 18
20 20
25 25

T.I.LR=5:/2.5xD

E3 Peature

- 72U Z D COLLETE 3529 222 =oU0| HAGF « ID(Inner bore) size can reducible by using reduction sleeve
9] Shank& 27| Chucking a5, U= RXIE 0D12/0D20/0D32
st LG @of Rla SXE HLUSH ChuckingAloll 01EE - There is a little bit tighten when insert the reduction sleeve into the
FolstAlR. chuck due to high precision tolerance of reduction sleeve and chuck.
COLLETOl HASFE dlet 20il Chuckoll &kl =4 * Please insert the reduction sleeve into the chuck after insert a cutting
AlQ, HEN| HUERIZ Qo FEEX| 22 4~ AL & tool into the reduction sleeve.

10 HEELCE

31 www.iwidin.com

IA3F71S NOILINAIY




SHRINK FIT CHUCK
SHRINK FIT EXTENSION
SLEEVE

r> 0\I

8t Clamping
of 7 ulH

IKBe| M

t2q
=
|5}
=
—t
=

I:l

- Strong Torque Power
- Quickly and Easy Tool change
- Excellent for High Speed Machining [




SHRINK FIT CHUCK _pesigned 3" siope

BT30

K1

MAS403 BT-SHR

CODE NO.

SHR3-80 14.8 3 9 9

SHR4-80 15.8 4 10 12

SHR5-80 16.8 5 1 15

SHRG6-80 17.8 6 12

SHR8-80 19.8 8 14 25 80
BT30 SHR10-80 21.8 10 16 32

SHR12-80 23.8 12 18 38

SHR14-80 25.8 14 20 0

SHR16-90 27.8 16 22

SHR18-90 29.8 18 24 42 90

SHR20-90 31.8 20 26 44

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

~—§¢*%?SHANK@‘ 03-6 ‘ 76.1-10 ‘ 010.1-14 ‘ 014.1-18 ‘ 018.1-24 ‘ #24.1-30 ‘ 30.1-40

h6 0-8um 0-Sum 0-11um 0-1Tum 0-13um 0-13um 0-16um

33  www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIHHS

SHRINK FIT CHUCK _pesigned 3" siope

BT40

MAS403 BT-SHR

CODE NO.
SHR3-90 17 3 9 9
SHR4-90 18 4 10 12
SHR5-90 19 5 1 15
SHRG6-90 20 6 12 25
SHR8-90 22 8 14 90
SHR10-90 24 10 16 32
BT40 SHR12-90 26 12 18 38
SHR14-90 28 14 20 0
SHR16-90 30 16 22
SHR18-95 32 18 24 42 95
SHR20-95 34 20 26 44
SHR25-100 39 25 31 50 100

Taper : AT3 | T.I.LR=3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

****f~———§5§ﬁ§HANK@‘ 036 ‘ 6.1-10 ‘ 010.1-14 ‘ 014118 ‘ 18124 ‘ (024130 ‘ (130.1-40

h6 0-8um 0-Sum 0-11um 0-1Tum 0-13um 0-13um 0-16um

@lpm 34



SHRINK FIT CHUCK _pesigned 3" siope

BT50

MAS403 BT-SHR

CODE NO.
SHRG-100 20.4 6 12 25
SHR8-100 22.4 8 14
SHR10-100 24.4 10 16 32
SHR12-100 26.4 12 18 38
SHR14-100 28.4 14 20
BTS0 SHR16-100 30.4 16 22 40 100
SHR18-100 32.4 18 24 42
SHR20-100 34.4 20 26 44
SHR25-100 39.4 25 31 50
SHR32-100 46.4 32 38

Taper : AT3 | T.I.LR=3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD, AD/B | For : Solid Carbide

~—§¢*%?SHANK@‘ 03-6 ‘ 76.1-10 ‘ 010.1-14 ‘ 014.1-18 ‘ 018.1-24 ‘ #24.1-30 ‘ 30.1-40

h6 0-8um 0-Sum 0-11um 0-1Tum 0-13um 0-13um 0-16um

35 www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIHHS

SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK4O0A

mm

CODE NO.
S8 1 ; : I —
ST 20 ‘ 1 L S
HSK40A g:ggfgo 22 6 12 . +
SHAAT 2 ; 1 —
SHRID17D 7 1 1 I
SHRIZ17D 7 12 1 S

Taper:AT3 | T.I.LR=3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD | For: Solid Carbide

0-8um

0-9um

0-1Tum 0-1Tum 0-13um

K@‘ 73-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 018.1-24 ‘ 324.1-30 | @30.1-40

0-13um 0-16um

@lpm 36



SHRINK FIT CHUCK _pesigned 3" siope

HSK4OE

DIN69893 HSK/E-SHR

mm

CODE NO.
S8 1 ; : I —
ST 20 ‘ 1 L S
HSK40E 2:22?20 22 6 12 . +
SHAAT 2 ; 1 —
SHRID17D 7 1 1 I
SHRIZ17D 7 12 1 S

Taper:AT3 | T.I.LR=3:/2.5xD | Bal/rpm : G2.5/20000 | Coolant: AD | For: Solid Carbide

430.1-40

h6 0-8um 0-9um 0-1Tum 0-1Tum 0-13um 0-13um 0-16um

37 www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIHHS

SHRINK FIT CHUCK _pesigned 3" siope

HSK50A

DIN69893 HSK/A-SHR

mm

CODE NO.
SHR4-60 18.6 4 10 12
SHR5-60 19.6 5 11 15 60
SHR6-60 19.6 6 12
SHR8-80 25 80
SHR8-120 216 8 1 120
SHR10-80 80
SHR10-120 236 10 16 32 120
SHR12-85 85
HSK50A SHR12-120 256 12 18 38 120
SHR14-90 90
SHR14-120 216 14 20 120
SHR16-90 90
SHR16-120 296 16 2 40 120
SHR18-95 95
SHR18-120 316 18 24 42 120
SHR20-100 100
SHR20-120 316 20 26 i 120

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

—_ TABTSHAN

K@‘ @3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 714.1-18 ‘ 218.1-24 ‘ 324.1-30 ‘ 430.1-40

h6 0-8um 0-9um 0-1Tum 0-11um 0-13um 0-13um 0-16um

@lpm 38



SHRINK FIT CHUCK _pesigned 3" siope

HSKS0E

DIN69893 HSK/E-SHR

mm

CODE NO.
SHR4-60 18.6 4 10 12
SHR5-60 19.6 5 11 15 60
SHR6-60 19.6 6 12
SHR8-80 80
SHR8-120 216 8 1 25 120
SHR10-80 80
SHR10-120 236 10 16 120
SHR12-85 85
HSK50E SHR12-120 256 12 18 38 120
SHR14-90 90
SHR14-120 216 14 20 120
SHR16-90 90
SHR16-120 296 16 2 40 120
SHR18-95 95
SHR18-120 316 18 24 42 120
SHR20-100 100
SHR20-120 316 20 26 i 120

Taper: AT3 | T.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

,,,,,;,;M“j% i%?s HANK@ ‘ o

3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 714.1-18 ‘ 218.1-24 ‘ 724.1-30 ‘ 430.1-40

h6 0-8um 0-9um 0-1Tum 0-11um 0-13um 0-13um 0-16um

39 www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIHHS

SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK63A

D1

mm

CODE NO.
SHR3-80 171 3 9 9 80
SHR4-80 18.1 4 10 12 80
SHR5-80 19.1 5 11 15 80
w0 w s | | B
@ e
sow s w oo
T B B
sl e omw
I -

Taper:AT3 | T.I.R=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

430.1-40

0-16um




SHRINK FIT CHUCK _pesigned 3" siope

DIN69893 HSK/A-SHR

HSK100A

HSK100A

Fig2 ‘ L

L3

HSK100A

CODE NO.
SHR6-85 6 12 ’5 80
SHR8-85 8 14 85
SHR10-90 10 16 32 90 .
SHi12.06 - - 50 248 91 83.84 N o Fig1
SHR14-95 14 20 95
SHR16-100 16 22 40 100
SHR18-100 18 24 - - - 42 100
SHR20-105 20 26 - - - 44 105 .
SHR25-115 25 31 - 39.2 - - 5 15 Fig2
SHR32-120 32 38 - - - 120

Taper:AT3 | T.I.LR=3:/2.5xD | Bal/rpm: G2.5/20000 | Coolant: AD | For: Solid Carbide

,,,,,,,,,,,,,;,;fé i_lri%?-s HANK

h6

0-8um

0-9um 0-1Tum 0-1Tum 0-13um 0-13um

‘ 743-6 ‘ ?6.1-10 ‘ @10.1-14 ‘ 714.1-18 ‘ 718.1-24 ‘ 324.1-30 ‘ 730.1-40

0-16um

41  www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIHHS

SHRINK FIT EXTENSION CHUCK -pesigned 3 stope

3° Slope
8 R et 1354l

SR-SHR (STANDARD)

mm

CODE NO. D | Shank Tolerance

SHR3-160 3 9
SHR4-160 4 10

SR16 SHR5-160 5 " 16 66.8
SHRB-160 6 12 10
SHR8-160 8 14
SHR10-160 6 12 160 h6
SHR6-160 8 14

SR20 SHR8-160 20 105
SHR10-160 10 16 26
SHR12-160 12 18 32

(EXTRA SLIM) mm
CODE NO. D D | Shank Tolerance

SHR3-160 3 6 9 52.2
SHR4-160 4 7 12 47.7

SSA12 SHR5-160 5 8 12 15 38.2 hé
SHRE-160 6 9 25 28.6
SHR3-160 3 6 9 85.9
SHR4-160 4 7 12 85.9
SHR5-160 5 8 15 76.3

SSH16 SHRB-160 6 9 16 25 47.7 160
SHR8-160 8 " 47.7 he
SHR10-160 10 13 32 28.6
SHREB-160 6 9 o5 95
SHR8-160 8 " 85.9

SSA20 SHR10-160 10 13 20 32 66.8
SHR12-160 12 15 38 47.7

For : Solid Carbide

‘ @3-6 ‘ 76.1-10 ‘ @10.1-14 ‘ 214.1-18 ‘ 018.1-24 ‘ 324.1-30 ‘ 430.1-40

h6 0-8um 0-Sum 0-11um 0-1Tum 0-13um 0-13um 0-16um

The universal solution for your machining issues.

+ Highest runout accuracy optimum and almost unlimited extensions likely the most economic way special machining requirements for
carbide steel

@lpm 42



SHRINK FIT EXPANSION CHUCK -pesigned s stope

3° slope

903
]
'
.
I
'
"
.
'
.
.
:
'
'
.
'
.
.
'
'
'
.
'
'
'
.
'
.
!
.
]
.
.
'
'
'
:
'
o

D1
@D2

SR-SHR
CODE NO.

SHR6-300 6 12

SR20 SHR8-300 . y 20 25 76.3
SHR8-300
SHR10-300 10 16 32

SR25 SHR12-300 12 18 25 38 124
SHR14-300 14 20
SHR16-300 16 22 40
SHR10-300 10 16 32
SHR12-300 12 18 38

SR32 SHR14-300 14 20 32 190.8
SHR16-300 16 22 40
SHR20-300 20 26 42

300

Shank Tolerance

h6

For : Solid Carbide

The universal solution for your machining issues.

+ Highest runout accuracy optimum and almost unlimited extensions likely the most economic way special machining requirements for

carbide steel

43  www.iwidin.com

MINHI LI INIHHS




AINHI LI MINIHHS

Induction Machine for Shrink Fit Chuck -zxss 24s o

SF4200

E3 % I (Feature)
Z|CHAHITE 0 3. 6KW

¢ Low Consumption Power : Max. 3.6W

o FHIE XM WE  Steel A, SUS AE
e Chuck material : STEEL & SUS

o Mgt 7t A

« Cost-effective price and competitive price

o HE 271

e Delivery : within 10 days from order date
o AEHR 1 AC 100V~240V

* Using Volatage : Free Voltage

* 5|8 S ofoldlzf U

e All-in-one Inducting & Air Cooling System

AAIO
o 22 ZAHY

Easy Operating Manual

ST E/AAR(Shrinking Time)

ZQ ¥ (Specification)

22 Model Sf4200 Chuck ID Induction 24 (Carbide Tool)
T2 Power AC 110V -240V Coil Heating Cooling
AHlﬁﬁ._Hateq Ampere Max 3.6KW g4 @20 4 Sec. 6 Sec.
AO|= Dimension(mm) 325X 340 X 690

SN AEEY of7 |2 & See below Chart 76 @20 4 Sec. 5 Sec.
A S e el FP22 20mm, 30mm, 40mm, 50mm
EE T PAES Bt30, Bt40, BT50 o8 020 4 Sec. 4 Sec.
IjIjJIdHe:Su}[Eo; S;ze HSK32, HSKAD, HSK50, HSKe3, HSK100 212 5720 4 Sec. 5 Sec.
X W8 718 7
Inducting range of Chuck ID 3mm - 32mm 216 @30 6 Sec. 10 Sec.
aa Weight 19kgs
Z27 012 Output Hz 7kHz ~ 45kHz 020 0 40 8 Sec. 12 Sec.

HZE 24X (Standard Parts) « JHEIY B x5 c HERLE

Induction Coil Size [@ d] [Standard Parts]

o 7193 2(Induction Coil) : @d = 30mm
« 27 BERICH(Holder Support) © BT & HSK @ d=20mm @d=30mm
@ d=30mm HEEES HQIF L2
o L§HEZH(Heatproof Gloves)
o S X(Fuse) @ d =40mm AO| == 24 0
@ d=50mm And other size is optional

Qo 4



SINGLE MILLING

CHUCK

0| O|F0{

oted




AONHI ONITIN

SINGLE MILLING CHUCK

MAS403 BT-C -
CODE NO. | COLLET
C20-75 75
BI30 o000 90
C20-80 20 19 59 80 65 K20
€20-90 90
20-135 135
C25-90 90
BT40 | ocae 25 255 62 135 70 K25
32-90 90
C32-105 32 25 75 105 75 K32
32-135 135
C20-105 105
t20-150 20 19 59 150 65 K20
C25-105 105
25135 25 255 62 135 70 K25
32-110 110
BIS0 " ¢ap135 32 25 75 135 75 K32
C32-165 165
C42-110 110
C42-135 42 25 94 135 85 K42
C42-165 165
Taper:AT3 | T.I.LR=10:/2.5xD | Coolant: AD
COOLANT
- L= Z% (Spindle Through)ARB0| 7Hs3I0 AR Al ONK ColletS HB5HIAIR.

« If you want to use the Milling Chuck with Spindle Through Coolant system, please use our ONK Collet.

@mﬂv 46



SINGLE MILLING CHUCK

L1

d1
D1

DIN69871 SK-C

mm

CODE NO. \ d1 \ D1 \ L1 COLLET
C20-105 20 59 K20
sqap 025105 25 62 105 K25
32-105
32 75 K32
€32-135 135
C20-105 20 59 K20
C25-105 25 62 105 K25
32-105
32-135 32 75 135 K32
S50 eaz165 165
C42-115 115
C42-135 42 94 135 K42
C42-165 165

Taper : AT3 | Coolant: AD

L2

L1 L1
L2
W J
Eﬂlr
et _ 5
N\ : S| 2 -
A %‘ —
Fig.1 Fig.2

DIN69893 HSK-C

d1

D1

mm

CODE NO.
HSK50A C20-100 1 20 19 59 100 65
HSKE3A C20-105 105
C32-130 2 32 25 75 130 75
C20-110 20 19 59 110 65
HSK100A C32-135 1 32 25 75 135 75
C42-135 42 94 135 85
Taper: AT3 | Coolant: AD
COOLANT

« LI 2% (Spindle Through)Al80| 7t53tH AFSA| ONK ColletE MESHIAIL .
« If you want to use the Milling Chuck with Spindle Through Coolant system, please use our ONK Collet.

47 www.iwidin.com

MINHI ONITIIN




AONHI ONITIN

SINGLE MILLING CHUCK

DIN2080 NT-C

CODE NO.

Draw Bolt

Draw Bolt
INCH METRIC

COLLET

B

lo

- 2&A 2[H0lH= 300719 HlojZ2E 8ot FEH0N &40 ob
0| O|R0{X|22 2l +HE FARLICH

« E4de= MAE 2lH0|HE= 21ES0l Bl6t0f +F0] HEFHYLICE

Durability
« Milling chuck will be maintained long life through retainer that is
accepted 300pcs bearings and minimized the friction on its rolling side.

LS 222 #|o2
4= US Hold2 MY F2/8t oisol= FEEA 2S5
Of &L,

‘EZHY T
9
[=]

=
o opEk

Needle Roller Bearing
« The Needle Bearing with high precision & high strength is working
softly and no friction noise even heavy load.

NT30 20 20 - 605 sg 1/2"-12UNC | M12X1.75 <20
NT40 295 2 5/8"-11UNC | M16X2.0
32 32 75 267 % K32
NT50 42 42 94 86.2 110 1"-8UNC M2AX30
L2
Draw Bolt
R8-C
CODE NO. Draw Bolt |  COLLET
RS €20 20 59 62.5 85 7/16"-20UNC K20
Aze

=13

<670 AREE 28 Y

E UaMUZe @ ¢ 0|2ES Mstn olng
Xlstod MZ2e SMA7IH S7Of RS HUXIFLICH
Slot

« Eliminates the oil and dregs owing to 6pcs-slots and improves torque
power due to prevent slip and come off the tools.

1o

@mﬂv 48



SINGLE MILLING CHUCK -set

SR8-C, SNT-C
CODENO SETLHE (Set Contants)
' =4 (Chuck) COLLET MT. 2IE (MT Collet) | E2A H} (Drill Chuck Bar)
SR8 R8-C20
C20 K20 6.8.10.12.16 K20-MT1.2 K20-JT6
SNT30 NT30-C20
SNT40 NT40-C32 K32 gb8'2150'12'16
C32 6 8 101216 K32-MT1.2.3 K32-JT6
NT50-C32 K32 e
20.25
SNT50 6.8.10.12.16
C42 NT50-C42 K42 202532 K42-MT1.2.3.4 K42-JT6

<22 M BE MES FE5HA (= Draw Bolt (inch. Metric) 74

ERNESE SIS

oil) SNT50M-C42(METRIC SIZE),

SNT50U—-C42(INCH SIZE)
- Draw Blot € X|HalX|gt2

L0ll= NT40, NT50, R82 INCH

SIZE 2 NT30, NT60& METRIC SIZEE Z11ELICtH

« 2 BHJTE)O

21O
caxe

ILEl|Of QUAT SLIT

« Centering Bar Setol M &M@l ElLct

Metric at ordering step.
+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

bolt.
« Drill chuck bar(JT6) is excluding a Drill chuck

« Please make designate the Draw Bolt dimension between Inch and

« Centering Bar is excluding in set contents.

49  www.iwidin.com

MINHI ONITIIN




AONHI ONITIN

SINGLE MILLING CHUCK

Tang

Cotter Home
—

Draw Bolt

[

.

MT-C m
CODE NO. d1 D1 L1 | DrawBolt | COLLET
C32-90 32 75 90 K32
M4 C42-95 42 94 95 M16x2.0 K42
C32-90 32 75 90 K32
MTS C42-95 42 94 95 M20X2.5 K42
M6 C32-90 32 75 90 - K32
C42-95 42 94 96 - K42

FEoti= Tang Type It Draw Bolt Types YHFAAR
0f) MT5D-C32(Draw Bolt Type), MT5T-C32(Tang Type)

- Tang Type 2 Cotter Home MYE ?Iot 77 22 2 SIAIES &
AL

+ Please make designate the Draw Bolt dimension between Inch and
Metric including Tang type at ordering step.
+ Please inform about Model and Manufacturer of Machine in order to

make designate of Cotter Home for Tang type.

SINGLE MILLING CHUCK -set

SMT-C
CODE NO SETLHE (Set Contants)
' 25| (Chuck) COLLET MT. Z3IE (MT Collet) | =2 d} (Drill Chuck Bar)
SMT3 C20 MT3-C20 K20 6.8.10.12.16 K20-MT1.2 K20-JT6
SMT4 MT4-C32 268'2150'12'16
C32 K32 - K32-MT1.2.3 K32-JT6
6.8.10.12.16
MT5-C32
SMT5 20.25
6.8.10.12.16
MT5-C42 202537
C42 K42 6 8 16 1216 K42-MT1.2.3.4 K42-JT6
SMT6 MT6-C42 20.25.32
- C2 M Ht = EENS X6 &L + Drill Chuck Bar is excluding Drill Chuck
« Centering Bare Z8/61X| Z&LICt, « Centering Bar is excluding in set contents.

@mﬂv 50



DOUBLE BEARING MILLING CHUCK

e,

MAS403 BT-DBC

L1
L2

T
T

d1
D1

mm
CODE NO. L2 | WEIGHT(kg) |  COLLET
DBC42-120 120 7.8
BT50 DBC42-135 42 107 135 107 856 K42
DBC42-165 165 97
Taper : AT3 | Coolant: AD
e
- 015 US Hiof2ol ofst znt nizs wslsioz 22 Mol X
gfetct
- Y Jjol= Yol ofFt &2 AMTERR FoiRle il LT 8ISY
24 XD Uestct
- Y5t 2lE0|HE A HlolZQl v +2 Z|cH= 510 050 5t
20| BAMEOR 245 LITNS SXIBILCH
- Bils E4 2742 xf2/10 Uotz o] 4EiLICH
- 2o EA IR0 WSl ZISS BaEoR WXIgLICH
FEATURES - 67H9l AREE 2RO 2 U 0/2HE Hrfskn 0inTS

« It adopt a form double Roll-Lock and it give full play to high power
from high holding. (A form of Heavy Duty Cutting)

« External diameter grinding in comhination with guide Ring is keep
precision on cutting tools. (For precise working.)

« With Lock Ring rotate side to side, the exchange tool is quickly
and simple.

+ The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

XI510f H2I2iZ SHAZI0] B70] MRS WXIEL,

0.

Slot
« Eliminates the oil and dregs owing to 6pcs-slots and improves torque
power due to prevent slip and come off the tools.

www.iwidin.com

MINHI ONITIIN




AONHI ONITIN

DOUBLE BEARING MILLING CHUCK

Draw Bolt
- isg |
Jl:ti:-:-:-:lg

]

DIN2080 NT-DBC

mm

Draw Bolt
CODE NO. INCH METRIC COLLET
NT50 DBC42 42 107 97.7 100 1"-8BUNC M24X3 K42

23 FAR L AZE
- 0|5 LIS HofZol| ost MZnt mYHS Lslelez 28 A &

BIEHLICE.
- MY 7t0|= Holl oot w2 ZETER FHeikle et Lot HIEE

4dg Xy st
« Just 2[H0|HE AL HoF 2| iEnt &5 z|t=5104 0[& Tl &f

30| 24tz22 2451 Mg RXIRILICH
« 2Hle E4 374E Exi2loto] Liot= 40| 43k,
- 48 ZA 7SS0 LMots TiSE EutdoR WIX[RILICE,

FEATURES

« It adopt a form double Roll-Lock and it give full play to high power
from high holding. (A form of Heavy Duty Cutting)

« External diameter grinding in combination with guide Ring is keep
precision on cutting tools. (For precise working.)

» With Lock Ring rotate side to side, the exchange tool is quickly
and simple.

* The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

Slot

« Eliminates the oil and dregs owing to 6pcs-slots and improves torque
power due to prevent slip and come off the tools.

@mﬂv 52



DOUBLE BEARING MILLING CHUCK -set

SNT-DBC .
CODE NO SETLHE (Set Contants)
: =5 (Chuck) COLLET MT. Z21E (MT Collet) | =21t (Drill Chuck Bar)
6.8.10.12
SNT50 DBC42 NT50-DBC42 K42 16.20.25.32 K42-MT1.2.3.4 K42-J6

<92 M gF MEES FESH e Draw Bolt (inch. Metric) 74 « Please make designate the Draw Bolt dimension between Inch and

= A FatAR. Metric at ordering step.
0f) SNT50M—-DBC42(METRIC SIZE), + Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
SNT50U-DBC42(INCH SIZE) bolt.
+ Draw Blot & X|IHsIXIE d<0l= INCH SIZE 2 S1gUct + Drill chuck bar(JT6) is excluding a Drill chuck
- CEA HHJTE)0 S22 ZatE 0] UX| LSLICH « Centering Bar is excluding in set contents.

« Centering Bare SetollA X2 ELICt,

53 www.iwidin.com

MINHI ONITIIN




AONHI ONITIN

DOUBLE BEARING MILLING CHUCK

L1

Cotter Home

S

Tang

CODE NO. COLLET

DBC42-100

23 FAS T
+ 013 LIS slof2of st Zolet Mzln mx|=g welstoz g=xar FEATURES

off MergfLct, * It adopt a form double Roll-Lock and it give fully play to high
< Mol Jlo|E2o| oFt 52 ANTER ZEX|= aziol st b= power from strong torque power. (A form of Heavy Duty Cutting)

NS X|LD YLt * External diameter grinding in combination with guide Ring is keep
pesimiciaEl === A}g LIS Ho{2lo] ujEnt 222 F|oi2 5t 0] precision on cutting tools. (For precise working.)

AH0| 5150| 2ot A5 LTINS SXIRLICH + With Lock Ring rotate side to side, the exchange tool is quickly
- 23 HAEEo| HMHO e A=S SutAo= B[S Ct and simple.(The working hours shortening)

* The double Roll-Lock on const-ruction prevent vibration during
working with effect. (No Vibration)

DOUBLE BEARING MILLING CHUCK _set

SMT-DBC
SETLHE
o 23 (Chuck) COLLET MT. 22 E (MT Collet) | =2 b} (Drill Chuck Bar)
6.8.10.12
SMT6 DBC42 MT6-DBC42 K42 16.20.25.32 K42-MT1.2.3.4 K42-J76
- CEAEEHJTE)0 E2XE LatF 0] UX| LS. + Drill Chuck Bar is excluding Drill Chuck
« Centering Bare Z&I6IA| Z&LICE. « Centering Bar is excluding in set contents.

@lnm 54



MILLING CHUCK -nce coer

L1

CODE NO.(d1)
NK20 6.8.10.12.16 20 24 66
NK32 6.8.10.12.16.20.25 32 37 80
NK42 6.8.10.12.16.20.25.32 42 48 87

MILLING CHUCK _sTRAIGHT coLLET

L1

CODE NO.(d1)
K20 6.8.10.12.16 20 24 50
K32 6.8.10.12.16.20.25 32 36 65
K42 6.8.10.12.16.20.25.32 42 48 75
MILLING CHUCK _cooLanTs coLLeT
L1
O A
| [Ile——a "
ONK ’ m
CODE NO.(d1) \ D1 D2 L1
ONK20 6.8.10.12.16 20 24 77
ONK32 6.8.10.12.16.20.25 32 37 90
ONK42 6.8.10.12.16.20.25.32 42 48 97
« ONK Z2E£ Single Milling Chuck (C Type) ZDouble Bearing Milling Chuck (DBC Type)oll Z&5t04 Oil Hole(internal Cooling)

37E g8He= ASYU.

0

+ ONK collet is able to apply for Spindle Coolant system with Milling Chuck and Double Bearing Milling Chuck

55 www.iwidin.com

131109

MONHI ONITIIN



131109

AONHI ONITTIN

MORSE TAPER CHUCK

K-MT
cass
O Drilling Range
MT1 2.0-14 MT1
K20 MT2 14.1-23 MT2
MT1 2.0-14 MT1
K32 MT2 14.1-23 MT2
MT3 23.1-32 MT3
MT1 2.0-14 MT1
K42 MT2 14.1-23 MT2
MT3 23.1-32 MT3
MT4 32.1-50 MT4

STRAIGHT DRILL CHUCK

K-JT
==
CODE NO. Drilling Range
K20
K32 JT6 1.013.0 JT6
K42

« THjAl E2AE MQIEUH
« Drill chuck to be purchased separately.




QUICK CHANGE MASTER
HOLDER

QUICK CHANGE FACE
MILLING CHUCK

MH-T
CODENO. | ZZH0|mf Taper | 2AIX| HoH Q.C Taper 2P| 3)j0JA 2 24 Face Mill Cutter Size
MH40 | T35 1S040 T35 Hojgf A ZELA
MH50 | T45 1S050 T45 Q.CTaper | Face Mill Cutter OD Face Mill Cutter ID
3R 76 25.4
T35 | 4R T35 102 31.75
« Master Holder € F26t4 = Draw Bolt #4& XIHoHIAIL. 5R 127 381
o) SMH40M—-T35-C32(METRIC SIZE), 3R 76 25 4
SMH50U—T45jc42(|NCH SIZE) _ 4R | 102 3175
« Draw Bolt £ X|H5tX| 42 Z0ll= INCH SIZE 2 £ngLUct, T45 SR T45 127 381
+ Please make designate the Draw Bolt dimension between Inch and ﬁ 152 50.8

Metric at ordering step.
« Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

bolt.

QUICK CHANGE MT SLEEVE

QUICK CHANGE DRILL
HOLDER

T-MT T-JT
Z0Ix| Ho|f calksy ZHOIX| o/ =21 & Dyill Chuck

CORENG ‘ Q.C Taper MG ‘ Drl Range CODENO.| g ¢ Taper \ JT.NO | E2152 Dril Range
MT1 MT1 2.0-14 135 T35

35 | MT2 T35 MT2 14123 125 18 s JT6 1-13
MT3 MT3 23.1-32
MT1 MT1 2014

T45 MT2 T45 MT2 14.1-23 - TOHA] EZAM2 HMIIFLICEH - Drill chuck to be purchased separately
MT3 MT3 23.1-32
MT4 MT4 32.1-50

QUICK CHANGE MILLING
CHUCK

CODE NO. | Z#oIx| Hoj{ Q.C Taper| A2 L2/A L Inner Bore

T35 | C32 T35 C32
C32 C32
T45 a2 T45 C42

57 www.iwidin.com

d43070H
F9NVHI MIIN0




430d70H

JONVHI X3IND

QUICK CHANGE MILLING CHUCK -set

SMH-C
SETLHE Set Contants
CODE NO. ODIAEIEH | 2 A COLLET ZlojAoltE | =2M | EEAH | MTEZE
Master Holder Chuck Face Arbor | Drill Chuck | Drill ChuckBar | - MT Collet
T35-C32A 2'08'2150'1 216 - K32-JT6 -
SMH40 MH40 T35-C32 5 8 101216 T35-4R
T35-C32B Zb '25 — T35-JT6 - T35-MT12.34
K32 .
T45-C32A 568'2150'1 216 - K32-JT6 -
MH50 T45-C32 5 8 101216
T45-C32B 2'0 '25 — T45-JT6 - T45-MT2.34
SMH50 5 8 101216 T45-5R
T45-C42A 26 '25 52 : - K42-JT6 -
MH50 T45-C42 | K42 6 8 16 1216
T45-C42B 20.25.32 T45-JT6 - T45-MT2.34

U2 M NES F25H = Draw Bolt (inch, Metric) #4& X

oA,

o) SMH40M~-T35-C32(METRIC SIZE),
SMH50U-T45-C42(INCH SIZE)

« XIHGHA| 222 A0ll= Nt40, Nt502 INCHZ NT602 METRICS

2 st
cal

k=
2 A HH(JT6)0l =2X2

ILLBIGHIA| &L

+ Please make designate the Draw Bolt dimension between Inch and
Metric at ordering step.

« Unless any notifying, NT40 and NT50 will be supplied with Inch Draw
bolt.

« Drill chuck bar(JT6) is excluding a Drill chuck

@lnm 58






ER COLLET
CHUCK




ER COLLET CHUCK

Strong Torque Power

AT

4

=
~

1

« ER Chuck have strong torque power.

IE EREVK| &

+Slim designed ER Nut were minimized an interruption to
workpiece.

7|_|-A‘1

mjo

SastAlgoRA

=

23

\d//—\

oI5 Holm 22

m

HE £29| 4-8HH9
7k80] efdEL

If using Carbide Drill
and coated drill,

it can be improve
workability up to 4~8
times.

Rigid Tapping 7I50|
U= A AIEoIAM 2
S8 YNYe ¥ 4
UL

ER chuck is using for
Tapping process with
Machine which have
function of Rigid
Tapping.

There is no drilling
vibration and it will
improve workability with
long drilling process.

Lol g & UL
It using 0.05mm small
dia. drill, it will improve
workability when high
speed drilling

process

ct.

It is possible to high
precision cutting with
end-maill.

61 www.iwidin.com

om
T
c O
QO
NN
-
m
AN




AINHD
13109 43

ER COLLET CHUCK

MAS403 BT-ER

Fig.1

L1

d1
D1

G1

Fig.2

mm

CODE NO. W(Ek'S)HT‘ NUT ‘SPANNER
ER11-60 60 05
ER11-90 10-7.0 19 90 | M8X10 | 06 ERN11 | ERSTI
ER11-120 120 07
ER16-60 60 05
ER16-90 10100 | 28 0 | MIIXI0 | 06 EAN6 | ERSI6
ER16-120 120 08
ER20-60 60 06

BT30 | ER20-90 10130 | 34 0 | MIaxio | 07 EAN20 | ERS20
ER20-120 120 09
ER25-75 75 10
ER25-105 10160 | 42 05 | MI8X15 | 14 EAN25 | ERSZ5
ER25-120 120 12
ER32-75 75 11
ER32-105 20200 | 50 105 | M2X15 | 12 EAN32 | ERS3?
ER32-120 120 15

Taper : AT3 | Coolant: AD

@lpm 62



ER COLLET CHUCK

MAS403 BT-ER

L1

G1

WEIGHT

= e

d1

mm

CODE NO. ‘ G1 ‘ (ka) ‘ NUT ‘ SPANNER
ER11-60 1.0-7.0 19 60 MB8X1.0 1.0 ERNT1 ERS11
ER16-60 60 1.1
ER16-90 1.0-10.0 28 90 M11X1.0 1.3 ERN16 ERS16
ER16-120 120 1.5
ER20-80 80 1.2
ER20-105 1.0-13.0 34 105 M14X1.0 1.4 ERN20 ERS20
ER20-135 135 1.6

BT40 ER25-80 80 1.3
ER25-105 1.0-16.0 42 105 M18X1.5 1.5 ERN25 ERS25
ER25-135 135 1.8
ER32-80 80 1.4
ER32-105 2.0-20.0 50 105 M24X1.5 1.7 ERN32 ERS32
ER32-135 135 2.0
ER40-80 80 1.6
ER40-105 3.0-26.0 63 105 M28X1.5 2.2 ERN40 ERS40
ER40-135 135 2.6

Taper: AT3 | Coolant: AD

63 www.iwidin.com

MINHI
1371103 H3




ER COLLET CHUCK

AINHD
13109 43

MAS403 BT-ER

d1
D1

mm

BT50

CODE NO. GI | WEIGHT(kg)| NUT | SPANNER
ER16-90 90 3.9
ER16-120 1.0-10.0 28 120 M11X1.0 4.1 ERN16 ERS16
ER16-150 150 43
ER20-90 90 4.0
ER20-120 1.0-13.0 34 120 M14X1.0 42 ERN20 ERS20
ER20-150 150 45
ER25-105 105 4.0
ER25-135 1.0-16.0 42 135 M18X1.5 43 ERN25 ERS25
ER25-165 165 46
ER32-105 105 4.1
ER32-135 2.0-20.0 50 135 M24X1.5 4.4 ERN32 ERS32
ER32-165 165 48
ER40-105 105 43
ER40-135 3.0-26.0 63 135 M28X1.5 47 ERN40 ERS40
ER40-165 165 53

Taper: AT3 | Coolant: AD

@lpm 64



ER COLLET CHUCK

G1

Tﬁu.&
T h————

o
D1

L1

MINHI
1371103 H3

DING69871 SK-ER

mm

CODE NO. | CHUCKING(D) | SPANNER
ER16-70 70
ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
ER16-160 160
ER20-70 70
ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER20-160 160

SK40 " Ergs70 70
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25
ER25-160 160
ER32-70 70
ER32-100 15-20.0 50 100 M24X1 5 ERN32 ERS32
ER32-160 160
ER16-70 70
ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16
ER16-160 160
ER20-70 70
ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
ER20-160 160
ER25-70 70

SK50 | ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25
ER25-160 160
ER32-70 70
ER32-100 2.0-20.0 50 100 M24X1 5 ERN32 ERS32
ER32-160 160
ER40-70 70
ER40-100 3.0-26.0 63 100 M28X1 5 ERN40 ERS40
ER40-160 160

Taper : AT3 | Coolant: AD

65 www.iwidin.com



ER COLLET CHUCK

G1

DIN69893 HSK/A-ER

CODE NO. | CHUCKING(D) | NUT | SPANNER
ER11-60 1.0-7.0 19 60 M8X1.0 ERN11 ERS11

ER16-60 1.0-10.0 28 60 M11X1.0 ERN16 ERS16

ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 FRS16

B 23 ER20-70 1.0-13.0 34 70 M14X1.0 ERN20 ERS20
=S HSK50A | ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20
m ER25-70 1.0-16.0 42 70 M18X1.5 ERN25 FRS25
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 ERS25

ER32-80 2.0-20.0 50 80 M24X1.5 ERN32 ERS32

ER32-100 2.0-20.0 50 100 M24X1.5 ERN32 FRS32

ER11-75 1.0-7.0 19 75 MBX1.0 ERN11 ERS11

ER11-100 1.0-7.0 19 100 ERN11 ERS11

ER16-75 1.0-10.0 28 75 ERN16 ERS16

ER16-100 1.0-10.0 28 100 M11X1.0 ERN16 ERS16

ER16-160 1.0-10.0 28 160 ERN16 ERS16

ER20-75 1.0-13.0 34 75 ERN20 FRS20

ER20-100 1.0-13.0 34 100 M14X1.0 ERN20 ERS20

ER20-160 1.0-13.0 34 160 ERN20 ERS20

HSKB3A | ER25-75 1.0-16.0 42 75 ERN25 ERS25
ER25-100 1.0-16.0 42 100 M18X1.5 ERN25 FRS25

ER25-160 1.0-16.0 42 160 ERN25 ERS25

ER32-75 2.0-20.0 50 75 ERN32 ERS32

ER32-100 2.0-20.0 50 100 M24X1.5 ERN32 FRS32

ER32-160 2.0-20.0 50 160 ERN32 ERS32

ER40-75 3.0-26.0 63 75 ERN40 ERS40

FR40-120 3.0-26.0 63 120 M28X1.0 ERN40 FRS40

ER40-160 3.0-26.0 63 160 ERN40 ERS40

ER16-100 1.0-10.0 28 100 MTIX1.0 ERN16 ERS16

ER16-160 1.0-10.0 28 160 ' ERN16 ERS16

ER20-100 1.0-13.0 34 100 M1 0 ERN20 ERS20

ER20-160 1.0-13.0 34 160 ' ERN20 ERS20

ER25-100 1.0-16.0 42 100 ERN25 FRS25
HSKTO0A 1 eRz5-160 1.0-16.0 42 160 MIBX1.5 ERN25 ERS25
ER32-100 2.0-20.0 50 100 M2AX1 5 ERN32 ERS32

ER32-160 2.0-20.0 50 160 ' ERN32 ERS32

ER40-120 3.0-26.0 63 120 28X 5 ERN40 FRS40

ER40-160 3.0-26.0 63 160 ' ERN40 ERS40

Taper: AT3 | Coolant: AD

Qo 66



BABY ER COLLET CHUCK

L1 L2

G1

d1
D2

K-ER
EIIERI, | SPANNER
K18 it 16 I
ERT1-100 1.0-7.0 19 50 10 M8X1.0 ERS11
ER11-130 90 23
ER16-105 50 c3
K20 e s 1.0-10.0 20 28 %0 45 M11X1.0 ERS16 £
ER20-120 20
ER20.150 1.0-13.0 34 {00 M14X1.0 ERS20
FR16-130 80
ER16.160 1.0-10.0 28 o 50 M11X1.0 ERS16
K25 | ER20-130 25 20
ER20-160 1.0-13.0 34 "o M14X1.0 ERS20
FR25-135 1.0-16.0 42 80 55 M18X1.5 ERS25
ER20-130 1.0~13.0 34 80 50 M14X1.0 ERS20
FR20-160 110
K32 ERos-135 32 80
ER25 165 1.0-16.0 42 o 55 M18X1.5 ERS25
ER32-170 2.0-200 50 110 50 M24X1.5 ERS32
FR32-210 150
K42 Enso-185 42 10
ER50-225 50-340 78 10 85 M16X2.0 | ERS50
EINIERIY, | SPANNER
K16 | ER11M-140 1.0-7.0 16 16 140 30 M8X10 | ERSTIM
K20 | ER16M-140 1.0-10.0 20 22 140 40 M11X10 | ERSI6M

CH2 H|o[H] X

+DBC, JHM, ER Type & & Hoil Zefoie 2, =22, 1, 21y 50| 245 2gls T e85z gt

Bady Chuck
« This Baby Chuck are applying(extension) with Double bearing Milling Chuck, Single Milling Chuck, Hydraulic Chuck, ER Collet Chuck etc.

67 www.iwidin.com



AINHD
13109 43

LONG MINI ER COLLET CHUCK

L1 -NUT-
L2 25 =n\[
M11 3
— - : o~ MType
o B B B B B B | - B % a
I B _|=
! a
MEC AType n
CODE NO. SPANNER
MEC16-200 200 175
S20 MEC16-250 0100 20 22 250 295 ERN16M ERS16M
MEC16-250 ' ’ 250 225
S25 MEC16-300 25 28 300 275 ERN16A ERS16A
ey E2go2 UZX C32, C42 2 Xloto] ALZRILCE,
« Long Mini Chuck 2 2Z28 & Mxt6te 73 7t80f S0[ghct,
+ Mini Nut & Z8I=l0] JEQ| 7HdS A4S} sIELITH
« Using for Drilling and Endmill process with Milling Chuck ID 32mm(C32) & 42mm(C42)
« A straight shank body of this chuck has been filled with a carbide bar so that it is good for deep hole machining.
« Slim designed ER Nut were minimized an interruption to workpiece.
L1
-NUT-
L2 25 —
M11 [ﬁ N
[m]
A
— _ _ _ _ _ _ A I |- [N
o %$ a MType
L '|=
! a
M ER AType
CODE NO. SPANNER
MER16-200 200 175
S20 MER16-250 0100 20 22 250 295 ERN16M ERS16M
MER16-250 ’ ’ 250 225
S25 MER16-300 25 28 300 275 ERN16A ERS16A

cc2goz AUZH C32, C42 of ZFGI ALSEILICE,
« Using for Drilling and Endmill process with Milling Chuck ID 32mm(C32) & 42mm(C42)

@lpm 68



STRANIGHT SHANK COLLET CHUCK

L1

L2

G1

| Tool Holder

Sleeve

N-ER
CODE NO.
NG | ER11-32 5 32 22
ER11-70 10-7.0 19 70 20 ERNT1 | M8X1.0
ER11-105 105
ER16-40 40 25
20 "ERis70 1.0-10.0 20 28 70 25 ERNT6 | M11X1.0
ER16-105 105
ER20-70 1.0-13.0 34 70 41 ERN20 | M14X1.0
FR16-105 1.0-10.0 28 105 30 ERNT6 | MT1X1.0
N25 | ER20-70 1.0-13.0 25 34 20 32 ERN20 | MT4X1.0
FR25-70 1.0-16.0 42 435 ERN25 | MI8X1.5
ER20-80 1.0-13.0 34 32 ERN20 | M14X1.0
N32 | ER25-80 1.0-16.0 32 42 80 435 ERN25 | MIBX1.5
ER32-80 55.5
a0 T ERsz 110 2.020.0 % 50 . s ERN32 | M24X15
NC Mttg =
.Y, 9YS 2% B7E ISkl ZEI0] NC AU Tk BisoR AI8Y

« U=Drill, Super—Drill § L& Coolant 375

ER Chuck for NC Lathe Machine
« Application of drill and boring tools including various tools.

Ers
=2 A8

S

S10f 3—4HH{2] 0]

Y

+ Improving productivity by using internal coolant tool such as U-Drill, Super-Drill.

==

4 Lt
=1

69 www.iwidin.com

MINHI
1371103 H3




AINHD
13109 43

GER COLLET

30°

D1

GER
mm
L \ D RUNOUT(TIR)
6 1.0-1.4 0.015
10 1529 0.015
16 3.0-5.9 0.015
25 6.0-9.9 0.015
40 10.0-17.9 0.02
50 18.0-26.9 0.02

CODE NO.

GER11 1.0-7.0 115 18.0 ER11 ERN11

GER16 1.0-10.0 17.0 275 ER16 ERN16

GER20 1.0-13.0 21.0 315 ER20 ERN20

GER25 1.0-16.0 26.0 34.0 ER25 ERN25

GER32 2.0-20.0 33.0 40.0 ER32 FRN32

GER40 3.0-26.0 41.0 46.0 ER40 ERN40

mm
ER COLLET CODE NO. (d)1 \ SET

GER1M1 1.0,15,20,25,3.0,35,40,45,5.0,55,6.0,6.5,7.0 13PCS
GER16 1,2,3,4,5,6,7,8,9,10 10PCS
GER20 2,3,4,5,6,7,8,9,10,11,12,13 12PCS
GER25 2,3,4,5,6,7.8,9,10,11,12, 13, 14, 15, 16 15PCS
GER32 3,4,5,6,7,8,9,10,11,12,13,14, 15, 16,17, 18, 19, 20 18PCS
GER40 4,5,6,7,8,9,10,11,12,13,14,15, 16, 17,18, 19, 20, 21, 22, 23, 24, 25, 26 23PCS

@lpm 70



GER COLLET _oil hole type

CODE NO.

ERC For Spindle Through Coolant

30°

80

L1

d1

D1

mm

ERC16 4.0-10.0 17.0 215 ERN16
ERC20 6.0-13.0 21.0 315 ERN20
ERC25 6.0-16.0 26.0 34.0 ERN25
ERC32 8.0-20.0 33.0 40.0 ERN32
ERC40 10.0-26.0 41.0 46.0 ERN40
mm
CODE NO. ER COLLET CODE NO. (d)1 SET
ERC16 4,5,6,7,8,910, 7PCS
ERC20 6,7.8,9,10,11,12,13 8PCS
ERC25 6.7.8,9,10,11,12,13, 14,15, 16 11PCS
ERC32 8.9,10,11,12,13,14,15,16,17,18,19, 20 13PCS
ERC40 10,11,12,13, 14,15, 16,17, 18, 18, 20, 21, 22, 23, 24, 25, 26 17PCS

< A7| Q| MBS HIAE LIt
- A7| TiEO LEECH 5
ERCY

% SET BOX 8=

=]
FAET ARRA| Run—outol 27} Ll

« Other size can be supplied based on order made.
« Wooden tray for ER collet set to be supplied with Sets.

www.iwidin.com

MINHI
1371103 H3




AINHD
13109 43

ER TAP COLLET

5
; =1
%
L
TER FOR TAPPING .
CODE SIZE
TER16 | TER20 | TER?5 | TER32 | TER4O w(o) L D@ TapS'ng i
M4 M4 M4 M4 1 15 5 M4
M5 M5 M5 M5 45 15 55 | M5
M6 M6 M6 M6 45 15 6 Ms | Ui/
Us/16 | U516 U516 | Us/16 5 15 6.1 US/16
M8 M8 M8 M8 5 20 62 | M8
M10 M10 M10 M10 M10 55 20 7 | M0 Uu38
U716 | U716 | U716 | U716 | U7/16 6 20 8 | Mi1_ U716
P1/8 P1/8 P1/8 P1/8 P1/8 6 20 8 P1/8
M12 M12 M12 M12 65 20 85 | M2
Uz | Uiz | Uiz Ui 7 20 9 U1/2
M4 | M4 | Mia 8 25 105 | Mi4  U9/16
Pi/4 | PIA | PI/a 9 17 1 P1/4
Us/8 | UsB | U5/8 9 25 12 Us/8
M16 M16 M16 10 25 125 | M6
P3/8 P3/8 P3/8 1 18 14 P3/8
M18 M18 1 18 14| M8 | U3/
M20 M20 12 30 15 | M20
M22 13 30 7 M2 | U7/B
P1/2 14 21 18 P1/2
M24 15 35 19 | M2
M27 15 35 20 | M27 | Ui

< &7 42l MBS A

« Other size to be supplied based on order made.

Yt

@mﬂv 72



ER NUT

Hexagon G Mini Standard G1
G1 -
7 —
— © — - = - T o
L1 L1 L1
A Type M Type UM/RD Type
ERN
mm
CODENO. | D1 \ L1 \ G \ COLLET \ CHUCK
ERN11-A 19 113 M14X0.75 ER11 ER11
ERN16-A 28 17.5 M22X1.5 ER16 ER16
ERN20-A 34 19 M25X1.5 ER20 ER20
ERN11-M 16 12 M13X0.75 ER11 ER11
ERN16-M 22 18 M19X1.0 ER16 ER16 23
ERN20-M 28 19 M24X1.0 ER20 ER20 22
ERN25-M 35 20 M30X1.0 ER25 ER25 0
ERN25-UM/RD 42 20 M32X1.5 ER25 ER25
ERN32-UM/RD 50 22.5 M40X1.5 ER32 ER32
ERN40-UM/RD 63 22.5 M50X1.5 ER40 ER40
ER SPANNER
- ERS
> mm
t@ 1 CODE NO. owr | K
L1 ERS11-A 17.0 115
‘ A ‘ ERS16-A 25.0 210
ERS20-A 300 250
;[ FRS25-UM KM/RD 37.0 206
ERS32-UM.KM/RD 465 253
L ERS40-UM.KM/RD 58.0 289
ERS11-M 115 95
UM.KM/RD ERS16-M 15.0 117
z Y ERS20-M 19.5 129
) - W ERS25-M 25.0 142
’ |

73  www.iwidin.com



WSK COLLET
CHUCK




WSK COLLET CHUCK

S

MAS403 BT-WSKP

G1

D1

—

4o
D2

CODE NO. COLLET

BT30 WSKP6-90 2.0-6.0 19.6 WSK6 WSKNG6 M8X1.0
WSKP10-90 2.0-10.0 27.5 90 WSK10 WSKN10 M11X1.0
WSKP6-90
WSKP6-120 2.0-6.0 19.6 120 WSK6 WSKNGB M8X1.0
WSKP10-90 90

_ WSKP10-120 2.0-10.0 275 120 WSK10 WSKN10 M11X1.0
WSKP16-90 90
WSKP16-120 3.0-16.0 40 120 WSK16 WSKN16 M18X1.5
WSKP25-90 90
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 M24X1.5
WSKPB-120 120
WSKPB-165 2.0-6.0 19.6 165 WSK6 WSKNG6 M8X1.0
WSKP6-195 195
WSKP10-120 120
WSKP10-165 2.0-10.0 275 165 WSK10 WSKN10 M11X1.0
WSKP10-195 195

BT50 WSKP16-120 120
WSKP16-165 3.0-16.0 40 165 WSK16 WSKN16 M18X1.5
WSKP16-195 195
WSKP25-120 120
WSKP25-165 16.0-25.0 55 165 WSK25 WSKN25 M24X1.5
WSKP25-195 195

Taper : AT3 | Coolant: AD
« LH2 5% COLLETE ME%td 42 F2A1 0l2| Y531 =M.

« WSK Collet for Spindle Through Coolant are available depend on customer request

75 www.iwidin.com

MONHI
137103 XSM



WSK COLLET CHUCK

DIN69871 SK-WSKP

Gt

D1 ‘
4°
D2

L1

CODE NO. COLLET

WSKP6-90 90
WSKP6-120 2.0-6.0 19.6 120 WSK6 WSKNG M8X1.0

WSKP10-90 90
” WSKP10-120 2.0-10.0 27.5 120 WSK10 WSKN10 M11X1.0

WSKP16-90 90
WSKP16-120 3.0-16.0 40.0 120 WSK16 WSKN16 M18X1.5

== WSKP25-90 i 90
B 3 WeKPR120 16.0-25.0 5.0 0 WSK25 | WSKN25 | M24X1.5

E WSKP6-120 120
3 WSKP6-165 2.0-6.0 19.6 165 WSK6 WSKN6 M8X1.0

WSKPB-195 195

WSKP10-120 120
WSKP10-165 2.0-10.0 27.5 165 WSK10 WSKN10 M11X1.0

WSKP10-195 195

SKs0 WSKP16-120 120
WSKP16-165 3.0-16.0 40.0 165 WSK16 WSKN16 M18X1.5

WSKP16-195 195

WSKP25-120 120
WSKP25-165 16.0-25.0 55.0 165 WSK25 WSKN25 M24X1.5

WSKP25-195 195

Taper: AT3 | Coolant: AD
+ iS55 COLLETE ME3HA E FEA| 0l2] &S50 FHAR.

+ JSK Collet for Spindle Through Coolant are available depend on customer request

@lpm 76



WSK COLLET CHUCK

DIN69893 HSK/A-WSKP

N

G1

D1

L1

CODE NO. | CHUCKING(d) | D1 COLLET |
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
HSK50A | WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
Hskean | WSKP10-80 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X15
WSKP6-80 2.06.0 196 80 WSK6 WSKN6 M8X1.0
HsKiooa | WSKP10-90 2.0-10.0 215 90 WSK10 WSKN10 | M11X1.0
WSKP16-100 3.0-16.0 40 100 WSK16 WSKN16 | M18X1.0
WSKP25-120 16.0-25.0 55 120 WSK25 WSKN25 | M24X1.5

Taper : AT3 | Coolant: AD

- 2GS COLLETE Argat
+ WSK Collet for Spindle Through Coolant are available depend on customer request

o % FEAl 02 255

[=IZ0N

o AR,

>>WSK COLLET= Of2{et 20| AFEsHIAIL,
How to use Collet Holder for WSK collet

h=

+ WSK COLLETE F& 370l 2lsto NUTo| 25

20| 7FsEUCE

<HE2 destduiol= Styleol w2t WSK6E,

WSK10, WSK16, WSK25& MEFZ5I0 4
NR. (FE37= E= Tofgict.)

« Collet holder is necessary to assemble the WSK

collet into Nut.

« Collet holder to be purchased separately.

77

MINHI
137103 XSM




WSK COLLET

i =
S m — — - 8
[
L
WSK
STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE
WSK6-2.0 | 1.5-2.0 WSK16-3.0 |  2.5-3.0 WSK25-10.0,  9.5-10.0
WSK6-25 | 2.0-25 WSK16-35 | 3.0-35 WSK25-11.0 10.5-11.0
WSK6-3.0 | 2.5-3.0 WSK16-4.0 | 3.5-4.0 WSK25-12.0 11.5-12.0
WSK6-35 | 3.0-35 WSK16-45 |  4.0-4.5 WSK25-13.0 12.5-13.0
WSK6 | WSK6-4.0 | 3540 WSK16-5.0 | 4.5-5.0 WSK25-14.0 13.5-14.0
WSK6-45 | 4.0-45 WSK16-55 | 5.0-55 WSK25-15.0 14.5-15.0
WSK6-5.0 45-5.0 WSK16-6.0 | 5.5-6.0 WSK25-16.0, 15.5-16.0
WSK6-55 | 5.0-55 WSK16-65 | 6.0-6.5 WSK25-16.5 16.0-16.5
WSK6-6.0 | 5.5-6.0 WSK16-7.0 | 6.5-7.0 WSK25-17.0 16.5-17.0
WSK10-2.0 | 1.5-2.0 WSK16-7.5 | 7.0-7.5 WSK25-17.5] 17.0-17.5
WSK10-25 | 2.0-25 WSK16-8.0 | 7.5-8.0 WSK25-18.0, 17.5-18.0
23 WSK10-3.0 | 2.5-3.0 WSK16-85 | 8.0-85 WSK25-18.5 18.0-18.5
23 WSK10-35| 3.0-35 WSK16-9.0 | 8.5-9.0 WSK25 |WSK25-19.0 18.5-19.0
= WSK10-4.0 | 3.5-4.0 WSK16 | WSK16-95 9.0-95 WSK25-19.5 19.0-19.5
- WSK10-45 | 4.0-45 WSK16-10.0  9.5-10 WSK25-20.0 19.5-20.0
WSK10-5.0 | 4.5-5.0 WSK16-10.5| 10-10.5 WSK25-20.5| 20.0-20.5
WSK10-55 | 5.0-55 WSK16-11.0,  10.5-11 WSK25-21.0 20.5-21.0
WSK10 | WSK10-6.0| 5.56.0 WSK16-11.5/ 11-115 WSK25-21.5| 21.0-21.5
WSK10-6.5 | 6.0-6.5 WSK16-12.0  11.5-12 WSK25-22.0 21.5-22.0
WSK10-7.0 | 6.5-7.0 WSK16-12.5|  12-12.5 WSK25-22.5| 22.0-22.5
WSK10-7.5 | 7.0-7.5 WSK16-13.0  12.5-13 WSK25-23.0 22.5-23.0
WSK10-8.0 | 7.5-8.0 WSK16-135  13-135 WSK25-235 23.0-235
WSK10-85 | 8.0-85 WSK16-14.0  13.5-14 WSK25-24.0 23.5-24.0
WSK10-9.0 | 8.5-9.0 WSK16-14.5  14-145 WSK25-24.5 24.0-24.5
WSK10-95 | 9.0-95 WSK16-15.0,  14.5-15 WSK25-25.0| 24.5-25.0
WSK10-10.0,  9.5-10.0 WSK16-15.5| 15-15.5
WeKi6160 15616
STYLE ' WSK6 WSK10 WSK16 | WSK25
@b | 75 | 120 188 | 288
L | 250 | 306 450 | 57.0
@C | 104 | 155 246 | 357
+ 5um(RUN-OUT) 18U
- ENDMILL, DRILL, REAMER S0 Z/x{g} | WSK | 16 |—— WSK | 16 |
- 1.0~25.47tX] COLLET7k WSK6, WSK10, WSK16, WSK25 ! ! ! !
of 47}x] STYLE] =i chatof Zs|=iof st o oy SN NG A TANDARD
P:
Strong Torque Power PRECISION

+ T.I.R below 0.0005mm
+ Good for Endmill, Drill, Reamer etc.
+ Good for deep hole machining

o 78



WSK COLLET CHUCK -oithote type

oD
[1[9

WSKC For Spindle Through Coolant (F2x%)

STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE STYLE | CODENO. | RANGE
WSKC6-4.0 4 WSKC16-8.0 8 WSKC25-160  7.5-8.0
wskes | WSKC6-5.0 5 WSKC16-9.0 9 WSKC25-170  8.0-8.5
WSKC6-6.0 6 WSKC16-10.0 10 WSKC25-180  8.5-9.0
WSKC10-6.0 6 WSKC16-11.0 11 WSKC25190 1 9.0-9.5
WSKC10-7.0 7 WSKC16 |WSKC16-120 12 Wskeos |WSKCZ5200 9510
WsKC1o WSKC10-8.0 8 WSKC16-13.0 13 WSKC25210|  10-10.5
WSKC10-9.0 9 WSKC16-14.0 14 WSKC25220| 10.5-11.0
WSKC10-10.0 10 WSKC16-15.0 15 WSKC25230| 11.0-11.5
WSKC16-16.0 16 WSKC25-240| 11.5-12.0
STYLE | WSKC8 | WSKC10| WSKC16| WSKC25 WSKE25250| 120125
@D | 7.97 | 12512012 | 29.69
L | 210 256 370 | 485
@C | 104 155 | 246 | 357 o=
ER
£0| mElo|Lt 7|E} FItEls LIEER THs =g a
+ 5um(RUN-OUT) TEUE A
« ENDMILL, DRILL, REAMER S0 =|X{gt ‘ WSK ‘ 16 ‘7‘ 60 ‘
«1.0~25 47tX| COLLETZt WSK6, WSK10, WSK16, WSK25 I I I
9| 47tx| STYLES! EHMH TS50 2|0 Qlestict, WSK  STYLE No CHUCKING
COLLECT RANGE
For Spindle Through Coolant
+ T.I.R below 0.0005mm
« Good for Endmill, Drill, Reamer etc.
+ Good for deep hole machining
J S K N UT _Short & Heavy Design
WSKN 5 — |
o
CODE NO. L D d M Type ° ?
WSKNB 7.8 12.0 207 | M155X1.0P  Figl
WSKN10 | 21.0 256 370 | M215X1.0P| Figl : a
WSKN16 = 10.0 15.0 - M32X1.5P Fig2
WSKN25 | 10.0 15.0 - M45X1.5P Fig2
WSS-Spanner % a ‘
CODE NO. \ et
WSS6 WSKP6

WSS10 WSKP10 JH
WSS16 WSKP16 H
WSS25 WSKP25

79 www.iwidin.com




DRILL
CHUCK

LETY MY H52 FYoz =2 00|
=8 X2 Wrenchg 0[&510 STt E
E2 nj20| giEL

Strong Rigidity
« Strong unitied Drill Chuck a

£2| 515 H|%
sion Load Lotio
REeTpN =< S PAZS (o] 0.7kgf-m 100
of F212%0i| 2lak
. 248 A 2 0.7kgf-m 100
c SEXN Y=
< T BHE A LA 2.2kgf-m 314
Safety

+ Do not out drill at high spee
+ Do not broken a drill due to reve
* Chuck never dispatched at the sudden stop ¢



DRILL CHUCK

L1

D1

MAS403 BT-NPU
CODE NO Chuchkin D1 -
: uchking MIN MAX
arag | NPUB-70 1-8 38 72 78
NPU13-105 1413 50,5 97 108
NPUS-70 72 78
NPUS-110 1-8 38 m 17
NPUS-155 156 162
BT40 " Npu13-100 100 m
NPU13-130 1-13 50,5 132 143
NPU13-175 177 188
NPUS-85 83 89
NPUS-110 1-8 38 m 17
NPUS-170 171 177
BISO  ~Nput3-100 100 m
NPU13-130 113 50,5 132 143
NPU13-190 192 203
Taper: AT3
oll ¢ s

DIN69893 HSK/A-NPU

L1

CODE NO. Chuchking
HSK50A NPU8-140 1-8 345
HSKB3A NPU8-140 1-8 345 141 14
NPU13-140 1-13 46.0 142 153
NPU8-150 1-8 34.5 151 157
HSK100A NPU13-170 1-13 46.0 172 183
Taper: AT3

81 www.iwidin.com

MINHI 111Hd




S409vr

4084V H3dv1

JACOBS TAPER ARBOR

MAS403 BT-JTA

L3

L2

D1
D2

IR BB

CODE NO. i clall

(kg)

AT S0 1 @ s X
ﬂﬁggzgg 2SHORT 13.94 " gg 18 1 :i

BT40 jlﬁ;:gg 2 14199 gg 20 LZ‘
e v e =
650 : m e @ it
A0S 1 I 2
s mew | ow & W

0~ rag s 2 s " 2
I I =

T8 105 ; m 2

Taper: AT3

DRILL DIA | Drill depth\ DRILL DIA | Drill depth DRILL DIA | Drill depth| DRILL DIA | Drill depth|

2.0-21 1715 1925 6.4-7.0 105 2145 9.6-10.0 | 130 2350
2.2-2.3 58 174.0 4.0-4.3 83 196.0 7.1-7.3 108 217.0 10.1-104, 133 2375
2.4-2.5 61 176.5 4.4-46 86 199.0 7.4-76 111 2195 10.5-10.7, 137 2410
2.0-2.7 64 179.5 4.7-4.8 89 2015 7.7-8.0 114 2220 10.8-11.1) 140 2435

2.8 67 182.0 4.9-5.1 92 204.0 8.1-8.3 117 2245 112115 143 246.0
2.9-3.2 71 185.5 5.2-55 95 206.5 8.4-8.7 121 2065  116-11.9 146 2485
3.3-35 73 187.5 5.6-5.9 98 209.5 8.8-9.1 124 2305  12.0-123) 149 251.0
3.6-3.8 76 190.0 6.0-6.3 102 212.5 9.2-95 127 2330  12.4-13.0] 152 253.0

@lnm 82



MORSE TAPER ADAPTER

L1

D1

MT. NO
~N
B ] = e ey g
el [m]
Fig.1
L1
MT. NO
N\
- TANG Type 7S AlZ5ls SCiQiU - - ﬁ 5!
- With Tang —|:
Fig.2

MAS403 BT-MTA

DRILLSZ! WEIGHT

CODE NO. FIG MT.NO d1 MIN MAX (ka)

BT30 MTA1-45 1 12.065 13.5 14.0 25 45 0.8
MTA2-60 1 2 17.780 14.1 23.0 32 60 09

MTA1-45 45 1.0

MTAT1-120 2 1 12.065 13.5 14.0 25 120 13

MTA2-60 1 60 1.1

S40 MTA2-120 2 2 17.780 14.1 23.0 32 120 14
MTA3-75 1 75 1.2

MTA3-135 2 3 23.825 23.1 32.0 40 135 18

MTA4-95 1 95 1.4

MTA4-165 ? 4 31.267 32.1 50.0 48 165 24

MTA1-45 1 45 4.0

MTA1-120 2 1 12.065 13.5 14.0 25 120 4.3

MTA1-180 180 4.3

MTA2-45 1 45 4.0

MTA2-135 2 2 17.780 14.1 23.0 32 135 4.4

BT50 MTA2-180 180 4.6
MTA3-45 1 45 39

MTA3-150 2 3 23.825 23.1 32.0 40 150 4.7

MTA3-180 180 49

MTA4-75 1 75 5.0

MTA4-180 2 4 31.267 32.1 50.0 48 180 54

MTAB-105 1 5 44.399 50.1 75.0 63 105 4.6

Taper: AT3

83 www.iwidin.com

401dvav
H3dVL ISHON




d401dvav
H3dV1 ISHON

MORSE TAPER ADAPTER

« With Tang

DIN69893 HSK/A-MTA

o

@D

@c

CODE NO.
MTA1-110 1 12.065 25 110
HSK50A MTAZ2-135 2 17.780 32 135
MTA3-155 3 23.825 40 155
MTA1-120 1 12.065 25 120
MTAZ2-135 2 17.780 32 135
HSK63A MTA3-155 3 23.825 40 155
MTA4-165 4 31.267 48 165
MTA1-120 1 12.065 25 120
MTA2-135 2 17.780 32 135
HSK100A MTA3-160 3 23.825 40 160
MTA4-185 4 31.267 48 185
MTA5-215 5 44,399 63 215
Taper: AT3

@lnm 84



MORSE TAPER ADAPTER

+ Draw Bolt Type2 dl=gd | 2
AN8E & iUt
- With Draw Bolt

Hs

MAS403 BT-MTB

Fig.2

MT. NO

Draw Bolt Type

MT. NO

Pull Stud Bolt Type

Draw Boft Type | Pull Stud Bolt Type WEIGHT

CODE NO. FIG |[MT.NO| d1 1 CODE G1 (kg)

BT30 MTB1-45 1 1 12.065| 25 40 10.1 - M6X1.0 0.8
MTB2-60 2 2 17.780 | 32 60 - MTB2 M10X1.5 0.8

MTB1-45 1 1 12.065| 25 45 10.0 - M6X1.0 1.0

BT40 MTB2-60 2 17.780 | 32 60 13.5 - M10X1.5 1.1
MTB3-45 9 3 23.825| 40 45 - MTB3 M12X1.75] 11

MTB4-85 4 31.267 | 48 85 - MTB4 M16X2.0 1.3

MTA1-45 1 12.065| 25 45 10.0 - M6X1.0 39

MTAZ2-45 1 2 17.780 | 32 45 16.0 - M10X1.5 3.9

BT50 MTA3-60 3 23.825| 40 60 18.0 - M12X1.75| 3.9
MTA4-75 4 31.267 | 48 75 205 - M16X2.0 39

MTA5-105 2 5 44399 | 70 105 - MTB5 M20X2.5| 4.0

Taper: AT3

« *DRAW BOLT Ho{(FZ At
« *Draw Bolt to be purchased separately

+ Fig 19| Z<2 M& Draw Bolt7t Ar2ELCt,
« Fig 29| 42 £ Pull Stud Bolt7t AFZ2ELCt.

» Fig 1 to be used special Draw Bolt

« Fig 2 to used special P/S bolt

85 www.iwidin.com

401dvav
H3dVL ISHON




END MILL HOLDER

Fig2

MAS403 BT-EMH

CODE NO.
EMH6-60 6 | 25 MBX0.75
EMH8-60 s 28 | 0 | % ] 0 MBX1.0 :
EMH10-60 10 35 | 60 54 20
BT30 | EMH1260 12 37 | 60 | 59 225
EMH16-75 16 | 40 75 | 62 | o | o, M10X1.25
EMH20-75 20 | 43 | 75 | 64 2
EMH25-75 25 | 48 | 75 89 | 20 | 20
EMH-80 6 | 25 50 3 MBX0.75
EMH8-80 8 | 28 ] M8X1.0 :
EMH10-80 10 35 | 8 | 54 20 M10X1.25
EMH12-80 12| 4 59 225
BT40 “Emm1e-80 16 | 48 62 | o M12x1.5
EMH20-90 20 52 | g | 6 ” ,
EMH25-90 25 | 55 74 | 2% M16X1.5
. EMH35-105 3 | 60 | 105 | 78 28
=F EMH6-90 6 | 25 MBX0.75
B B2 EMH8-90 s 2 | © | % ) 8 MBX1.0 :
; EMH10-90 10 35 a0 54 20 M10X1.25
EMH12-90 12 | @ 59 225 V12X 5
EMH16-105 16 | 48 62 '
EMH20-105 20 | 52 69
BT EMH25-105 R M16X1.5
EMH32-105 2 | 75 78 | 28 )
EMH40-120 0 g e | 32 |
EMH42-120 42 120 M20X2.0
EMHS50-120 50 o 8 | 3 | 3 '
* EMH50.8-120 50.8 94 | 36 | 34

Taper : AT3 | Coolant: AD/B

+ @ E= Saddle pin Type(DIN 1835C) A=2EQLCt,
« The model ®mark is for saddle Pin Type(for DIN 1835C)

@lpm 86



END MILL HOLDER

DIN69871 SK-EMH

SK40

d1

D1

CODE NO. d1 \ D1 \ L1 G1
EMHB-50 50
EMH6-100 6 » 100 M6
EMH8-50 50
EMH8-100 8 28 100 M8
EMH10-50 50
EMH10-100 10 3 100 Mio
EMH12-50 50
EMH12-100 12 42 100 Mi2
EMH14-50 50
EMH14-100 1 “ 100 Mi2
EMH16-63 " 63
EMH16-100 100
EMH18-63 18 8 63 M4
EMH18-100 100
EMH20-63 63
EMH20-100 20 %2 100 M6
EMH25-100 25 55 100 M18
EMH32-100 32 60 100 M20

Taper : AT3 | Coolant: AD/B

87 www.iwidin.com

43070H
TN ON3




d43070H
TN aN3

END MILL HOLDER

L1

G1

DIN69871 SK-EMH

CODE NO.
EMHG-63 63
EMHG-100 6 25 100 M6
EMHG-160 160
EMH8-63 63
EMHB-100 8 28 100 M8
EMH8-160 160
EMH10-63 63
EMH10-100 10 35 100 M10
EMH10-160 160
EMH12-63 63
EMH12-100 12 42 100
EMH12-160 160
EMH14-63 63 M1z
EMH14-100 14 44 100
EMH14-160 160
SK50 EMH16-63 63
EMH16-100 16 100
EMH16-160 160
EMH18-63 18 63 Mi4
EMH18-100 18 100
EMH18-160 160
EMH20-63 63
EMH20-100 20 52 100 M16
EMH20-160 160
EMH25-63 80
EMH25-100 25 62 100 M16
EMH25-160 160
EMH32-100 100
EMH32-160 32 7o 160 M20
EMH40-100 40 80 100
EMH40-160 160

Taper : AT3 | Coolant: AD/B

@mﬂv 88



END MILL HOLDER

L1

DIN69893 HSK/A-EMH

mm mm
CODE NO. | a1 | D1 | U1 | G CODE NO. | d1 | D1 | L1 | G

EMH6-65 6 25 65 M6 EMH6-80 6 25 80 M6

EMH8-65 8 28 65 M8 EMH6-160 6 25 160 | M6
Hskson _EMH10-65 10 35 65 | MI0 EMH8-80 8 28 80 M8

EMH12-80 12 42 80 | M12 EMH8-160 8 28 160 | M8

EMH16-80 16 48 80 | Mi4 EMH10-80 10 35 80 | M10

EMH20-80 20 52 80 | M16 EMH10-160 = 10 35 160 | M10

EMH6-65 6 25 65 M6 EMH12-80 12 42 80 | M12

EMHB-100 6 25 100 | Ms EMH12-160 = 12 42 160 | M12

EMH6-160 6 25 160 | M6 EMH14-80 14 44 80 | M12

EMH8-65 8 28 65 M8 Hskioon_EMH14-160 | 14 44 160 | M12

EMH8-100 8 28 100 | M8 EMH16-100 = 16 48 100  M14

EMH8-160 8 28 160 | M8 EMH16-160 | 16 48 160 | M14

EMH10-65 10 35 65 | M10 EMH18-100 | 18 50 100 = M14

EMH10-100 | 10 35 100 | M10 EMH18-160 | 18 50 160 = M14

EMH10-160 10 35 160 | M10 EMH20-100 | 20 52 100 | M16 .

EMH12-80 12 42 80 | MI2 EMH20-160 = 20 52 160 | M16 gsg

EMH12-160 | 12 42 160 | M12 EMH25-100 | 25 62 100 | M16 D=
HSKB3A| EMH14-80 14 44 80 | M12 EMH25-160 | 25 62 160 | M16 ;

EMH14-160 | 14 44 160 | M12 EMH32-100 | 32 75 100 | M20

EMH16-80 16 48 80 | M4 EMH32-160 | 32 75 160 | M20

EMH16-160 | 16 48 160 | M14

EMH18-80 18 50 80 | M4

EMH18-160 | 18 50 160 | M14

EMH20-80 20 52 80 | MiI6

EMH20-160 20 52 160 | M16

EMH25-110 | 25 62 110 | M16

EMH25-160 | 25 62 160 | M16

EMH32-110 | 32 75 110 | M20

EMH32-160 | 32 75 160 | M20

Taper : AT3 | Coolant: AD/B

89 www.iwidin.com



4084v

d4311NJ 3aIS

SIDE CUTTER ARBOR

L1 30

G1

q

L 2](3.5.7.8.10.12)

H1

D1

MAS403 BT-SCA

mm

CORENG H1 W1 a1 |WEIGHT| CODENO.
INCH [METRIC| INCH |[METRIC (kg)
SCA12.7 60 13 50
SCA12.7 g | 20 - - - - M12X1.75 SCAT3 oo
SCA15.875 75 14 75
SCATE.675 s | 26 1742 172 318 4 M1X15 SCA16 | o
BT40 | SCA22.225 75 75 |0 75
SCAZ2 275 g | 34| 2382 236 318 6 M20X15 g SCAZ2 o
SCA25.4 75 71 o
SCAZ54 g 40| 2778 | 290 635 7 M24X20 5 SCAZ7 |~
SCA31.75 90 | 46 | 3492 | 340 | 7.92 8 M30X2.0 | 25 SCA32 | 90
SCA12.7 75 37 75
SCA12.7 105 20 i : - - MI2X1.75 ¢ SCA13 e
SCA15.875 90 4.0 90
SCATE875 o | 2 1742 172 318 4 M1X15 SCA16 o0
SCA22.225 0 a4 2382 236 | 318 6 Maox1s 3 scazz 0
SCA22.225 135 16 135
BTS0 SCA25.4 90 47 BT50 a0
SCAZEA g5 40| 2778 | 290 635 7 M24X20 SCAZ7 o
SCA31.75 90 51 %0
SCAZT 75 g5 | 4| 3482 | 340 | 792 8 M30X20 SCA32 o
SCA38.1 90 =8 %0
SCA38.1 195 95| 4206 | 425 | 952 10 M36X30 | — o SCA40 o
Taper : AT3

< JIS B4206, JIS B4219, JIS B4107, JIS B410929] Side + Using with Side Cutter standard JIS V4206, JIS B4219, JIS B4107, JIS

Cutterg AtSgiLICH B41092.
« Key 2 CollarRes Arbor0f £2z(0] &L,
« 32 CutterZ MQIgh ZHULICE,

+ Key and Collars to be supplied with the Arbor.
« Specified weight are not including Cutter weight.

@lnm 90



FACE MILL ARBOR

MAS403 BT-FMA

mm

CODE NO. WEIGHT
(kg)
BT30 45 1.3
FMAZ25.4 22 50 95 33 1.5
90 10 3.1
BT40 45 1.7
FMA31.75 75 30 60 12.7 40 31
FMA38.1 60 34 80 15.9 50 14 2.9
45 3.7
FMAZ25.4 90 22 50 95 33 4.6
150 55
45 10 45
FMA31.75 75 30 60 12.7 40 53
BT50 105 6.1
FMA38.1 4 34 80 15.9 50 43
75 5.6
45 14 49
FIMA50.8 36 98 19 65 6-8
FMAA47.625 75 38 128.57 25.4 - - 7.7
Taper: AT3

« Y2 FACE CUTTERE H|@/st ALt
« Specified weight are not including Face Cutter.

91

www.iwidin.com

d40a4v
AERE]



d40a4v
MAERNE

FACE MILL ARBOR

L1

Fig.1

DIN69893 HSK-FMA

mafl ¢
D!
01

[

1

Fig.3

CODE NO.
__HSK50A | FMAZ25.4 60 22 50 95 33
HSKB3A FMA31.75 65 30 60 12.7 40
FMA38.1 34 80 15.9 50
FMA25.4 60 22 50 95 33
FMA31.75 65 30 60 12.7 40
HSK100A FMA38.1 34 80 15.9 50
FMA50.8 75 36 98 19 65
FMAA47.625 80 38 128.57 25.4 -
Taper: AT3

@lnm 92




FACE MILL ARBOR

MAS403 BT-FMB

WEIGHT
INCH | METRIC o D4 14 (kg)
BT30 45 1.7 | BT30 45
FMB25.4 | 60 80 95 12 - - 33110 25 FMB27 | 60
BT40 90 47 | BT40 90
FVMB38.1 | 60 85 15.9 16 - - 50 | 14| 74 FMB40 | 60
45 1 4.0 45
FMB25.4 | 90 26 80 95 12 - - 33 10| 58 FMB27 | 90
150 8.2 150
45 4.7 45
BT50 FMB38.1 | 75 85 15.9 16 - - 50 | 14 6.1 BT50 FMB40 | 75
105 ’ 8.7 105
AVBBIF | 75 9 110 M12 | 66.7 6.6 FMBAQF 75
- - 25 140 254 | M16 | 1016 | - 7.9 FIMB60
Taper : AT3

« Y2 FACE CUTTERE HQlet ALt
« Specified weight are not including Face Cutter.

93  www.iwidin.com

d40a4v
AERE]



FACE MILL ARBOR

MAS403 BT-FMC

Fig.1

mm

CODE NO. " W1 a1 WEIGHT |CODE NO..
INCH | METRIC

BT30 14 | BT30 40

- - 18 45 - 10 M10X30 13 FMC22 | 45

2.0 90

60 15 60

BT40 | FMC25.4 %0 20 70 9.5 12 M12X35 5o | BT40 FMC27 o

60 2.3 60

FMC38.1 B 22 85 15.9 14 M16X35 26 FMC32

4.2 60

- - 18 45 - 10 M10X30 47 FMC22 105

5.3 150

45 4.1 45

BT50 | FMC25.4 90 20 70 9.5 12 M12X35 5.5 | BT50 | FMC27 | 90

150 7.3 150

45 4.2 45

FMC38.1 75 22 85 15.9 14 M16X35 5.5 FMC32 | 75

105 7.0 105

Taper: AT3

P
DO
Sz

« 52 FACE CUTTERE X 2let ZALCt,
« Specified weight are not including Face Cutter.

@mﬂv 94



FACE MILL ARBOR

L1

TN

iy

Fig.1

=)

|

fSi

L]
A

N

DIN69893 HSK/A-FMC

G!

Fig.2

—

mm

CODE NO.. W1
2 METRIC il
FMC16 45 17 38 8 M8X3.0
HSK40A FMC22 45 18 45 10 M10X3.0
FMC16 45 17 38 8 M8X3.0
FMC22 50 18 45 10 M10X3.0
HSK50A FMC27 50 20 70 12 M12X3.5
FMC32 50 22 85 14 M16X3.5
FMC16 60 17 38 8 M8X3.0
FMC22 60 18 45 10 M10X3.0
HSKB3A FMC27 60 20 70 12 M12X3.5
FMC32 60 22 85 14 M16X3.5
FMC16 75 17 38 8 M8X3.0
FMC22 75 18 45 10 M10X3.0
HSKT00A FMC27 75 20 70 12 M12X3.5
FMC32 75 22 85 14 M16X3.5
Taper: AT3

95 www.iwidin.com

d40a4v
AERE]




FACE MILL ARBOR

+ JIS B4113 Face Miill
KOREA TUNGSTEN, KORLQY, IGETALLOY, MITSUBISHI,
TUNGALOQY, DI JET, HITACHI

DIN2080 NT-FMA

mm

CODE NO.
TAPER |
FMA25.4 22 50 95 33 0
NTao | TMA31.75 30 60 12.7 40
FMA38.1 34 80 15.9 50 "
FMAS0.8 30 1 36 98 19.05 65
FMA25.4 22 50 95 33 0
FMA31.75 30 60 12.7 40
NT50 | FMA38.1 34 80 15.9 50 "
FMAS0.8 28 36 97.5 19.05 65
FMA47.625 45 2 38 12857 25.4 - -
5=
WO
o}

« Draw Blot £ X|H5HIAIL.
of) NT5S0M=FMA25 . 4(METRIC SIZE),
NT50U-FMA25 . 4(INCH SIZE)
« Draw Blot & X|HaHX&S 42 NT40, NT502 INCH SIZE 2
EDELICE

bolt.

+ Please make designate the Draw Bolt dimension between Inch and
Metric depend on using Face Mill.
+ Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

@mm 9%



SHELL END MILL ARBOR

+ JIS B4214 SHELL END MILL &
« For JIS B4214 Shell End Mill

MAS403 BT-SMA o
CODE NO. WEIGHT |  CODE NO..
(kg)
SMA15.875 17 34 20 7 09 SMA16
BI30 “smazzazs | 20 27 42 28 9 10 210 oz 30
60 13 60
SMAT5.875 17 34 - 20 A SMA16 120
60 14 60
SMA22.225 27 42 28 9 X SMA22 120
BT40 | smazs.4 45 36 50 33 S 1A BT gy iagg 45
105 23 105
45 10 10 16 45
SMA31.75 oe %8 60 40 53 | SMA32 75
SMA38.1 60 80 12 50 14 3.0 SMA40 60
75 4.2 75
SMAT5.875 " 17 34 20 7 £ 3 SMA16 120
75 - 43 75
SMA22.225 | 120 27 42 28 9 4.8 SMA22 120
180 55 180
60 43 60
BT50 = SMAZ25.4 105 36 50 33 52 | BTS0 | SMA27 105
150 5.8 150
45 10 10 4.2 45
SMA31.75 75 60 40 5.2 SMA32 75
105 | 38 6.2 105 22
45 4.3 45 St
— =<
SMA38.1 = 80 12 50 14 c SMA40 0 =
Taper: AT3

NOTE
« S22 FACE CUTTERE Melst AULICEH,
« Specified weight are not including Face Cutter.

97



H0guv
TN T13HS

SHELL END MILL ARBOR

+ JIS B4214 SHELL END MILL &
* For JIS B4214 Shell End Mill

DIN69893 HSK/A-SMA

CODE NO. CODE NO..

SMA15.875 30 17 34 i 20 7 SMA16 30

HSK50A | SMA22.225 27 42 28 9 HSK50A SMA22
SMAZ25.4 50 36 50 10 33 10 SMA27 50
SMA22.225 27 42 = 28 9 SMA22
SMAZ25.4 36 50 33 SMA27

HSKG63A SMA31.75 60 38 60 10 40 10 HSK63A SMA32 60
SMA38.1 38 80 12 50 14 SMA40
SMA22.225 27 42 - 28 9 SMA22
SMAZ25.4 50 36 50 33 SMA27 50

HSK100A SMA31.75 38 50 10 40 10 HSK100A SMA32
SMA38.1 60 38 80 12 50 14 SMA40 60

Taper: AT3

Qo #



CENTERING PLUG

Draw Bolt

DIN2080 NT-CPI

NT50

CODE NO. D1 L1
CP147.625 47.625 38
CPI60 60

DRAW BOLT

INCH METRIC

1"-8UNC ‘

mm

M24X3.0

TAPER SLEEVE ADAPTER

MAS403 BT-TSA

Draw Bolt

mm

CODE NO. WEIGHT (kg)
BT50 gﬁigm';: BT50 1S040 70 75 c /’f\;ﬂl%fvc 48
TAPER SLEEVE ADAPTER
b
DIN2080 NT-TSA -
CODE NO. \ T1 \ T2 \ D1 \ L1 \ G1
NT50 igﬁigff% NT50 ‘ 1S040 ‘ 70 ‘ 75 - O/BNIUNG &1;22’0

* Draw Bolt2 XIHotAIR.
oil) NTS0M-TSA40(METRIC SIZE), NT50U-TSA40(INCH SIZE)
+ Draw Bolt & XIH5IX| 22 A2 NT502 INCH SIZE2 &1 gL Ct,

Metric.

bolt.

+ Please make designate the Draw Bolt dimension between Inch and

« Unless any notifying, NT40 and NT50 will be supplied with Inch Draw

99

IAFTTS H3dVL







TAPPING CHUCK

MAS403 BT-TC

[Compl  F1,_ LLF2 [Tensior]

mm

CODE NO. TAPP'SG GALGE D1 | D2 L1 F1 F2 Wfkls)HT COLLET
BT30 | TC0312-130 130 1.5
S0 7C0312-135 2-12 1/4-1/2 1/8 32 | 45 135 6.5 12 18 SES1
TC0822-160 8-22 5/16-7/8 1/8-1/2 50 | 62 | 160 | 145 | 13 26 SES2
TC0312-150 150 4.2
7C0312-210 2-12 1/4-1/2 1/8 32 | 45 210 6.5 12 53 SES1
BT50 | TC0822-175 175 5.4
TC0822-225 8-22 5/16-7/8 1/8-1/2 50 | 62 275 145 | 13 65 SES2
TC1638-240 16-38 5/8-13/8 1/4-11/8 72 | 88 | 240 20 20 7.8 SES3
Taper: AT3
- & 4ee2 Floating of22 = 3|X1t Pitch?| HAE 46104 « tis floating toward Axial so that absorb a tolerance of pitch and spindle
XO| mpAS BIX|RILIC rotating and it will prevent a broken tool.

* Tap Collet & One Touch 2 Al&5tm ZICEH| meHEL|C),

—

EHZIX AI2HMH Operating of Taping Chuck

« Easy and Quick change Tap with one touch type Tap collet.

m
T2
F2

At

F2X1.5

Forward rotation dwell time (sec)
Reverse rotation dwell time (sec)
Tension shile idle rotation

Pich of tap

Spindle speed (rpm)

Spindle running time corresponding
to the number of rotation (sec)

Approach Point

| o 0]

Feed

rY AN
A0S

Cutting Feed

e
T Self Propel

* 01BFX

F2(Dwell T2) Feed Stop

T F2X60 g
PXN
Fp- _F2X(0.7-1)X 60
PXN

Nss=r e

Finishing 1]
01& o ‘

Ol v Feed

Start Feed (Dwell T2) . Tf%qo%l . ( ‘

oy . elf Prope +

Backlashing ( ‘

MCIFEPSIN
Rotating Stop

101

AONHD HNIddVL




MINHI ONIddVL

TAP COLLET

SES

TAPPING RANGE

CODE NO.

L2 L1

mm

L1 CHUCK CODE

SES-1 2-12 1/4-1/2 1/8 19 32 25 215 TC0312

SES-2 8-25 5/16-7/8 1/8-1/2 31 50 33 355 TC0822

SES-3 16-38 5/8-13/8 1/4-11/8 48 72 45 55.5 TC1638
Ase2 Z3[¢6te « Tension and Compression

«Torque QATIER|Z} LHYEOf QU0 TSt A
Tap2l otz g
+Ball Clamp &4

One Touch

TAOP COLLET dEHE}H

« Prevention come out a tap from the chuck by Ball Clamping.

= M 7ol wHo| gon 370 mElol
Weo= Kz o &0| Zietsh| Elict,

TAP COILLET TARSIZE TAP COILLET IARSIZE
2| (SES) METRIC 0 H (SES)
3 . S SES1| 1/8 1/8 8 6
M3 NO5,6 4 3.2 E 1/4 1/4 11 9
M4 M4.5 5 4 S 3/8 3/8 14 11
o M5 M55 55 . . 2 12 12 18 14
2 M U1/4 6 ' ° 5/8 19 15
S Us/16 6.1 5 S 3/4 3/4 23 17
1 M8 M7 6.2 3 7/8 24 19
M10 M9 U3/8 7 55 1 1 26 21
M11 u7/16 8 6 11/8 28
M12 8.5 6.5
S U1/2 9 7
| E M14 M15 Ug/16 10.5 8
S Us/8 12 9
2 M16 12.5
M17 13 10
M18 Us/4 14 11
M20 15 12
M22 u7/8 17 13
E D4 M25 19
S M27 M26 U1 20
3 M28 2
u11/8 22 - Tap Shanks KSUIS) FHLLICH,
M30 23 17 « Tap Shank is JIS{or KS) standard
M32 u11/4 24 19 « M : Metric threads
M33 25 UNC : Unified coarse threads
M35 M34 U13/8 26 PT : Pipe taper threds
M36 M38 28 21 PF : pipe straight threads

o 102



STRAIGHT SHANK TAPPING CHUCK

« B AIPA| 9| IS WX| I Tap0| MiAtg 0| flste
Floating 7I50| LHE=0f UA&LICH

Function of Floating

« In order to prevent of tool when tapping process, our chuck
have function of floating.

28 LIALE O K
- YEt LEAL BIO|ERE 27H58H M3 25 7|4 TAPS2 TAPA
0| ZFsBIUC

Suitability for small thread cutting
« It is able to tapping from M3 tap size.

: \ Sleeve

mm

N-TC
CODE NO.
TC13 3-13 35
N32 TC20 3.20 3 52 1o

NUT | COLLET
45 DN13 ER20
58 DN20 ER32

ER COLLET2} 4 H| W ¥ (Comparison chart between ER collet and Tap)

+ TC13 size are able to use locking bolt from M8
+ TC20 size are able to use locking bolt from M16

mm

COLLET TAP

AONHD HNIddVL

ER20 \ ER32 \ METRIC INCH
04 04 M3
@5 @5 M4, M5
6 26 M6 U1/4
07 07 M7, M8, Mg, M10 U5/16, U3/8
29 29 M11, M12 U7/16, U1/2
012 012 M14, M15
213 213 M16, M17 U9/16, Us/8
015 M18, M20 Us/4
219 M22, M24, M25 u7/8
@20 M26, M27 U1

103 www.iwidin.com



OIL HOLE HOLDER
SYSTEM |

sting Ring
| o3t Auloje &

at and possible to

DDU E4 Hoj2lez
L|Ct.(300rpm)
pecial DDU bearing
300rpm)

|
%+ SealZ
22 Air
=

asion seal and
tis able to using
and Oil-solubility
nd Air coolant.

DL3|H 3l HAlol| o5t FHiE0| ZYXHSE 0|R0]
X|22 5t of ko] Ztiakalo] ORI FILICE.
Increasing Ffficiency

Increasing workability due to chip discharge with
coolnat-water.

BAIR0) ofst BB Y20 B74m0| N
Lict,

Tool life Improvement
Tool life imprevement by cooling a tool with coolant-

Variety of Application
Heavy cutting, Deep hole machining.



OIL HOLE HOLDER

i
L
E
.

f
[0 ] |
ﬂ“ —— [ FF— T —3
4560 | L

MAS403 BT-OHDC
CODE NO. ‘M

mm

MIN | MAX |
OHDC10-165 1.0 10 28 165 5.1 ER16
BT40 | OHDC20-165 2.0 20 50 9.0 65 5.0 ER32
OHDC26-170 3.0 26 63 170 4.9 ER40
OHDC10-175 1.0 10 28 ER16
BT50 OHDC20-165 2.0 20 50 105 175 80 78 ER32
OHDC26-180 3.0 26 63 105 180 80 7.7 ER40
0HDC34-180 5.0 34 78 7.8 ER50
Taper: AT3
NS Usng oo Coolnt vz
+ ZAR AR Al MAX. 3000 rpm Available Pressure 0Oil Hole Type
* 0o AMEAI MAX. 1500 rpm MAX 20kg/cm + Straight Shank Insert Drill
RPM + Straight Shank Carbide Drill
« In case fo using Coolant water : Max. 3000 rpm + Straight Shank HHS Drill

* In case fo using Air coolant : Max. 1500rpm

Stopper Bolt

< FARHO|LE Airt B2 EX| Z= MEfolM == sITsS HoisK] ok + Do not operating the main spindle without Coolant water or Air cooiant.
A2, 279 0t2 2 ECo] LS Xl £HS HEA|IZILICEH, It will cause a shortening tool life and holder life.

« Stoper Bolt2] O—Ring0ll A3 LFGIA| LRIA|F AL . * Please tighten the shank toward the O-ring of Shopper bolt.
LURIT|X| Lo HAlHO| =450 HHIE L W25 80| MEHELICH If did not tighten the shank, the coolant water can be leakage and it

cause come down a cooling efficiency or chip discharge.

105 www.iwidin.com

43070H
JF10H 110




OIL HOLE HOLDER

43070H
F10H 110

MAS403 BT-OHSL

M1

d1

D1

D2

0°-360°

W’Eg

H1

mm

CODE NO. \
OHSL16-160 16
grap | OHSL20-160 20 48 %0 160 65 2
OHSL25-175 25 175 20 5
OHSL32-175 32 50
OHSL16-170 16
OHSL20-170 20 8 17 2
BT50 | OHSL25-180 25 55 105 80 20
OHSL32-180 32 60 180 15
OHSL40-180 40 65 25

I\

M12X1.5

| WEIGH (kg)

5.0
49
48
59

7.7

7.6
7.7
8.8

< HAR AR Al MAX. 3000 rpm

« 0fl0f AFZA| MAX. 1500 rpm
RPM

+ In case fo using Coolant water : Max. 3000 rpm

« In case fo using Air coolant : Max. 1500rpm

NOTE
- TAIHO|Lt Airt BFEIR] 4 Aol F5 BN B

sigere]

Available Pressure
MAX 20kg/cm

tietAl DRYAIR . S++2] DI= & 259

HIHS =
E =g

2H5H

+ Do not operating the main spindle without Coolant water or Air cooiant. It will cause a shortening tool life and holder life.
« Please tighten the shank toward the O-ring of Shopper bolt. If did not tighten the shank, the coolant water can be leakage and it cause come down a
cooling efficiency or chip discharge.

Se2 BEAYU,

AF2E3L (Using Tool : Coolant type)

Oil Hole Type
« Straight Shank Insert Drill

« Straight Shank Carbide Drill
« Straight Shank HHS Drill

r
: A
L1 " | 55
SLEEVE OSL
CODE NO. \ d1 \ D1 L1
16 16
0SL25 20 20 25 48
16 25
0SL32 20 32 32 52
25 16
16 20
20 25
0SL40 P 2 40 62
32 40

@lnm 106



MICRO
BORING BAR




INILSAS ONIH0g

MICRO BORIN UNIT

TR.M

G2B-2CC

INSERT
CCGT 040102

SCREW

52045 L6

| WRENCH

TOP ADJUST 4] Adjusting method of boring dimension(range)

« THOIM R=2FEE otAl HUA DIMEH
Al ReatamngBoIt EZ7 X0|X &= HA
222 oflZ SIU&LICH

+ Adjusting boring dimension(range) on the
front side.

TRIANGLE INSERT (ZARES)

. Realammg Bolt

=2 2gotee
aMAZLCH

s 21

+ Reataining BoltS 2%

BiF Z01ELCH

THOIA Adjusting dialS

oRELC

MDIA| R

8|l:|

Adjusting dialg
X RI7HX| Tool BodyE

k=)
[

=2 0=

CHAL 1/2

» Loosen the Retaining Bolt and turn the
Adjusting Dial and then closing the tool

body to required boring range.

« Fully close the Retaining Bolt and loosen

this bolt by 1/2 turn. Turn the Adjusting Dial

Ho

= on front side.

mm

ORDERNO. | M (Min Bore) | i SCREW | WRENCH
ggggg ggg 15; 13.0 0.2 ;?j TCGT060204 = S1845l5 | WR-25T6
gg@gﬁ g;j 15963 159 | -12 22; TCMT110204 ~ S2555L6 | WR-4T8
S10nTC BT | 127 384 18 96 qoungrag | sssls o1

Brazed Type Unit
« Counter BoringAloll 2F540| =&LICH

« It have high stability when counter boring.

M TYPE m
ORDER NO. R H K | Insert Red.
BRAZED INSERT | Min. Bore |Total Adj. Range | Min. Height | Tool Pt. Offset ’W’m‘ Used As Datum
l\l\ﬂig F E - 123 ;; 6.4 0.4 - 2.0 0.2
FEFE8, E= 48 « F type : For an Iron foundry E type : For Herdened steel

@lDIN



MICRO BORIN UNIT

RIGIBORE 'R' & 'TR’

'R' for roughing & semi-finishing
‘TR’ for fine -finishing

Right Hand Units Shown
Left Hand Units(LH) are mirror Image
Adjustment = 0.07mm/.0004ins

on radius division

UNIT | FIG A1
SIZE

3 A1
90’

Fig A1 90°

45

R
TOTAL RADLAL \ MIN TOOL POINT
MIN~MAX mm
R2A2 | 20.9~25.4 4.5 4.5
TC_06TI(02) | R2B2 | 18.2~20.2 2.0 2.0 9.4 1.35
R2B2S | 15.87~16.62 0.75 0.75
R3A2 | 28-~35.3 7.3 7.3
TC_0902(04) R3B2 | 25-29 40 40 13.45 0.8
TR5A2 | 41.5-52.2 10.7 10.7
TC_1102(04) TR5B2 | 36.5~42.1 5.6 5.6 16.95 23
TR7A2 | 61.5~74.3 12.8 12.8 25.55
TC_1673(08) TR10A2 | 81.5~104.5 23.0 23.0 31.7 04

109 www.iwidin.com

INJLSAS ONIHOE



INILSAS ONIH0g

MICRO BORING BAR

Fig3

MAS403 BT-BCA

mm

WEIGH

CODE NO. i VIS L1 W D2 D3 ka) UNIT INSERT | FIG
BCA13.5-75 135 15.9 75 48 13 - 1.2 | M1B2F-40 -
BCA14.5-75 145 16.9 75 48 14 - 1.2 | M1B2E-40 - 3
BCA16.5-90 16.5 219 90 63 15.5 - 13 | M1A2F-40 -

8730 BCA19-90 19 23 90 63 17 17.5 1.3 | G2B-2CC | CCGT040102
BCA23-105 23 29 105 78 20 - 14 | G3B-2TC | TCGT060204
BCA29-120 29 41 120 95 25 28 15 | G3A-2TC | TCGT060204 3
BCA38-120 38 49 120 95 36 37 17 | G5B-2TC |TCMT110204
BCA46-120 46 66 120 98 38 40 17 | G5A-2TC 'TCMT110204| 2
BCA13.5-105 135 15.9 105 65 13 - 15 | M1B2F-40 -
BCA13.5-180 135 15.9 180 65 13 44 20 |M1B2F-40 3
BCA14.5-105 145 16.9 105 65 14 - 15 | M1B2E-40
BCA14.5-180 145 16.9 180 65 14 44 2.0 | M1B2E-40
BCA16.5-105 16.5 219 105 73 15.5 - 15 | M1A2F-40 3
BCA16.5-180 16.5 219 180 73 155 | 44 2.0 | M1A2F-40
BCA19-120 19.0 23 120 86 17 - 15
BCA19-180 19.0 23 180 86 17 44 20 G2B-2CC | CCGT040102) 3
BCA23-135 23.0 29 135 92 20 - 15 1
BCA23-195 23.0 29 195 | 102 20 50 20 G38-2TC | TCGT060204 3

BT40 | BCA29-150 29.0 41 150 | 108 25 28 15 2
BCA29-195 29.0 41 195 | 113 25 50 2.0 G3A-2TC | TCGT060204 3
BCA38-150 38.0 49 150 | 115 36 37 1.7
BCA38-195 38.0 49 195 | 155 36 50 22 G58-2TC | TCMT110204
BCA46-150 46.0 66 150 | 118 38 40 2.1
BCA46-210 46.0 66 210 = 165 38 50 2.8 G5A-2TC | TCMT110204 )
BCAB2-165 62.0 87 165 | 135 51 50 3.0
BCAG2-225 62.0 87 225 198 51 62 45 G7A-2TC |TCMT16T304
BCA83-150 83.0 108 150 | 123 63 61 35
BCA83-225 83.0 108 225 198 63 61 6.0 G7A-ZTC \TCMT16T304
BCA98-150 98.0 142 150 | 123 75 60 5.0 | G10A-2TC |TCMT16T304| 4

Taper: AT3

o 10



MICRO BORING BAR

Fig1 Fig2

Figh

lue)
(@)
el
z
MAS403 BT-BCA .3
(93]
CODE NO. . p3 | WEGH | ynir INSERT | FIG o
(kg) <
BCA135-120 | 135 | 159 & 120 | 67 13 | 35 | 40
BCA135-195 | 135 | 159 | 195 | 67 13 | s0 | 5o | MIBZFAD ;
BCA145120 | 145 169 | 120 | 68 W% |40 |
BCA145195 | 145 | 169 | 195 | 68 1 50 | 50
BCAI65-120 | 165 | 219 120 | 73 | 155 | 40 | 40 | .o _ 5

BCA16.5-195 | 16.5 | 21.9 195 73 15.5 55 5.0
BCA19-135 19 23 135 81 17.5 18 4.0
BCA19-210 19 23 210 81 17.5 55 45 G2B-2TC | CCGT040102 3
BCA23-135 23 29 135 92 20 - 4.0 1
BCA23-210 23 29 210 102 20 55 5.0 G3B-2TC | TCGT060204 3
BCA29-150 29 4 150 112 25 28 45

BCA29-225 29 4 225 112 25 55 55 G3A-2TC | TCGT060204 3
BCA38-165 38 49 165 122 36 37 45
BCA38-225 38 49 225 167 36 36 5.0
BCA46-165 46 66 165 122 38 45 5.0
BT50 | BCA46-225 46 66 225 182 38 45 55 GbA-2TC | TCMT110204 = 2
BCA46-255 46 66 255 202 38 46 6.0

G5B-2TC | TCMT110204 2

BCAG62-180 62 87 180 137 51 59 6.0
BCA62-240 62 87 240 181 51 59 7.0
BCA62-330 62 87 330 277 51 59 8.5

BCA83-165 83 108 165 122 63 76 6.5 G7A-2TC | TCMT16T304 | 2

BCA83-240 83 108 240 197 63 76 9.0
BCA83-345 83 108 345 293 63 76 12.0
BCA98-165 98 142 165 122 83 79 8.5
BCA98-240 98 142 240 200 83 92 11.5 2
BCA98-345 98 142 345 305 83 92 17.0
BCA132-210 132 | 176 210 172 110 96 12.0
BCA132-315 132 | 176 315 277 110 96 18.5 G10A-2TC | TCMT16T304
BCA166-225 166 | 210 225 187 145 96 13.0 4
BCA166-315 166 | 210 315 277 145 96 18.5
BCA200-210 200 | 244 210 172 178 98 20.0

Taper: AT3

m



INILSAS ONIH0g

MICRO BORING BAR -straignttype

D4

|

|

D3|
D2 IS
ﬁ‘ Z

D2
g

|
D1h\ =
Z
5

Fig2
Fig1
* L1 UNIT
=
K20:60 ”
K32, K42:100 Flg
L2
‘ L UNIT
T =719/
K-BCA m
CODE NO.
BCA13.5-75 13.5 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 145 16.9 14.0 14.0 M1B2E-40 3
K20 BCA16.5-90 16.5 18.0 90 89 15.5 16 M1A2F-40
BCA139-30 19.0 23 85 17 17.5 G2B-2CC |CCGT040102
BCA23-120 23.0 29 120 i 20.0 19 G3B-2TC | TCGT060204 2
BCA29-120 29.0 41 27.0 26.0 G3A-2TC | TCGT060204 3
BCA13.5-75 13.5 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 145 16.9 14.0 14.0 M1B2E-40 3
BCA16.5-90 16.5 18.0 90 88 15.5 16.0 M1AZ2F-40
BCA139-30 19.0 23 80 17.5 18.0 G2B-2CC |CCGT040102
K32 BCA23-120 23.0 29 105 20 19 G3B-2TC 2
BCA29-120 29.0 41 - 27 26 G3A-2TC TCGT060204 3
BCA38-120 38.0 49 120 36 34 G5B-2TC
BCA46-120 46.0 66 - 38.0 36 GHA-2TC TCMT110204 3
BCAB2-120 62.0 87 51.0 40 G7A-2TC |\ TCMT16T304
BCA13.5-75 135 15.9 75 67 13.0 13.0 M1B2F040
BCA14.5-75 145 16.9 14.0 14.0 M1B2E-40 3
BCA16.5-90 16.5 18.0 90 87 15.5 20 M1A2F-40
BCA19-90 19.0 23 86 175 18.0 G2B-2CC | CCGT040102
K42 BCA23-120 23.0 29 105 20 19 G3B-2TC 2
BCA29-120 29.0 41 - 27 26 G3A-2TC TCGT060204
BCA38-120 38.0 49 120 36 34 G5B-2TC
BCA46-120 46.0 66 i 38.0 36 GbA-2TC TCMT110204 3
BCAB2-120 62.0 87 - 51.0 40 G7A-2TC |TCMT16T304

@JIDIN 12



SQUARE BORING BAR

MAS403 BT-BSA

s

D3

(&)

D2
D2

CODE NO.
BSA25-135 25 38 135 105 20 23 8 14
BSA30-150 30 42 150 120 24 27 )
BSA38-165 38 52 30 34 1.7
BSA42-165 42 56 165 135 34 38 10 1.8
BSAL0-165 165 135 2.3
BT40 BSA50-210 50 65 210 180 40 e 13 3.1
BSAG62-180 62 90 180 151 50 57 16 3.4
BSAG62-225 225 196 4.6
BSA72-180 180 153 3.9
BSA72-225 72 1o 225 198 60 60 19 50
BSA90-180 180 153 52
BSA90-225 %0 125 225 198 75 60 19 6.2
BSA25-135 25 38 135 92 20 23 8 4.2 1
BSA30-165 30 42 165 122 24 27 4.4
BSA38-180 38 52 180 137 30 34 10 4.8
BSA42-210 42 56 210 167 34 38 5.0
BSA50-180 180 137 54
BSA50-240 50 65 240 197 40 5 13 5.7
BSA62-195 195 152 6.2
BT50 BSAG62-270 62 90 270 227 50 57 16 7.6
BSA72-195 195 152 7.0
BSA72-285 72 1o 285 242 60 67 19 9.3
BSA90-210 210 167 9.2
BSA90-300 %0 125 300 257 75 81 12.3
BSA105-195 195 154 90 10.7
BSA105-285 105 160 285 244 90 94 25 15.0
BSA130-255 130 190 255 217 110 98 14.5 2
Taper: AT3

+ Square Bolt(2+d Bolt)= MiE 1Al ZHE0] UX| Y&

+ Square Bolt is out of our product range and we do not selling Square

Bolt.

113 www.iwidin.com

INJLSAS ONIHOE




SQUARE BORING BAR

L1 15
L2
™ e N| —
— | - —— 14 Eg oo
©)|
Fig1 w1
B = L1 15
el L2
=
=)
2 v -
o o |95
< - S 5 8la
ha=
Fig2
MAS403 BT-BSB -
CODE NO.
BSB25-135 25 52 135 103 20 22 8 1.6
BSB38-165 38 70 165 133 32 33 10 1.9
BSB50-165 50 90 165 135 40 44 13 25
BSB50-210 50 90 210 180 40 44 13 3.3 1
BT40 BSB62-180 62 115 180 152 50 56 16 3.6
BSB62-225 62 115 225 197 50 56 16 4.8
BSB72-180 72 135 180 153 60 60 19 4.1
BSB72-225 72 135 225 198 60 60 19 5.2
BSB90-180 90 150 180 153 75 60 19 5.4 ’
BSB90-225 90 150 225 198 75 60 19 6.4
BSB25-135 25 52 135 92 20 22 8 4.4
BSB38-180 38 70 180 137 30 33 10 5.0
BSB50-180 50 90 180 137 40 44 13 5.6
BSB50-240 50 90 240 197 40 44 13 59
BSB62-195 62 115 195 152 50 56 16 6.4
BSB62-270 62 115 270 227 50 56 16 7.8 1
BT50 | BSB72-195 72 135 195 152 60 66 19 7.2
BSB72-285 72 135 285 242 60 66 19 9.5
BSB90-210 90 150 210 167 75 80 19 9.4
BSB90-300 90 150 300 257 75 80 19 12.5
BSB105-195 105 190 195 155 90 94 25 10.9
BSB105-285 105 190 285 245 90 94 25 15.2
BSB130-255 130 260 255 217 110 98 25 14.7 2
Taper: AT3
+ Square Bolt(&4 Bolt)= MIE 1Al RFE|0] QUX| U&LICH + Square Bolt is out of our product range and we do not selling Square
Bolt.

@lnm 14



MODULAR BORING
SYSTEM

HOLDER BORING HEAD Clamp System

- Locking System Cf=E o st WHECH 22617 Head?t Holderg ¢4
S22 ElS0| gln HUES SHAsHA| giLct

* A Locking system of Jeil's boring system combine the boring head with
basic holder so that improving boring accuracy without vibration.

Al2 80-90kg/mme| ZMS R[St DOVETAIL Al x&=

Strong Boring Head

* Our boring head keep strongness 80~90kg/mm by using special raw-materil
and it is proper to heavy cutting boring by Dovetail design.

« ot & DIMEEER| WS insert Nose R QAE HEts| W& 4 ez
7tSAl 5|20l 0X|l= MEtHS AAsf6tEE &= ~F0| ZoFLICE,

« Accuracy adjusting of tolerance of insert nose R by single blade so that it
minimize a resistance which effect to the the boring head when machining.




INJLSAS HVINAON

V3H SNId0g

BORING HEAD A1'SSY

HEGEFZE Explanatory Diagram of Boring Head

* FINISHING BORING HEAD * RARGE SIZE FINISHING BORING HEAD

BORING HEAD SELECTION

HEI5|=MEfEH Explanatory Diagram of Boring Head selection

* FINISHING BORING HEAD

. 0
2 401
3= A
dE | —
pa -
ki _EH |
100 a5 RE" AN
300 | T 1—
00 _““=%
00

@lpm 116



BORING HEAD (223l=)

A FINISHING BORING HEAD D ROUGHING BORING HEAD

Lo T*”‘rr-__ L1 _T
| | _—
=== — T | @d T
3 w é_ | S ,{},,L n‘m
\®/ P @_ rale E,'Q :\ ;\\< L

. e
-

Z @
=
- o
= T
CODE NO. L Kg INSERT INSERT SCREW ﬁ;
<O
A2275 400 22 12 34 0.08 CC..0602.. M2.5X5.6 g
A2275 409 2 4 27 15 42 0.18 CC..09T3.. M4X10 <
A3275 409 39 50 32 20 45 0.25 CC..09T3.. M4X10
D2275 400 24 30 22 12 34 0.10 CC..0602.. M2.5X5.6
D2275 409 29 40 27 15 47 0.18 CC..09T3.. M4X10
D3275 409 39 50 32 20 45 0.26 CC..09T3.. M4X10

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO.

A2290 400 24 30 22 12 34 0.08 CC..0602.. M2.5X5.6
A2790 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
A3290 409 39 50 32 20 45 0.25 CC..09T3.. M4X10
D2290 400 24 30 22 12 34 0.10 CC..0602.. M2.5X5.6
D2790 409 29 40 27 15 42 0.18 CC..09T3.. M4X10
D3290 409 39 50 32 20 45 0.26 CC..09T3.. M4X10

17



INJLSAS HVINAON

(V3H 5NId0g

BORING HEAD (223l=)

A FINISHING BORING HEAD

]
|

I

D ROUGHING BORING HEAD

LT
— &S

N
=

CODE NO. L Kg INSERT INSERT SCREW
A4275 300 49 65 42 24 56 0.58 TC..16T3.. M4X10

A5475 300 63 82 54 28 66 1.05 TC..16T3.. M4X10

A4275 300 49 65 42 24 56 0.6 TC..16T3.. M4X10

D4275 402 49 65 42 24 56 0.6 CC..1204.. Mb5X13.1

D5475 300 63 82 54 28 66 1.1 TC..16T3.. M4X10

D5475 402 63 82 54 28 66 1.1 CC..1204.. M5X13.1

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. L Kg INSERT INSERT SCREW
A4290 300 49 65 42 24 56 0.58 TC..16T3.. M4X10

A5490 300 63 82 54 28 66 1.05 TC..16T3.. M4X10

A4290 300 49 65 42 24 56 0.6 TC..16T3.. M4X10

D4290 402 49 65 42 24 56 0.6 CC..1204.. Mb5X13.1

D5490 300 63 82 54 28 66 1.1 TC..16T3.. M4X10

D5490 402 63 82 54 28 66 1.1 CC..1204.. M5X13.1

o 118




BORING HEAD -E&si=

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

CODE NO. L ] INSERT CARTRIDGES
AB875 2CT 300 80 102 68 36 86 2.18 TC..16T3.. 2CT 75300
AB575 3CT 300 100 125 85 50 100 42
A10075 3CT 300 125 160 100 60 100 6.6 TC..16T3.. 3CT 75 300
A20075 3CT 300 160 220 145 60 100 8.96

TC..16T3.. 2CT 75 300
D6875 2CT... 80 102 68 36 86 2.3 CC. 1204 2CT 75 402
D8575 3CT... 100 125 85 50 100 43
D10075 3CT... 125 160 100 60 100 6.8 ggl%i gg ;g 13182
D20075 3CT... 160 220 145 60 100 9.0 B B

A FINISHING BORING HEAD D ROUGHING BORING HEAD

CODE NO. CARTRIDGES
TC..16T3. 2CT 90 300
AB890 2CT... 80 102 68 36 86 218 Lsle S
A8590 3CT... 100 125 85 50 100 42
A10090 3CT.. 125 160 100 60 100 656 gg}%i gg gg igg
A20090 3CT... 160 220 145 60 00 | 896 1204
TC..16T3. 2CT 90 300
D890 2CT... 80 102 68 36 86 23 Lels- e
D8590 3CT... 100 125 85 50 100 43
D10090 3CT... 125 160 100 60 100 6.8 gg}%i gg 38 ?182
D20090 3CT... 160 220 145 60 100 9.0 1208

119

INJLSAS HVINAON
av3H DNIH0g



INJLSAS HVINAON

(V3H 5NId0g

RARGE SIZE BORING HEAD (tH73& 2&slE)

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

:-\."' -
.o

CODE NO. INSERT CARTRIDGES

A30075 3CT 300 220 320 90 93
A40075 3CT 300 290 400 90 12.85 TC..16T3.. 3CT 75 300
A50075 3CT 300 370 500 90 16.25
D30075 3CT... 22 2 10.1

30075 3 0 320 %0 0 TC..16T3.. 3CT 75 300
D40075 3CT... 290 400 90 13.75 CC. 1204 3CT 75 402
D50075 3CT... 370 500 90 16.95 B B

A FINISHING BORING HEAD

D ROUGHING BORING HEAD

‘ T x ... |
1 . PR .

CODE NO. ‘ Kg ‘ INSERT CARTRIDGES
A30090 3CT... 220 320 90 9.3 TC.16T3. 30T 90 300
A40090 3CT... 290 400 90 12.85 CC.1204 3CT 90 402
A50090 3CT... 370 500 90 16.25 B B
D30090 3CT... 220 320 90 10.1 TC16T3. 30T 90 300
D40090 3CT... 290 400 90 13.75 CC. 1204 30T 90 402
D50090 3CT... 370 500 90 16.95 B B

@lpm 120



ROUGHING BORING HEAD

D3

D2

/

£
e

@I[H]I@

\

L1

D1

CODE NO. ‘I\/IIN & VIAX ‘ Kg ‘ INSERT BASIC HOLDER
RBH29 29 38 15 27 37 0.07 CC..0602.. BH2715
RBH38 38 48 20 32 40 0.16 CC..0602.. BH3220
RBH48 48 60 24 42 54 0.23 CC..09T3.. BH4224
RBHGO 60 75 28 54 67 0.40 CC..1204.. BH5428
RBH75 75 100 36 68 70 0.76 CC..1204.. BH6836
RBH100 100 130 50 85 75 1.80 CC..1204.. BH8550
RBH130 130 180 60 100 86 5.5 CC..1204.. BH10060

121

www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




ROUGHING BORING HEAD

L1

(@]
Z o
538
B gz PM
3z
28
: MAS403 BT-RBH
WEIGHT
CODE NO. ‘ MIN ‘ MAX ‘ ‘ BASIC HOLDER ‘ (Kg)
RBH29-142 29 38 115 142 37 BT40-27-130 1.60
RBH38-152 38 48 125 152 40 BT40-32-130 1.70
BT40 RBH48-185 48 60 158 185 54 BT40-42-160 2.40
RBH60-188 60 75 161 188 67 BT40-54-160 2.90
RBH75-211 75 100 184 211 70 BT40-68-200 4.00
RBH29-133 29 38 95 133 37 BT50-27-100 450
RBH29-163 125 163 BT50-27-130 4.60
RBH38-163 38 18 125 163 0 BT50-32-130 470
RBH38-193 155 193 BT50-32-160 490
RBH48-196 48 50 158 196 54 BT50-42-160 5.50
RBH48-236 198 236 BT50-42-200 6.00
RBH60-199 161 199 BT50-54-160 6.20
BT30 RBH60-239 60 5 201 239 67 BT50-54-200 6.90
RBH75-222 75 100 184 222 70 BT50-68-200 7.60
RBH75-282 244 282 BT50-68-260 9.00
RBH100-213 100 130 175 213 75 BT50-85-200 14.40
RBH100-273 235 273 BT50-85-260 16.00
RBH130-284 130 180 246 284 86 BT50-100-260 13.00
RBH130-344 306 344 BT50-100-320 18.00

Taper : AT3

@lpm 122



=)

- NE =y (@)
2 /\%(]:EE
-

D1

BH
CODE NO. 2 WEIGHT (Kg) ‘ (31 (ARBOR SCREW)

22 100 22 12 100 88 34 0.58 22 - 68
27 55 27 15 55 35 42 0.45 27 -610

BT30 27 100 27 15 100 80 42 0.64 27 -610
32 60 32 20 60 37 45 0.45 32-810
32 100 32 20 100 77 45 0.69 32-810
22 50 22 12 50 43 34 1.20 22 - 68
22 100 22 12 80 73 34 1.30 22 - 68
22 80 22 12 100 93 34 1.40 22 - 68
27 55 27 15 55 40 42 1.20 27 -610
27 100 27 15 100 85 42 1.45 27 -610
27 130 27 15 130 105 42 1.60 27 -610
32 60 32 20 60 42 45 1.20 32-810
32 100 32 20 100 82 45 1.47 32-810

BT30 32 130 32 20 130 112 45 1.70 32-810
42 75 42 24 75 46 56 1.30 42 -1014
42 160 42 24 160 131 56 2.25 42 -1014
42 200 42 24 200 171 56 2.75 42 -1014
54 90 54 28 90 51 66 1.80 54 -1220
54 160 54 28 160 121 66 2.80 54 - 1220
54 200 54 28 200 161 66 3.55 54 - 1220
68 160 68 36 160 101 86 2.80 68 - 1624
68 200 68 36 200 141 86 3.90 68 - 1624

Taper: AT3

123 www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




BASIC HOLDER (tilo|%|

Mol

)

o

€= CODE NO. 2 WEIGHT (Kg) ‘ (31 (ARBOR SCREW)
= = 22 80 22 12 80 84 34 4.20 22 - 68
25 22 100 22 12| 100 | 104 | 34 4.35 22-68
o 27 55 27 15 55 51 42 4.05 27 -610
= 27 100 27 15 100 96 42 4.40 27 -610
27 130 27 15 130 126 42 4.50 27 -610

32 60 32 20 60 53 45 3.95 32-810

32 130 32 20 130 123 45 4.60 32-810

32 160 32 20 160 153 45 4.80 32-810

42 75 42 24 75 57 56 415 42 -1014

42 160 42 24 160 142 56 5.20 42 -1014

42 200 42 24 200 182 56 5.80 42 -1014

BT50 54 90 54 28 90 62 66 4.80 54 - 1220

54 160 54 28 160 132 66 5.80 54 -1220

54 200 54 28 200 172 66 6.50 54 -1220

68 115 68 36 115 67 86 4.45 68 - 1624

68 200 68 36 200 152 86 7.20 68 - 1624

68 260 68 36 260 212 86 8.85 68 - 1624

85 200 85 50 200 138 100 7.85 85 - 1630

85 260 85 50 260 198 100 10.65 85 - 1630

85 320 85 50 320 258 100 13.40 85 - 1630

*100 170 100 60 170 108 100 6.15 100 - 2035

*100 260 100 60 260 198 100 12.85 100 - 2035

*100 320 100 60 320 258 100 16.50 100 - 2035

Taper: AT3

« o ILA| OMhE &= 200 OlarELct
+ ®Marks are for below 200mm boring head

@lpm 124



BASIC HOLDER (2E2[0|E 225l|=H})

K-32

032 h6
L

— L

L3

Fig 1

032 h6
L

z,

D1

2

—©

Fig 2

032 hé ‘
|

L2

E,

©
Ls
L3

Fig 3

K32

CODE NO.
22 66 22 12
27 81 27 15
32 85 32 20
42 96 42 24
54 106 54 28

80

66 34 146 22 -68
81 42 161 27 -610
85 45 165 32-810
96 56 176 42-1014
106 66 186 54 - 1220

125 www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




LARGE SIZE ARBOR (ti+38 ottt)

INJLSAS HVINAON
av3H ONIdog

WEIGHT (Kg) | HEAD SCREW
BT50 160 100 60 125 70 90 6.25 M12X45

LARGE SIZE ADAPTER (ti7&& Of&E)

La

T
L
:

et

T

__.@... IS WIS _|._ jﬂ
- B
]
ADAPTER
BTS0 100
AREOR E =
A300, 400, 500

D300. 400. 600
OEfE 22

mm

CODE NO. 2 2 WEIGHT (Kg) | HEAD SCREW

ADT100-50 100 60 50 90 4.6 M12X45

@lpm 126



EXTENSION PIECE

PM1
o
I 101 |1® {T|F
/4 o
L1 L3 L2 ‘
EXTENSION
ARBOR PIECE HEAD
L3
o [ ©11® -1 85

CODE NO. IRE
P22 20 20 0.095
P22 30 22 12 30 0.140 22-68
P27 30 30 0.180
P27 45 27 15 45 0.250 27-610
P32 35 35 0.260
P32 52 32 20 52 0.375 32-810
P42 40 40 0.480
P 42 60 42 24 60 0.700 42-1014
P 54 50 50 0.950
P54 75 54 28 75 1.400 541220
P 68 60 60 1.800
P68 90 68 36 90 2.600 68-1624
P 85 70 70 3.050
P 85 105 85 50 105 4.450 85-1630
P 100 80 80 4.600
P 100 120 100 60 120 7.100 100-2035
EXTENSION PIECEZE 0|2&t Zi0| ¢t tit T FLANGE S|
«PM1 = (L1-BT FLANGE S7) + L3 + L2 Thickness of BT flange
« PINZBOHR ARBORS| 20| H%&2 EXTENSION PIECESE F7tat «BT30=22
4 ULICH B 17 0142 oftel BEM0| WHE 4 JOBR H a0 o7
EBHX| QLI - BT50= 38

How to extend the length of boring arbor
+ Pinzbohr's boring head cab be extend a langth with extension
bar(piece)

127 www.iwidin.com

INJLSAS HVINAON

aV3H HNHOo4




:EIEI[HM I=I|h—é.>|:|-|)kl_| :
2| C|HH
[y HEHAIE TOOL

Drill Taper Holder for Drilling Machine, Tapping Machine,
Radial Machine, Large Bore Boring Machine




DRILL TAPPER CHUCKiset

A

lww)]
s}
SDT-MT EZ ME H|2 (Contents of Set) o = a

>

CODE NO. &4 22| [TAP COLLET] % 20 [Adaptor] | SZ=C{[Drill Holder] 4
SDT24 Z T24-M86, M8, M10, M12, M16, M20, M24 J24-6 D24-MT2
SDT33 g T33-M10, M12, M14, M16, M20, M24, M30 J33-6 D33-MT3
SDT52 2 T52-M20, M24, M30, M36, M42, M45, M48 J52-6 D52-MT4

« Cotter Home MES it 717 22 2 SIAESE L= HAR.

=
« In order to selection of Cutter Home, please let us know the model and company of Machine at ordering step.

2 53 [TAPPING RANGE]

=224 [Drill Holder]

METRIC INCH PIPE
SDT24 i i M4 - M24 u3/ne-u7/8 | P1/8-P1/2 (32
SDT33 g g M8 - M3+M35 | U5/16-U 11/4 P1/8-P1 @50
SDT52 g 2 M20 - M60 u7/8-U2 P1/2-P13/4 @75

129



43dvL 114a

DRILL TAPPER CHUCK

DT-MT
CODE No. (ORILLING bR
SDT24 i 2 M4 - M24 U3/16-U7/8 P1/8-P1/2 @32
SDT33 g g M8 - M34,M35 | U5/16-U 11/4 P1/8-P1 @50
SDT52 2 2 M?20 - M60 U7/8-U2 P1/2-P13/4 @75

+ Cotter Home M ?fet 717 22 ! MBS LFHAR,

« In order to selection of Cutter Home, please let us know the model and company of Machine at ordering step.

DRILL TAPPER COLLET

T-M, T-U, T-P

mm
=

CODE NO. [Application Drill Holder]

HEZ&114 [STANDARD SIZE]

METRIC M4, 5,6,8, 10,12, 14,16, 18, 20, 22, 24, 27
T24 INCH U3/16, 1/4, 5/16, 3/8,7/16, 1/2,9/16, 5/8, 3/4,7/8, 1 DT24
PIPE P1/8,1/4,3/8,1/2
METRIC M8, 10,12, 14, 16, 18, 20, 22, 24, 27, 30, 33, 34
T33 INCH U5/16, 3/8,7/16,1/2,9/16,5/8,3/4,7/8.1,1/8,1/4 DT33
PIPE P1/8,1/4,3/8,1/2,3/4,1
METRIC M20, 22, 24, 27, 30, 33, 36, 39, 42, 45, 48, 52, 60
T52 INCH u7/8,1,11/8,1 1/4,1 3/8,1 1/2,1 3/4,1 7/8,2 DT52
PIPE P1/2,3/4,1,1 1/4,1 1/2,1 3/4

o 130



DRILL TAPPER DRILL CHUCK

DT-MT

=2 52 =5
HODE I, [DRILLING BORE] | [APPLICATION DRILL HOLDER]
J24 DT24
J33 6 6 1-13 DT33
Jb2 DT52

DRILL TAPPER DRILL CHUCK

H3dvL 11Hd

CODE NO =2 5% [APPECiA“TION
[DRILLING BORE]| o
D24 MT1, MT2, MT3 2.0-32 DT24
D33 | MT1, MT2, MT3, MT4 2.0-50 DT33
D52 | MT2, MT3, MT4, MT5 14.1-75 DT52

(GAP)

3 |
0 Q. — S X 9 £ SO IHA| SM ZHS 511 OB BHI9 £80| 25X 4O
il ~] 6ap adjusting bolt) o £ HE A 2 Loz 50| M =20 0|HEl= 0| UHLIC
} I zass 1. 2Rl 2 & U S S0I2 MUl A 20| FOIR| B 7R SM £ 2
| T (Clamping bolt) ez mxsNLC
228 = _ % sz 25| 8
Sl 2. W3 =ES HT 3 2H0) MYsiol £ A W £ BCIS HHG| TN A
. 2 20| XfEez 209l g0l YRI==AIE Sleuct
(Chuck body) . . . N
1. Insert the Drill chuck or Drill holder into the body and then adjusting the Gap
c2H 8 EuEd adjusting bolt till set the steel ball on position.

Drill chuck and Drill holder) X i :
2. After clamping the Clamping bolt, and check that the steel ball has been fixed on

position by slowly rotating the Drill chuck or Drill holder.

131



S3140SS333V

TOOL SETTING STAND

TSS
ZZ H3S|| (Prevent Main Spindle)

‘BT MY L B AE|C 2E HZA 20 HolHRO| AN

Yol 52 S

« Prevent the Holder taper(shank) when clamping the PS bolt
and setting-up a tool so that prevent the main spindle after
assembling a toolholders into the main spindle.

ZHEst 2E 2! (Easy Clamping)

+ Ratchet handle 0f 2J5t0 EAEE 2E 2EES 7HHGH
ShLCt.

« Easy clamping of P/S bolt by Rachet handle.

« Easy setting-up a tool by complete holding a toolholders.

EEETE
LIEDE 0. ‘ [APPLICATION HOLDER]
TSS 40 BT 40
TSS 50 BT 50

- LiApESler 2oz ZolLict,

+ Clamping P/S bolt by human
power

-
RS

2 SHE DEEun

« Fixing the holder by turning Cap

handle

- A ABICO| HUEH0f ratchet - BABT Y W B4 HAS
handle2 2. LICk.

+ Closing and turn the rachet « Setting-up a tool
handle

o 132



HSK TOOL SETTING STAND

DING9893 HSK-TSS
CODENO. | ZEEZC{APPLICATION DRILL HOLDER]

As BT 30 [KEYgi= TYPE]
TSS-BT30(I42) [For without Head Home]

TSS-BT30-2 BT 30

TSS-BT40-2 BT 40

TSS-BT50-2 BT 50

TSS-HSK40 HSK40

TSS-HSK50 HSK50

TSS-HSK63 HSK63

TSS-HSK100 HSK100

S31H0SS3AJV

BT TOOL SETTING STAND

MAS403 BT-TSS

22

CODEND. | (appl|CATION DRILL HOLDER] ‘ e

TSS-BT30AL BT30

TSS-BTA0AL BT40 A
TSS-BT50AL BT50

TSS-HSK 40 HSK 40

TSS-HSK 50 HSK 50 ;
TSS-HSK 63 HSK 63

TSS-HSK 100 HSK 100

133



S3140SS333V

TOUCH SENSOR

10 38

115

AEA T 2 4 A= w2 AT ZSEH SAl0f Bi Bi 501
ECEEE,
DAl MIEf, 22 ojtl, S o, BE oA S5 24E [0l
AR HE0l| MLt

+ Stylus®| Sheel Ball ZEIRIE ZotHE ATZ0| AfE5104 o
&2 YXELCH

* Battery AG13X2Pcs7t AFSELICY

X Z918E2 Floating0| x| 202 7% ZEA| 0jeo| 2247} Qo
92 X, YA TouchZ%t AF20] 7F5 &Lt

Z0P-50
QICIAOIE A 7% £

“NC7I7 BaBo2 £0| ¥ Zolol H2E AFol AIgEU
O (AE, 2B 0kl HEt 9 YUBI |0 ) 21
AOIES wale B0l Bolstoy g0l Hats| ZHE 4
Lk,

« HO|A =0| 50mm

+HU= 0.01mm

MAGNETIC BASE MASTER

HP-100

C|A0IE A 75 £F7|

* MEAM7E SKS3FH g5t =7t Hre600ld HarlE
o= HEo| Qls

 TO[Z0IXIE Wz 2T ofF SHA| o

b

2N
- H0]A &=0] 100mm

+ ™= 0.01mm

ZDI1-50/ZD1-100
QICIAO|EIA 75 £F7|

< NC7IA 22302 50| & 2019 M=z7 ol A=EU
o (3, 28 HAIE AEL 9 LRZET[H o] Akg) 21T
7|0[H A2 H=0| Z0lstH 2X(Q10| Fate] ZFE 4 U
ECI=S

- H|0]A =0[ 50mm

« ™Yz 0.01mm

@lDIN



PULL STUD BOLT

Q¥

D1
L

(1S07388, PS-G TYPE)

2 7200l +E50 UAX| 2 F AFHE EEE FE A|

(P TYPE)

(DING9872 TYPE)

« Other size can be supplied based on order made.

PS
CODE NO.
1 45°
P30T 2 " 7 12.5 16.5 23.0 43.0 60° M12
3 90°
1 45°
P40T 2 15 10 17 23.0 35.0 60.0 60° M16
3 90°
1 45°
P50T 2 23 17 25 38.0 45.0 85.0 60° M24
3 90°
HP40T(PSG) 51 19 12.5 17 22.0 19.1 441 A50 M16
HP50T(PSG) 41 29 20.8 25 37.0 25.2 65.2 M24
SK40(DING9872) | 309 19 14.0 17 23.0 26.0 54.0 750 M16
SK50(DING9872) | 512 28 21.0 25 36.0 34.0 74.0 M24
JIS(6339) 1 19 14 17 23 29 54 75° M16

135

S3IHOSS3AAV




av3H 319NV

ANGLE HEAD

R.PM:10,000
KW:3.5
N ]
2 MAX.16

R.PM:3,000
KW:5
L ]
@ MAX.16

R.PM:2,500
KW:14
L ]
@ MAX.26

CA-3-DCC34

R.PM:2,000

L ]
2 MAX.34

oL
[
(e 12

CODE NO.
SHANK 30/40 40/50 50 50
WEIGHT(kg) 4 7710 14 24

Z+2=H| Reduction Gear Ratio

1:1

1:1

1:1




ANGLE HEAD

CAR

DOUBLE INDEXING MAXIMUM VERSALITY

%4

R.PM:4,000 R.PM:4,000 R.PM:3,500
KW:3.5 KW:6 KW:10
LT ] LT ] LT ]
2 MAX.16 2 MAX.20 2 MAX.26

-, Calked
[=Car g
(7= i)

. Gulst
L 14

[#50-24)

CODE NO.
SHANK 40/50 50 50
WEIGHT(kg) 8.5/12 13 25

Z+2~H| Reduction Gear Ratio

1:1 1:1

1:1

<k 2 7 ANl S FESHIAIR.

« The dimension of “*" mark are depend on Machine.

137 www.iwidin.com

av3H F19NV



SPINDLE SPEEDER

MV

43033dS
F1ANIdS

.
N

qm oY HToox

:i

R.PM:5,000

KW:18
/T ]

2 MAX.34 or 40/50

|
ﬁm

R.PM:10,000
KW:6
I
2 MAX.16

ot ST

10 CompactstAl A =EH T

R.PM:8,000 R.PM:8,000

KW:9 KW:7

/| ] /T ]

@ MAX.26 or 40 7 MAX.20
MV-7 MV-8

F

=
/

P

P

R.PM:15,000 R.PM:18,000
KW:4 KW:2
] [
@ MAX.13 @ MAX.10

+ Smooth and quiet running

* Precise and rigid compact manufacture

« Very high output per tool

» No maintenance, greased for life

« Great rigidity and high precision to be adapted to any model of machine
« Increase the tools machine life

o 138



SPINDLE SPEEDER

CODE NO. MV-3 MV-4
SHANK 50/60 50/60 50 50 40/50 30/40
RPM 5,000 8,000 8,000 10,000 15,000 18,000
RPM MAX. 6,000 10,000 12,000 12,000 18,000 20,000
Zt£H| Reduction Gear Ratio 1:4 1:35 1:6 1:6 1:7 1:5
L1(mm) 215 186 180 130 122 110
D1(mm) 300 236 150 120 105 80
D2(mm) 34 26/34 2-20 1-16 1-13 0.5-10
COLLET DC-34 DC-26 DC-20 DC-16 DC-13 DC-10 )]
WEIGHT(kg) 65 25 15 7 5 2.5 m=
oo
oM

COOLANT

HZEAIF (Standard)

ZEA (Order Mate)

< * 2 7MY 3 FESHIAR.

+ The dimension of “+" mark are depend on Machine.

CAET] 222 7 Ao 9 F2sl0f Fu
IS

« Stopper block to be supplied separately depend
on Machine

139

www.iwidin.com






DATA

‘BT SHANK
-COTTER GROOVE H|u =
-BORING &A=
-DRILL HAf =
-ENDMILL HAb =A
‘REAMER Z4f =4
TAP ZAt =
-TWIST DRILLS| TROUBLE CHH
‘REAMERS| TROUBLE CH24
-BURNISHING DRILL2| TROUBLE CHZH
-ENDMILLS| TROUBLE CHZH
-AtO| TROUBLE CHZY

2 TORQUE

TAP HOLE DRILLZ
-TAPER STANDARD




viva

BT-SHANK

Gauge Line

7/24 Taper

o|- a— o
|
1! —/T\
L Ly x
L{/[ 0.02 [A
B|
MAS403

NO | ZALE= 518% |

1 TAPER Z=& 75%0[4 A= 95% Of A

2 TAPER Zt=&{gx4} AT3 JIS B06149| AT30H| 2
3 TAPER £0f thst DS RUNOUT TIR0.05

4 TAPER Hof th$t deol RUNOUT TIR0.02

5 TAPER £0f thHst BS] RUNOUT TIR0.02

" 00| ZAI0] CiS BHAl BT30-45:0.06 HE9| 518X|2 it

BT50-60:0.1

7 Lo Zxt +0.2

8 del At H8

9 do| Zxt H12

10 to| At -0.2

11 DO| &t h8

12 Vel Zxt +0.1

13 x9| St +0.1

14 | @9 Zxt -15° @=30°

15 yo| Zx} +0.4

16 | yi1o Zxt -0.4

17 | TAPER 29| gLiAS] SAE TIRO.2 35mm MEoIN S
18 LIAte] M= 6H JIS B2090f o/t

TAPER £ 1.6S YA= 0.8S
19 HEXE AR 3.28
719] 7|Et vV

20 | &, CRACK, = BURR Loz 310l

21 o HAAH 0]Q)0ll= WYX
22 |zl

23 | AE SMC415

ot | e 20]:0.8-1.0 %Mﬁ ZIER]

HRC 55-62 ZlEtHo| A=

@mﬂv 142




COTTER HOME (ZEiE H|1%)

H| SAto] et 22 K|
L2, WiE eisdile,

|

MT NO.

L2

L1

15 15.5 8.2 5° YR130
Yoshida Y 18 15 8.2 5° YRD1000
9 21 8.2 5° YD3-65
MT4 5 18 8.2 5° R2000
Ooya 0 9 " 8.2 5° RA2-1300
10 10 8.2 5° RE1250A
Kurama K 26.3 295 12.2 5°
Aoyama A 44 40 13 5 ATB-3
Okuma B 27 41 12.4 5°
Ikegai | 52 85 13.2 5°
Kurashiki K 53 35 13.2 5
Nomura N 27 38 12.2 8° AFB-4
MT5 Shinada S 37 37 16 0°
Toshiba T 50 35 13 0°
Voshida y 25 20 20 &® YRD700
9 BEks) 8 O YDD700
15 25 12.2 5 RE3-2000
Ooya 0
14 20 12.2 5° RE-2500
710115 K 54 4.3 16.2 0°
HessY D 52 45 16.2 5°
Aoyama A 50 38 19.3 5°
Okuma B 37 485 16.4 5° DRB3000
MT6 lkegai | 52 45 16.2 5°
Kurashiki K 54 41 16.3 5°
Nomura N 27 42 16.2 8°
Shinada S 54.5 475 19.3 0°
Toshiba T 54 40 16.2 0°

143 www.iwidin.com

viva




viva

A= ol& EAJO| A= EAo]

V(m/min) (mm/rev) V(m/min) V(m/min) (mm/rev) V(m/min)

24-30 110-140 0.05-0.15 0.05-0.30 100-130 0.15-0.25 4.2

29-40 115-150 0.05-0.15 0.05-0.30 105-140 0.15-0.30 5.7

EtAZ} 39-50 115-150 0.05-0.15 0.06-0.35 105-150 0.20-0.30 5.7

(S45C, S50C) 49-102 115-150 0.15-0.20 0.06-0.35 105-150 0.25-0.35 6.3
100-220 115-150 0.15-0.20 0.07-0.50 105-150 0.30-0.40 6.3

220-500 100-130 0.15-0.20 0.07-0.50 105-150 0.30-0.40 6.3

24-30 110-140 0.05-0.15 0.05-0.30 90-120 0.15-0.25 4.2

29-40 110-150 0.05-0.15 0.05-0.30 100-130 0.15-0.30 5.7

stzzt 39-50 110-150 0.05-0.15 0.06-0.35 100-130 0.20-0.30 5.7

(SCM, SNCM) | 49102 110-150 0.05-0.20 0.06-0.35 100-130 0.25-0.35 6.3
100-220 110-150 0.05-0.20 0.07-0.50 100-130 0.30-0.40 6.3

220-500 110-150 0.05-0.20 0.07-0.50 100-130 0.30-0.40 6.3

24-30 70-100 0.07-0.15 0.12-0.35 60-90 0.12-0.20 42

29-40 80-110 0.07-0.15 0.12-0.35 70-100 0.15-0.25 5.7

AHQIZAZ 39-50 80-110 0.07-0.15 0.20-0.50 70-100 0.15-0.25 5.7
(SUS) 49-102 80-110 0.10-0.20 0.20-0.50 70-100 0.20-0.30 6.3

100-220 80-110 0.12-0.20 0.25-0.75 70-100 0.25-0.35 6.3

220-500 80-110 0.12-0.20 0.25-0.75 70-100 0.25-0.35 6.3

24-30 75-100 0.07-0.15 0.12-0.35 60-110 0.20-0.30 42

29-40 80-115 0.07-0.15 0.12-0.35 60-110 0.25-0.35 5.7

EST 39-50 80-115 0.07-0.15 0.20-0.50 60-110 0.25-0.35 5.7

(FC) 49-102 80-115 0.12-0.20 0.20-0.50 60-110 0.30-0.40 6.3

100-220 80-115 0.12-0.20 0.25-0.75 60-110 0.30-0.45 6.3

220-500 80-115 0.12-0.20 0.25-0.75 60-110 0.30-0.45 6.3

24-30 150-300 0.05-0.15 0.12-0.35 120-300 0.20-0.30 4.2

29-40 150-360 0.10-0.20 0.12-0.35 150-370 0.25-0.35 5.7

anils 3950 150-360 010020 | 020-0.50 150-370 0.25-0.35 5.7
(A‘:'C)O 49-102 150-360 0.10-0.20 0.20-0.50 150-370 0.30-0.40 6.3

100-220 150-360 0.10-0.25 0.25-0.75 150-370 0.30-0.45 6.3

220-500 150-360 0.10-0.25 0.25-0.75 150-370 0.30-0.45 6.3

24-30 30-40 0.75-0.15 0.12-0.35 25-35 0.12-0.20 42

29-40 40-45 0.07-0.15 0.12-0.35 30-40 0.15-0.25 5.7

EA7} 39-50 40-45 0.07-0.15 0.20-0.50 30-40 0.15-0.25 5.7

(SKD61) 49-102 40-45 0.10-0.20 0.20-0.50 30-40 0.20-0.30 6.3
100-220 40-45 0.10-0.20 0.25-0.75 30-40 0.25-0.35 6.3

220-500 40-45 0.10-0.20 0.25-0.75 30-40 0.25-0.35 6.3

@lpm 144



A
T=

2=0|

[ =1

= ar=)
(FC25) (AC4A, ADC)
NN HASE HASE HASE HAAE
22-30mm/min 20-25mm/min 8-12mm/min 32-40mm/min 63-100min
oI5 oI5

(mm/rev) (mm/rev) (mm/rev) (mm/rev) (mm/rev)

1 8,000 | 0.03-0.05 7,000 | 0.03-0.05 3,200 | 0.03-0.05 11,500 | 0.04-0.06 20,000 | 0.06-0.09
2 4,000 | 0.06-0.09 3,500 | 0.06-0.09 1,600 | 0.06-0.09 5,700 | 0.08-0.11 10,000 | 0.12-0.18
3 2,800 | 0.10-0.13 2,400 | 0.10-0.13 1,060 | 0.10-0.13 3,850 | 0.11-0.16 10,000 | 0.20-0.28
4 2,100 | 0.11-0.15 1,800 | 0.11-0.15 800 | 0.11-0.15 2,900 | 0.13-0.19 7,500 | 0.24-0.34
5 1,600 | 0.12-0.18 1,400 | 0.12-0.18 630 | 0.12-0.18 2,260 | 0.16-0.22 6,300 | 0.28-0.40
6 1,320 | 0.13-0.19 1,180 | 0.13-0.19 530 | 0.13-0.19 1,900 | 0.19-0.26 5,000 | 0.34-0.48
8 1,000 | 0.17-0.24 900 | 0.17-0.24 400 | 0.17-0.24 1,400 | 0.21-0.30 4,000 | 0.38-0.53
10 800 | 0.20-0.28 710 | 0.20-0.28 320 | 0.20-0.28 1,120 | 0.25-0.36 3,150 | 0.45-0.63
12 670 | 0.24-0.34 600 | 0.24-0.34 270 | 0.24-0.34 950 | 0.30-0.42 2,650 | 0.53-0.75
13 610 | 0.26-0.36 540 | 0.26-0.36 240 | 0.26-0.36 880 | 0.33-0.44 2,400 | 0.56-0.79
14 570 | 0.28-0.39 500 | 0.28-0.39 230 | 0.28-0.39 820 | 0.31-0.42 2,250 | 0.57-0.81
16 500 | 0.30-0.43 440 | 0.30-0.43 200 | 0.30-0.43 720 | 0.34-0.46 1,950 | 0.61-0.85
18 440 | 0.34-0.49 390 | 0.34-0.49 180 | 0.34-0.49 640 | 0.36-0.50 1,750 | 0.63-0.90
20 400 | 0.36-0.50 350 | 0.36-0.50 160 | 0.36-0.50 570 | 0.40-0.56 1,550 | 0.68-0.98
22 360 | 0.40-0.55 320 | 0.40-0.55 150 | 0.40-0.55 520 | 0.42-0.59 1,400 | 0.73-1,06
24 330 | 0.41-0.60 290 | 0.41-0.60 135 | 0.41-0.60 480 | 0.46-0.65 1,300 | 0.77-1.13
26 310 | 0.42-0.65 270 | 0.42-0.65 120 | 0.42-0.65 440 | 0.47-0.68 1,200 | 0.81-1.20
28 290 | 0.45-0.70 250 | 0.45-0.70 110 | 0.45-0.70 410 | 0.50-0.73 1,700 | 0.84-1.26
30 270 | 0.48-0.75 230 | 0.48-0.75 105 | 0.48-0.75 380 | 0.54-0.78 1,000 | 0.87-1.32
32 250 | 0.51-0.80 220 | 0.51-0.80 100 | 0.51-0.80 360 | 0.58-0.83 950 | 0.90-1.38

145 www.iwidin.com

viva




7
(=]

kgf/mr0|ah) | (O|&A= 50—75kgf/mr)

, E(EA , =E(EE)
ol&
(mm/rev) (mm/rev) (mm/rev) (mm/rev)
1 9,000 71 7,500 53 5,600 36 4,000 20 14,000 100
2 5,600 90 4,500 65 2,800 36 2,000 20 12,500 160
3 4,500 100 3,360 75 2,000 36 1,400 20 11,200 250
4 3,150 125 2,360 85 1,400 40 1,000 2% 8,000 290
5 2,500 140 1,900 95 1,120 45 800 28 6,300 315
6 2,240 150 1,700 100 1,000 48 710 28 5,600 315
8 1,600 180 1,180 118 710 56 500 34 4,000 387
10 1,250 200 950 132 560 63 400 38 3,150 400
12 1,000 190 750 118 450 60 315 38 2,500 375
14 900 180 670 118 400 60 280 40 2,240 855
16 800 170 600 112 355 60 250 40 2,000 345
18 710 165 530 106 315 56 224 40 1,800 345
20 630 160 475 95 280 56 200 40 1,600 315
22 560 150 425 85 250 50 180 36 1,400 300
24 500 140 375 75 224 45 160 32 1,250 280
25 500 140 375 75 224 45 160 32 1,250 280
26 500 140 375 75 224 45 160 32 1,250 280
28 450 125 335 65 200 40 140 28 1,120 265
30 450 125 335 65 200 40 140 28 1,120 265
n g 32 400 120 300 60 180 36 125 5 1,000 236
= 35 355 105 265 53 160 32 112 22 900 224
36 355 105 265 53 160 32 112 22 900 224
40 315 100 236 48 140 28 100 20 800 200
45 280 90 212 42 125 25 90 18 710 180
50 280 80 190 38 112 22 80 18 130 160

< 0] #= LY 2 FYZ0 1/2 D, LB 49 Hglo] 1/4 DE 7|&22 of0] ZotA& LI
20~50% 301 FLICH,

@mﬂv 146



(0|HZ= 50-75kgf/mr)

, FE(AHE)
O ===
(mm/rev)

3 5,300 250 4,000 190 2,650 95 1,600 45 18,000 800
4 3,750 300 2,800 224 1,900 106 1,120 53 12,500 900
5 3,000 335 2,240 250 1,500 118 900 60 10,000 1,000
6 2,650 355 2,000 265 1,320 125 800 63 9,000 1,000
8 1,900 425 1,400 315 950 150 560 75 6,300 1,180
10 1,500 475 1,120 355 750 170 450 85 5,000 1,250
12 1,180 450 900 330 600 160 355 85 4,000 1,180
14 1,060 425 800 315 530 160 il 90 3,550 1,120
16 950 400 710 300 475 160 280 90 3.150 1,060
18 850 400 630 280 425 150 250 90 2.800 1,060
20 750 375 560 250 375 150 200 80 2,500 1,000
22 670 355 500 224 335 132 180 71 2,000 850
24 600 335 450 200 300 118 160 63 1,800 800
25 600 335 450 200 300 118 160 63 1,800 800
26 600 335 450 200 300 118 160 63 1,800 800
28 530 300 400 180 265 106 140 56 1,600 750
30 530 300 400 180 265 106 140 56 1,600 750
32 475 260 355 160 236 95 125 50 1,250 670
35 425 250 315 140 212 85 112 45 1,250 630 E
36 425 250 415 140 212 85 112 45 1,250 630 >
40 375 236 280 125 190 75 100 40 1,120 530
45 335 250 250 140 170 85 90 45 1,000 630
50 300 240 224 125 150 75 80 40 900 560

0] #= LY 49 HY0((0.1D) X BYE(1.5D)5 71ELE Aol U&UC
L2 0IEEEE 1/282 HEUCH

(3Hf ~ 1 BHIE L

147 www.iwidin.com



viva

AN
AL

(m/min)

2 <70 12-20 0.07 0.09 0.13 0.16 0.20 0.25 0.30 0.35 0 15-45
70-100 10-15 0.05 | 0.08 0.13 0.15 0.21 0.26 0.28 0.30 0 15-45
AL 100-150 6-12 005 | 008 @ 013 | 015 | 0.21 026 | 028 | 0.30 0 15-45
== <220HB 8-15 0.10 0.12 0.17 0.20 0.30 0.40 0.45 0.50 0(5) 15-45
>220HB 6-10 0.07 0.10 0.14 | 0.18 0.26 0.32 0.36 0.40 0(5) 15-45
INH=E <220HB 6-12 007 | 010 014 | 018 | 026 # 032 | 036 | 0.40 0 15-45
= 60-80HB 15-20 012 | 015 018 | 022 | 030 H 035 | 037 | 0.40 5 45
=i, 50-120HB | 10-15 0.12 0.15 0.18 0.22 0.30 0.35 0.37 0.40 9 15-45
gs5F= 60-100HB 8-15 0.12 0.15 0.18 0.22 0.30 0.35 0.37 0.40 5 15-45
Y2022 | 90-120HB | 20-30 0.15 | 0.18 0.23 0.28 0.35 0.45 0.50 | 0.50 8 30
mm

2lo|o{of =iz | 2oiQ

0.8-1.2 0.05

1.2-1.6 0.10

1.6-3.0 0.15

3.0-6.0 0.20

6.0-18.0 0.30

18.0-30.0 0.40

30.0-100.0 0.50

2|0 A{HA| FoAret
- 20|01 Wj 2{S|HEHK| 0iHAIR.

ol njt o X XMols | AU

*EES H0[2/H WO HMAEZ 053 3| 512 BUCH

of) 10mmcHst 0.05mm H=

Q!mmn 148



ZELAZE
(S20-400)
SCM, FCD
FARA AR

=1
6-9m/min 6-11m/min

M3 850-1,380 740-1,270 640-960 320-530 420-740 640-1,170 1,060-1,590
M4 640-1,040 560-960 480-720 230-400 320-560 480-880 800-1,190
M5 510-830 450-760 380-570 190-320 260-450 380-700 640-960
M6 420-690 370-640 320-480 160-270 210-370 320-580 530-800
M8 320-520 280-480 240-360 120-200 160-280 240-440 400-600
M10 260-410 230-380 190-290 95-160 130-220 190-350 320-480
M12 210-350 190-320 160-240 80-130 110-190 160-590 270-400
M16 160-260 140-240 120-180 60-99 80-140 120-220 200-300
M20 130-210 110-190 95-140 40-80 64-110 90-180 160-240
M24 110-170 93-160 80-120 40-66 53-93 80-150 130-200
M30 85-140 74-130 64-95 32-53 42-74 64-120 110-160
M33 77-130 68-120 58-87 29-48 39-68 58-110 96-150
M36 71-120 62-110 53-80 27-44 35-62 53-97 88-130
M39 65-110 57-98 49-73 24-11 33-57 49-90 82-120
M48 53-86 46-80 40-60 20-33 27-46 40-73 66-99
M52 50-80 43-73 37-55 18-31 24-43 37-67 61-92

« SKH = & 7= ct,

=) IlEﬁHé!)\IR

CEASE MEI O MRS
EH

| —
Bo] HALE 8l BjRi4E

EHAMRH Q| AE
202 9 HO| ADA| AL

(i

, B2, LIS Hol, mAel A,

149 www.iwidin.com

viva




TWIST DRILLS| TROUBLE CHZH

TROUBLE

Aol Chipping

o (e} ‘
[

r

eIMof of2lgt
0221 Thinnings2| 0|

TE

Honing & Z(€£& Honing&g 27 & %)
Tip X2 HA Q10| 2 ZHeZ RS =

oll2/gt - o ooy 5
Thinning 2t2 EolAl & A
MAAC 2 L 7
INAET} LD &S s
HARE BT

BAZtg B7K307)
HASEE F0Iot
Coating, Cermet
HEAE

AR AL
ZEZHPoint Angle)S ¥4
st Tip MEsS 4%

HALAHOIM T

viva

Guide Bush Al
EHMAHOAM 0182 & A

JtEE 2HE dsoil g A

7|A= Horek A
Thinning Type H&A

IEES O

Drill 70l 2I01M U=z

Guide Bush A2 2 Guide ClearanceZ 27| & A
Drille 4y A A

Drill M2 Mef As6HA st #AH80] 22
Thinning Type2& B

Chipo| gt&l

Step Feeding & A
Ol RE A

HARE ABE

7|Et

Drill Chucking 0| =2
Drilldel Back TaperZ} gie

Chuckings ¥sstA & A
MHOE AP (R XD S =85 A

@mm 150



REAMER2| TROUBLE CHZ

TROUBLE | 2 9l
AALE 70| XK
agpze gy | DAEES THE
SteHako| Tl === J—I' H
sicizrol afch R
&4 nich

EMEEE SR

OIEEEE HED

71A14e] 2H)

IIA™=S £
mjAfxieIClamp 24 BE&
37 Holder &Fo| £xig

SpindleQ| XI5, Bush Clearance, Spindlezt
BushQ| Elments2 48

Clamp2| Z&& =2Ict.

Guide Bush7t 8l= @<= Quick Change Holder
AFEE TlBict,

37 =H|
Heloj 2ol =,

i

del =5 et
2|

=
THHAA| 25 2IEHA(SS] Tip 2059 £4)

Siarol 4 Setting =7t 22 SettingAl 218 Runoutd= &4(Shank®e| 58 5)
Strizkel uth 20| £2240| Djrf TR XAZ0|E Bt
de= = 370 2ol 2= 20| PHE S YO HipICt
==L
EiS) =o _ = = =
o| =2 AL 0| 2R 3|4 HiE2 &2l et (TlotAl Bttt 10~208)
HoleO| =3 =TT T SEMO| =2 SHIE AR
-|C->|—I‘I| A‘IX‘|0| [ S]=n T=0 T TTAE S
o 1o SlL=
= . St Adl = M BARE WBkeiC
FAel Hat, Fujjof oJgt 450 KXot i o - S01S 115
oxmoato| Bx SR A Chipel MA EtgAel =S THetct
TeseTT a2 Sioln SA0l f& HAL =st=& A
T|AtRH | 2| MHZS 37| St
Eel MEZIS 2| B
QAo 2 OlE&8EE REL
AR 7{0| HXX]
19| 2xH i olaacE wEr
Ol&4E w2 215t Chisel® Z& oo T
0|A2E TTHZ I3t Chip T3] 2ty slH-E HED
B st i L B4 TIp2IFS 2/0/2T Chip] 21l
S|xi4 ni2 It MAR FE BX
o
xhetate| 2x =
Thinninge X0l 2|8t Chisel®
e ZEof Kot ot QI AAS BTk
= =l

THOAAIS =40 ZiXHoll 2fet Burnishing
Torque® Bt EE Tipd F59| 2

H71ASe 22|
A Clampifs 7HM

Rnll

o= Tx

151

www.iwidin.com



BURNISHING DRILLE| TROUBLE CH*H

TROUBLE | ol

Burnishing &1t5 3AIsiCt

ch

Chamfer Z+& ZHAIBICE

Margin 22 3ASiCEH

Back TaperZ X7gict,

2Ct ChamferZ Hofgict,

Reamer Dia. 2| MZ0{EE Check oiCt,

Hole2| &ty Buit—up edge 2SS ARSI

Margin 2& ZAAIZICEH
2%t Chamtferg H0fsict
T|AITHO| BX2] =7

|

TAAEE 0]

HAtZ9l Un—balanceZ &9IC}

Cutting edge?| &= 5/1000 O|Li= SiCt.
HAMAAES =0t

Spindlet 7|=49| AlignmentS &°QIct,
Bush@l OtZMEIE HA walstrt,

484 BAROIN B4B40E W)

=2T3HCE )

Holeo| &4 Finish 21 &

ol
k!
@
o

Cutting edge 9| ({g2ts ISt
Margin &2 &QICt.

Back Tapers 3|/t
EALCE QI

=T S5t Chatteringg &9ICt,

7170|288 wolct

o o= IT L
Bush 8XtE &QIct.
Left Helix Reamerz HZSICt
Margin =& 378iCt
Back Tapergs 3AS!Ct,
HMETE SO
0l&2 IAIBY

viva

BurnishingS 3 AISiCt

Left Helix ReamerZ HZSICt
Chamfer & MAISiCE
2t Chamferz SHofsict

oo
]
1o
g0

o
in]

Rake angleg 3AIsiCt,
MAAEZ =o|r}

FeedE &0ICt

ChatteringS QifCt

Cutting edge 2| A= 5/1000 O|Li= BiCt.

=
EALES =QICH

Spindle T 7|=Z°| AlignmentS W&ECH
224 HMRUN E4-EH22 Dbt

Chip9J

|'\.l
|I>
rulo

MBI,

Flute TypeZ et
Flute ZO|E AABICY,

@lDIN



ENDMILLS| TROUBLE CHZH

TROUBLE

Tool Ok

I

=l
i
[~
o

|:|-| XH
olsaks 2¢ A
SEUS 32U A
T UR0| 2012 ABIOR B B A

olsEs 2 A

Tool2 =7(0 weHol=gr X&)
Chuckt Colletg et
=82 &4
HA0|| HoningS AAl

H7F A2 Endmillg AE(4d—24)

&

Coner29| o

XY

Hand lapper2 Chamferg &
Down Cutg Up Cut2 H3g

Down Cutg Up Cutz g

A
HALCE FY 2

QlMof Honing2 & A

AN
HMLEE 501

{9 Soil ) A27F F H0l= 0l5eE =2 A

fial

nchst Chipping

471 XS Endmillg Al2(4g—2Y)
QIMof Honingg & A
(Solid Endmille] 4<)
AL ZE Z2U A
HAXIAS SARIHo R #HY
(Brazed Endmillel 4<)

BARIIS AIrS B0 Ao #Y

viva

EMAEE ZU A
Up CutZ Down Cut2 #HZg

OlBEE 57t

LA HE 8=

7t B2 EndmillE AR (2E€—4%)

Built—up edge)0
i

BAACE T2
EARAOE Ag

OIM0i| OJMIE HoningZs & A
Up Cut& Down Cutz A

22 #2470t
Pat=)

QlM0ll OIMISt HoningS & A
=28 ZARE B A

Down CutE Up Cutz g

Chattering &

OlEEEE SIHE A

TAISEE HY

==Y &Y A

SAMXIAAOE 2D Endmill, HARAO
Endmill2 A2

Down Cut2 Up Cutz2 #H4

rr

44

153 www.iwidin.com



40| TROUBLE CHA

s

IR U HE

o7 =W S| _ 71X|xH§
sz ey | JEOSIITE BASES W BTt gaE
S| LHOZ2 A0 | =2 TE=EETm= - KEbSh 0| &S EE ARSI}
7174 otz Hotz o] &L oIt o Bic] REHSE 0|84 E S AFRBICH CeRmET
MBS Masict S HASH HAIRHIZ AFBEICH
© | 3de ®Asi : CLASS
=Y KRR FAATZ S| SiCt
S == ©Z7+ HXO|ZF O|MHIZAZS == esvlll 12550 HAEITHZ
@x oip lmoNo go | HEd SEUH QIS o Loy, 2
MES MEsict RERE HAISE AIBSILH (ABIISHHE)
QALY FMAACZ LHA| &
e H22Ao| &2 ZAztS 3 052 S Bit,
o MES MEsit SEH0| £2 HASHES ARSI
ol X A Aozke A&t 2sto] EALATE Zo|r} NiA| LH%‘E_E-"
or== oE7:”E HE—FI: x| & EO MAISH 200 Tt= me . 74 LHSE
E=) Lo 2N MBS M), 0|AS =JIAIZIC] CoZl lige=3
Sol ol H22AM0| =2 SxoI121S 37 BicH &S S7HAIZICH XElRA
= MBS MEsict oAt XS HAIRES AIBSIC By
© | 342 At D2
ARG E | Bict,
i Mzial Mol JiEse _ 0|42 UA st}
semoe RS EE lgoas o me s e, | ORTAASE o P
it Z1Al i S0t xio
- SHiE Algsi
o =2 (25} |o|AMEO|ZF O|AHIZ40 AL S U St
- TN TYES AIREH | Q1MBzt oluiAOl O1AS b Sirt .
=== ot gl e gyom pict. | S Te R0 T e
o
= "1— [uid .
_ o7t ZAAZE OlMHIAS _
T semo se sag | TG0 S TOHER anae o, gug o 25 ROLL
ax meild = [y = o o = S5
cue At Fmot sus mysr |92 BIVHES SNE A8t
OINEQ|ZIS K| BiC| _ _
= QIMO| =2 MBS a;;‘;‘;j;e o 8||‘|: ' HASEE M| Mt SN
x|c> AI__Q_gH:r cic o= 3-7'” = |' Ol_/tg |__|.7_” 3H:|’ =l
ANZES A5t 0|48 WA st
o = oNF==E AT o= X el I olH
=az UorRgol 22 M | 51101s S5 it HolrS xby| Bt Atz
=-lo o )\I'Q'SHZI' === e, =sdoc= 77l . 74;§XH§
= 42 A HARES AREICH (ARIISHE) e
X HEE FAAC 2 XK S| MEISH]
o LRI oigo) e me | ool oty SRR ot
b= oft = S U 082 W Bict Q=
= ER IV ATt 23 =R HolrS Hxis| Bt
- — = N
o olo| e nime | R, oltuizol INSE, 0I&2 L Sict
S Nesicr o |2ulolxe syom it | Helus A sirt iz
B == 542 = gict ZAzEAoR Bict
OLMERQIZE OlMHIA Ol HALE 0142 W it I
ox Za Lotz 0| 2 AIo| XS FNO= BTt | HUYS HA Bict, e
MES ARSI, | 5YS 2t REBE HARES AIBSICH =
_ Nz LZera
oiat 010l o nimg | BAIE A st HAREE EOICt Cor| Hietara
B> LoVl T o= o|MHIHAS i olaS =71A17IC) El=l=]
S| e ittt oINS 3 Bict 0i8E BRI e
o |0 SE s4g 34 sict RENO| =2 HASHE ARSI B
= o o
. Lot Ao| B2 097, HAZIS MEs| Bict. | BAKES LB
= L | MHES ARt FEQIZIS | B}, 0l&2 S Bict. 2u=
AN HZ A _ = = _
FOES ST Nule iES BEg | oNuES T it RS MRS ARSICH itz
sict. 542 = sict. Hatalof= AR x| SH=ct,
TGS MFF| it )
At om0l wo pime | CIOOIRE 250 =g HASEE S| Sict,
- 10| =2 Mi5E SHEC) 0|48 w7 st IEIVE]
ZE0f ofst B | AFREICH ESivIE - oo e ==
oLl That Ao siol2rg & Bict.
Folsict
olo| m aiEg | B2 430 SalblE
olAnAS gl Nesicr T |2y HALEES U Bict,
EEIES e RiEe e | SAE M=sl Bt 042 S Bict, iz
wajof olst g | o= o o | Rf0fRAl Meict Holzre x| Bict,
= AES ARSI}
oo=2 O .




Hise ST EQRT
EMNSE
v 314 XDXN (mm/rev) Vo EAEE (mm/min)
= . =P N
1000 N s Gpm
o &
S ~f : 0l& (mm/rev)
F= (mm/min) ©S 1 129 7k830] (mm/min)
N [EL (r.p.m)
-Md : BAEQ3 (kg/cm)
Md = Kd2 X (0.0631 + 1.686 X f) (kg/cm) : g "Eeéfwj (mm§'<9>
T = 57.95KDf0.85(kg) O (e
ST MEAS
At %ﬁf o HMEBAE(K)
PEESESS| 21 177 1.00
O|OH[O|EZE 28 198 1.39
elEsS) 35 224 1.88
10202 (EtAZ C 0.2%) 55 160 2.22
11122 (242 € 0.12, S0.2%) 62 183 1.42
13352 (Mn 1.75%) 63 197 1.45
31154 (Ni 1.25, Cr 0.6, Mn0.5) 53 163 1.56
31202 (Ni 1.25, Cr 0.6, Mn0.7) 69 174 2.02
31404 88 241 2.32
41152 (Cr0.5, Mo 0.11, Mn 0.8) 63 167 1.62
4130 (Cr0.95, Mo 0.2, Mn 0.5) 77 229 2.10
4140 (Cr 0.95, Mo 0.2, Mn 0.85) 94 269 2.41
46152 (Ni 1.8, Mo 0.25, Mn0.5) 75 212 212
48207 (Ni 3.5, Mo 0.25, Mn 0.6) 140 390 3.44
51502 (Cr 0.8, Mn 0.8) 95 277 2.46
61152 (Cr 0.6, Mn 0.6, V 0.12) 58 174 2.08
61204 (Cr0.8, Mn 0.8, V 0.1) 80 255 2.22
61304 79 260 2.20

155 www.iwidin.com

viva




= 1 =<
AL
3. 14 XD XN SV BASE (mm/min)
V= (mm/rev) <D EZIEE (mm)
1000 “N & (rop.m)
o &
F=fXZXN (mm/min) - F : Table3|®4: (mm/min)
-8 YH0l& (mm/tooth)
S ] -7 |_+_/'\_
f= N (mm/min) "N 3L (r.p.m)
2254
S
W = (km) W AREE (Kw)
60 X102 X n “Hp : A201
W - Q : BIEE (ecm3/min)
0.75 -F 1 Table3/®™4= (mm/min)
~d - BAZOl (mm)
0 LXfXVXLXZ DXfXVXLXZ “Ks o HIEAKE (kg/mm?2)
= 1000 = 314XD ‘n:7IA&& (0.5 -0.75)

viva

A 52 220 195 182 170 158
=Y 62 198 180 173 160 157
FAFA} 72 252 220 204 185 174
3L 67 198 180 173 170 160
37 77 203 180 175 170 158
gLz 77 230 200 188 175 166
g7 63 275 230 206 180 178
AES|=2HIY 73 254 225 214 200 180
s =EHY 60 218 200 186 180 167
LAIESEHY 94 200 180 168 160 150
LAIESEHY HB 352 210 180 176 170 153
=4 52 280 250 232 220 204
PaESEaES) HRC 46 300 270 250 240 220
o[ofLto|EZE 36 218 200 175 160 147
ElRees HB 200 175 140 124 105 97
as 50 115 95 80 70 63
AE2(AI-Mg) 16 58 48 40 35 32
4EZ(AI-Si) 20 70 60 45 39

@mﬂv 156




EMNSE
314 XDXN _
V= (mm/min)
1000 N 1 3L (r.p.m)
1 3|40l HASEE Fote 82 SV EMAE (mm/min)
<D 1 7KEE 24 (mm)
1000 XV
N=
3.14 XD
M EQT B EFAE
W 3T (Kw)
W Q X ks DXfXdXks Q : Chip2l #A (cm)
= = SV "ASE (mm/min)
60X 102 Xn 60 X 102 Xn f: 0% (mm/rev)
d @ ZAI0| (mm)
Hp = W ‘Nt IEE (0.5 - 0.85)
0.75 “Hp : A0
- Ks o IAXY HIEANE (kg/cm)

ALY 52 361 310 272 250 228
Era) 62 308 270 257 245 230
ad 72 450 360 325 295 264
37 67 304 280 263 250 240
37 77 315 285 262 245 234
AL 77 383 325 290 265 240
g7k 63 451 390 324 290 263
AgS2=HY 73 340 390 340 315 285
AEZ|=2HY 60 361 320 288 270 250
LaaEs2=ed 94 307 265 235 220 198
La3Esz=ey HB 352 331 290 258 240 220
PaESEaES HRC 46 319 280 260 245 227
O[OfLtO|EH 36 230 193 173 160 145
sl=H HB 200 211 180 160 140 133

A K3

P=AXKs A=dXf

CA T EAHE () CA T EAHE ()

P EAKE (kg) -d - =AMO| (kg)

Ot

0l& (kg/mm/rev)

157 www.iwidin.com

viva




viva

H5iEc

=

VL
()

M EZLIAHmm)

mm

L HOILAUNC)

mm

SAXLE | 12 2= 3= saxmx | 38 | 2B 1B
M2X0.4 1.65 1.65 NO. 1-64 UNC 1.57 1.75
M2.2X0.45 1.81 1.83 NO. 2-56 UNC 1.86 1.86
M2.5X0.45 2.11 2.13 NO. 3-48 UNC 2.14 2.14
M3X0.5 2.57 2.59 2.62 NO. 4-40 UNC 2.36 2.36
M3.5X0.5 2.95 3.01 3.05 NO. 5-40 UNC 2.69 2.69
M4X0.7 3.36 3.39 3.43 NO. 6-32 UNC 286 2.86
M4.5X0.75 3.81 3.85 3.89 NO. 8-32 UNC 352 352
M&5X0.8 4.25 4.31 4.35 NO. 10-24 UNC 3.91 3.91
M6X1.0 5.08 513 519 NO. 12-24 UNC 451 457
M7X1.0 6.08 6.13 6.19 1/4-20 UNC 5.25 5.25 5.25
M8X1.25 6.85 6.85 6.92 5/16-18 UNC 6.64 6.72 6.72
M8X1.25 7.85 /.85 1.92 3/8-16 UNC 8.06 8.15 8.15
M10X1.5 8.45 8.62 8.70 7/16-14 UNC 9.40 9.50 9.50
MT1X1.5 9.54 962 9.70 1/2-13 UNC 10.8 11.0 1.0
M12X1.75 103 104 105 9/16-12 UNC 12.3 12.3 12.3
M14X2.0 12.1 12.2 12.3
5/8-24 UNC 136 13.8 13.8
M16X2.0 14.1 142 14.3
M18X2 5 6 e g 3/4-11 UNC 16.6 16.8 16.8
7/8-10 UNC 195 19.6 19.6
M20X2.5 17.6 17.7 17.8 3 UNG 3 ot ot
M22X2.5 19.6 19.7 19.8 : : :
M2AX3.0 IR 212 219 1 1/8-8 UNC 25.0 25.2 25.2
MZ7X3 0 1 722 722 1 1/4-7 UNC 282 28.4 28.4
M30X3.5 296 26.6 26.8 1 3/8-7UNC 30.8 31.0 31.0
2-5 UNC 453 453 453
Miiﬁﬁ 33; 33; 3?3 2 1/4-4 1/2UNC| 517 517 517
M45X4.5 40.6 40.6 40.9 2 1/2-4 1/2 UNC 57.3 57.3 57.3
M48X5.0 43.1 43.1 43.4 2 3/4-4 UNC 63.7 63.7 63.7
M52X5.0 471 471 47.4 3-4 UNC 70.0 70.0 70.0
MB56X5.5 50.6 50.6 50.9 3 1/4-4UNC 76.4 76.4 76.4
M60X5.5 54.6 54.6 54.9 3 1/2-4UNC 82.7 827 82.7
M64X6.0 57.8 57.2 58.5 3 3/4-4UNC 89.1 89.1 89.1
M68X6.0 61.8 61.2 62.5 4-4 UNC 95.4 95.4 95.1
HELIAL
SYXA | PF | 20DMEA | ZOENEA | PF NPTF
1/6-28 6.79 6.11 6.23 6.49 o | 2o | NPS| 2o | aojsf |NPSF
1/8-28 8.80 8.11 8.24 8.50 NEAl | EAEAl NEA | SAEAl
1/4-19 11.8 10.8 10.9 11.3 1/6-27 6.10 | 625 635| 594 | 6.15 | 625
1/8-19 15.3 14.2 14.2 14.9 1/8-27 833 | 843 874 | 833 | 843 | 825
1/2-14 19.1 17.7 18.0 18.5 1/4-18 10.72 | 11.11 1113|1072 | 11.11 | 11.11
5/8-14 21.1 3/8-18 14.29 | 1429 |1468 1429 | 14.29 | 1468
3/4-14 24.6 23.1 23.3 24.0 1/2-14 17.46 | 17.86 |18.26 17.46 | 17.86 |17.86
7/8-14 283 3/4-14 2262 | 22.02 |2242| 22.62 | 23.02 |23.42
1-11 309 29.1 29.4 31.1 1-11 1/2 | 28.58 | 28.97 |29.36| 38.58 | 28.97 2937
1 1/8-1 355 11/4111/2 | 37.31 | 37.70 3810 37.31 | 37.70
1.1/4-1 395 375 38.0 38.8 11211172 | 43.66 | 44.05 |44.45 43.26 @ 43.66
1 1/2-1 454 43.4 438 445 2-11 1/2 | 5556 | 55.96 |56.36 55.17 | 55.56
1 3/4-1 51.4 2 1/28 | 65.88 | 66.68 |67.45 65.48 | 66.28
2-11 57.2 54.9 55.4 56.5
2 1/4-1 63.3 72.0
2 1/2-1 72.8 70.2 70.7 84.7

@lpm 158



DING9893-1, ISO 12164-1 : 2001

e 8% : Machining Center & e 8L : Machining Center, H2aal MHI2

° HlojM ZRF2| =210l 7|E0| o8t EITE * Coolant tube0i| 2|3t Flange through coolant EE= Through cc
° ATCE UZE 27H, YIXIZNE x| * Flange 22| UZ0i 2|8t Torque™Zt o AXBFELX|

¢ Application : For Machninig Centers. ¢ Application : For Machining centers, milling machines lathes
¢ Torque transmission with drive keys on the taper. ¢ Flange through coolant feed or through coolant feed by coo
¢ 2U—grooves for ATC, Positioning notch. * Torque transmission by U—groove on the flange.

¢ Positioning notch

* 2 : ATC7} 4= Transfer Line, 27|, o 2 : ATC7} SlE Transfer Line, F&7|.

Ho|m E822| E2lo|2 7|E0 oSt EITE - 2 24X 28 * Flange Through Coolant.
* Flange 2| UE0| 2|8t TorqueXE

* Application : Transfer lines and special purpose machines without ATC.

* Torque transmission with drive keys on the taper.

¢ Application : Transfer lines and special purpose machines wit
¢ Large flange diameter. * Flange through coolant feed.
* Torque transmission by U—groove on the flange.

Sajols 7] £0| gl 2 thE S,

* Application : High speed machining centers and wood milling r

Application : High speed machining centers and wood milling machines. « Large flange diameter

Torgue transmission by friction.
Complete symmetrical shape without drive keys.

159

vivda



viva

HSK Shank DIN 69893-1, ISO 12164-1 : 2001

2 D2
2D
@ D3

N

L1

L3

B2

B1

B3
-~

HSK 40A 40 30 45.00 34 5.0 46 20 20 4.0 35 16
HSK 50A 50 38 59.30 42 6.8 6.0 25 26 5.0 42 18
HSK 63A 63 48 72.30 53 8.4 7.5 32 26 6.3 42 18
HSK 100A 100 75 109.75 85 12.0 12.0 50 29 10.0 45 20

HSK 40A 21 255 23 8.05 11 9 17.0 12.0 M12 1.0
HSK 50A 26 32.0 29 10.54 14 12 21.0 1515 M16 1.0
HSK 63A 34 40.0 37 12.54 18 16 26.5 20.0 M18 1.0
HSK 100A 58 63.0 58 20.02 22 20 44.0 BIEs M24 1.5

@mﬂv 160



Bottle Grip Taper MAS403-BT

2D

9 D2

A
BT30 46 31.75 38 12.5 48.4 13.6 13.6 20 2 16.1 | M12 1.75
BT40 63 44.45 53 17 65.4 16.6 16.6 25 2 16.1 | M16 2
BT50 100 69.85 85 25 101.8 | 232 232 35 3 257 | M24 3
BT60 155 | 107.95 | 135 31 161.8 | 28.2 28.2 45 3 25.7 | M30 3.5

DIN 69871-1 A/B, 7388/1 : 1983(E)

SK30 50 31.75 | 443 45 13 47.8 16.4 19 15 16.1 | M12 1.75
SK40 63.55 | 44.45 | 56.25 50 17 68.4 22.8 25 18.5 16.1 | M16 2.0
SK50 975 | 69.85 | 91.25 80 25 101.75 | 355 37.7 30 25.7 | M24 3.0

161 www.iwidin.com

viva




viva

CAT Shank (ANSI/ASME B5.50-1985

CAT30 50 31.75 443 31.75 13 47625 | 16.25 18.67 16.1 UNC1/2-13
CAT40 63.55 | 44.45 56.25 | 44.45 17 68.25 | 22.60 25 16.1 UNC5/8-11
CAT50 97.5 69.85 | 91.25 70.1 25 101.6 353 37.7 257 | UNC1-18
CAT60 155 107.95 | 135.26 32 161.8 | 161.93 54 59.3 25.7 | UNC C1,1/4-7

DIN 2080, JIS B 6101, ISO 297 : 1988(E)

L2 ‘ L2

Ls

L

NT30 46 31.75 17.4 68.4 48.4 16.2 10 1.6 16.1 1/2-13UNC
NT40 63 44.45 258 93.4 65.4 225 10 1.6 16.1 UNC5/8-11
NT50 100 69.85 39.6 126.8 | 101.8 353 12 3.2 25.7 | UNC1-18
NT60 155 | 107.85 | 60.2 206.8 | 161.8 60 15 3.2 25.7 | UNCC1,1/4-7

@mﬂv 162



Morse Taper - Screw type

@ D1

TAPER

TAPER ‘TAPER‘ e T

MTO  [1/19.212/1°2927" 9045 3 | 9201 6442 5 53 | 64 - - 4 02
MT1  |1/20047 1°2543"| 12.065 35 | 12.065| 939 535 57 | 94 | M6 | 16 5 | 02
MT2  |1/20020 12550 17.780 | 5 | 17.780 14583 6 69 | 146 MI0 | 24 5 | 02
MT3  |1/19922 1°26'16"| 23825 5 | 23.825]19.759 8 86 | 198  MI12 | 28 7 0.6
MT4 |1/19254 129'15"| 31.267 65 |31.267 25943 1025 109 | 259 | MI16 32 9 1
MT5  |1/19002 1°30'26"| 44399 65 |44.399|37.584 1295 136 | 376 | M20 | 40 9 | 25
MT6  |1/19.180 12936”63348 8 | 63348 53859 18 | 190 539 | M24 50 12 4
MT7  [1/19231 12922"| 83058 10 | 83.058|70.058 25 | 260 | 700 | M33 | 80 | 185 | 5

List of Taper Morse Taper Tang type

[

8°18

@ d2

TAPER

2 D1

TAPER ‘TAPER‘ANGLE R

MTO  |1/192121°2927"| 9045 | 3 9201 6.104 565 595 | 60 | 39 | 65 105 4 1
MT1  |1/20047 1°2543"| 12065 3.5 |12.065 8972 | 62.0 | 655 87 | 52 | 85 | 135 | 5 | 12
MT2  |1/20020 1°2550"| 17.780 | 5 |17.780/14.034 750 800 | 135 | 63 | 10 | 1 6 16
MT3  |1/19922 1°26'16"| 23825 | 5 |23.825/19.107) 940 | 990 | 185 | 79 | 13 | 2 7 2
MT4 |1/19.254 129'15"| 31267 | 6.5 |31.267/25.164 117.5 1240 245 119 16 | 2 8 | 25
MT5  |1/19.002 1°30'26"| 44399 | 6.5 |44.399/36.531 1495 1560 357 | 159 | 19 | 2 1 3
MT6  |1/19.180 1°29'36" | 63348 8 |63.348/52.399 210.0 2180 510 190 27 | 4 1 4
MT7  |1/19231 1°2922" | 83058 | 10 |83.058/68.186 286.0 296.0 668 286 35 | 5 1 5

163 www.iwidin.com

viva




(F) fE (A& EESE)
A A YT ABIZ 172 (HES) (641-847)
TEL : 055-286-0905 FAX : 055-286-0978

(Z) $IEIE (WIDIN TEC CO.,LTD)
CHPRSAl AT AER 662 44(F2|S) (703-833)
TEL : 053-341-8909~10, 053-341-0989~90 FAX:(053-353-9809

A7t XJAF (WIDIN. INC.)
436 White Pine Rd, Buffalo Glove, IL 60089
TEL : 1-847-947-8320 FAX : 1-847-947-8322

2+510] X|AF (WIDIN(SHANGHAIJTRADE CO., LTD.)
B-901, No 400 Pudian Road, Pudong new district, Shanghai, China
TEL : 86-21-5831-8103 FAX :86-21-5831-8153

Wwa1SASISp|OH |001 duiyde

ivio

mm




